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REGUIREMENTS
A EQUIPMENT
PDP'Ié Fﬂﬂé#Y TANDARD COMPUTER WITH YKW OF MEMCRY

B 1 RSVRERONSLS M TPCECER

C¥:1 MAINTENANCE CARD INSTACLED
2.2 STORAGE

THE PROGRAM LOADS INTC 4KW OF MEMORY
3. LOADING PROCECURE

THE _STANDRRT PROCEDURE FOR LCRDING ABSOLUTE BINRRY TRPES
IS T0 BE USED

‘4. STRRTING PROCEDURE

4.1 CONTROL SWITCH SETTINGS

4.1.1 RFTER PROGRAM LORD (INITIAL PRIGRAM STRRT)
w.L CONSOLE SWITCHES DOWN

4.1.2 TOQ_MODIFY DEVICE VECTOR AND CONTROL REGISTER ~UCRESSES
AFTER PROGRAM RESTART

SW00=!
4.1.3 70 STRRT PRCGRAM AT SELELTED TEST RFTER PRCGRAM RESTART
SW0l=l
4.2 STARTING RDDRESS
THE STRRTING ADDRESS FOR ALL TESTS IS (002200
THE RESTART RDDRESS FOR ALL TESTS I 0002000
THE STRRTING RDDRESS TJ ENTER A SELECTED TEST IS (20230
PROGRAM RND/OR OPERRTOR RCTION
INITIAL PROGRAM START
1 LORD PROGRAM INTO MEMORY
2 LOAD ADDRESS 000200
3 CkEﬂR CONSOLE SWITCHES
4 PRESS START
S THt PROGR&M WILL TYPE “DH1l CHRRACTER LENGTH RAND BmSIC DRTR TEST™

AND WILL THEN TYPE “VECTOR RODRESS-" AND WRIT FCR RN
INPUT FROM THE TELETYFE AEYBCRRC.
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SIDuEE . PFS
115
138 4.3 .CONT'D
I
1.8 4.3.1.6 TYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTCR
;ég FOR THE CHI1 TO BE TESTED FO_LCWEG BY <CARRIAGE RESLPN
ig1 NITE:  WORDS IN ANGLE SRACKETS, I.E. CARRIAGE RETLRN, MEAN "HAT
122 THE TELETYPE KEY WITH THE NAMED FUNCTION SHOJLD 3E STRLZK
i IF AN INCORRECT RDDRESS [3 ENTERED, THE PROGRAM
-1 WILL TYP nno WILL REPEAT THE SECONC MESSASE OF 4.3.1
i€ 4.3.1.7 THE PROGRAM WILL TYPE "CONTROL REGISTER ADDRECE-"
iz AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
Py -4

4.3.1.8 TYPE IN THE ACDRESS OF THE SrSTEM CONTROL REGISTER CF TWE
DHII TC BE TESTED FCLLOWED BY <CARRIAGE RETURN

IF AN INCORRECT ADDRESS IS TYPED, THE PROGRAM HILL TYPE
woe OND WILL THEN REPEAT THE MESSAGE GF 4.3.1.7

AND WILL START TESTING AT THE SELECTED TEST.

NOTE:  CARE MUST BE TRKEN WHEN THS FERTURE IS USED., SINCE
THERE IS NO PROTECTION AGRINST SELECTING AN RDORESS THRT
IS IN THE MIDOLE OF A TEST

NOTE: F_IT IS DESIREC Tg %OOP oN_THE TE?T THRAT 1S SELECTED
NTERING THE TE

39
M

31

34 4.2.1.9 THE PROGRAM WILL TYFE "R™ TO INDICATE THAT IT IS

gg ABOUT TO START TESTING, AND THEN TESTING WILL BESIN

gz 4.3.2 PROGRAM RESTART WITH ALL SWITCHES DOWN

39 4.3.2.] PERFORM 4.3.1.2 TC 4.3.1.5

43 ~.3.2.2 THE PROGRAM WILL TYPE “DHI] CHARACTER LEN”YH AND BASI: DATA TEST
35 AND WILL THEN CENTINUE AS DESCRISED IN 4.2.1.9

33 4.3.3 PROGRAM RESTART WITH SWOC=1

45 4.2.3.1 LORD ADDRESS 000200

46 4.3.2.2 SET SWdl=i

4? 4.3.3.3 PRESS START

:g 4.3.3.4 THE PROGRAM WILL FERFORM AS DESCRIBEC IN 4.3.1.5 70 4.3.1.3
gg 4.3.4 FROGRAM RESTART WITH SWOl=1

g2 4.3.4.1 LOAD ADDRESS 000200

€3 4.3.4.2 SET SW0l=]

S4 4.3.4.3 PRESS srnnr

g5 4.3.4.4 THE PROGRAM WILL TYPE “DH1l CHARACTER LENGTH ANC SRSIC DATR TES™
3 AND WILL THEN TYPE “TEST PC-* AN WILL WAIT FOR AN INPUT

€7 FROM THE TELETYPE KEYBOARD

Eg 4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE BROGRAM IS T2
€9 BE STARTED FOLLOWED BY <CARRIAGE RETURN>

E? 4.3.4.6 THE PROGRAM WILL TYPE R TO INDICRTE THAT IT HAS STARTED

£2

£3

£y

£<

33

£7

e
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ET SUl4=] BEFURE ROCRESS
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£
= . OPERATING PROCEDURE
22 5.1  OPERATIONAL SWITCH SETTINGS
-3 SW1S=1, HALT ON ERROR
Bt QH1d=1. LOgP ON CURRENT TEST
~E SW13=1, SUPPRESS ERROR TYPEOUT
, Sull=1, INHIBIT ITERATIONS
~g aiQ=l. ESCRPE 1O NEXT TEST ON ERROR
~5 W33=1, FREEZE VARIABLE PARAMETER IN CURRENT TEST
&2 SWCi=1. START PROGRAM AT SELECTED TEST
A SWOC=1, CMANGE PRRAMETERS AT PROGRAM RESTART
g§ §.2  SUBROUTINE ABSTRACTS
gg 5.2.1 TRAPCATCHER .LOCATIONS COOCOC-000776)
=
g7 HIS_ROUTINE_IS USED TO INTERCEPT UNEXPECTED INTERRJPTS
£a AND TRAPS. | THE RRER FROM 0CO0CC-000776 IS LOADED
3 WITH THE FOLLOWING SEG.ENCE
9: 2
5
4
0
e
0
778
C

IF AN UNEXPECTED INTERRUFT JR TRAP OCCURS. THE PROGRAM
WILL HALT WITH THE PC 2 SREATER THAN THE ADDRESS T0
WHICH THE PRCGRAM TRAPPED. THE PROCESSOR STACK MAY

BE EXAMINEDC TO DETERMINE WHERE THE PROGRAM WAS WHEN THE
TRAF OR INTERRUFT OCCURED.

S.2.2 START  (PROGRAM INITIALIZATION)

THIS ROUTINE INITIALIZES ALL PROGRAM FLAGS AND COUNTERS,
TYPES THE PROGRAM TITLE MESSAGE, AND INPUTS THE VECTOR
AND CONTROL REGISTER ADDRESSES OF THE DHIL TC SE TESTED.

S.2.3 BEGIN (PROGRAM START AND RESTART)

THIS ROUTINE IS ENTERED IMMEDIATLY AFTER “STAR™™
AND EACH TIME A PROGRAM PASS HAS BEEN COMPLETED.

THE ROUTINE SETS UP THE PROCESSOR STACK AND STATUS WORD
AND THEN TRANSFERS CONTROL TO THE TEST AT WHICH

TESTING WILL BEGIN. _IF SWO1=0 WHEN THIS RCUTINE IS ENTERD
TESTING WILL START AT TI1 (TEST 1). 1IF SWOl=l wWMEN

THIS ROUTINE IS ENTERED, TESTING WILL START AT THE PC
ENTERED FROM THE TELETYEE KEYBORRD.

RRECRIBBH SRR LDN
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AND UPDATES THE PASS COUNT. IF THE PROGRAM WAS LOADED
UNDER ACTI1 OR DDP, THE ROUTINE CHECKS FOR RETURN T)

THE ACTI1 OR DOP MONITOR. 1IF THE PROGRAM IS NJT UNCER
MONITOR CONTROL., THE ROUTINE TRANSFERS TO BEGIN.

SCCPER  (SCOPE LOOP AND ITERATION HANCLER!

THIS RIOUTINE IS ENTERED EACH TIME A TEST IS COMPLETED.

THE ROUTINE CHECKS FOR THE FOLLOWING UPON ENTRY

#) IF ShiG=1, THE RCUTINE WILL TRANSFER TO THE NEXT TEST
IN SEQUENCE, AFTER CLEARING ERROR FLAGE.

5, IF SWil=i, YHE RCLTINE WILL TRANSFER TO THE NEXT TEST
SEQUENCE, RFTER CLEARING ERROR FLAGS.

) IF SWi4=1, THE ROUTINE WILL LOOP ON THE CURRENT “EST
REGRRDLESS OF THE ITERATION COUNT.

IF NONE OF THE ABCVE IS TRUE, THE ROUTINE WILL ADD 1
TO THE COUNT OF TEST ITERATIONS, AND COMPARE THIS VALUE
T0 THE NUMBER OF ITERATIONS THAt SHOULD BE PERFORMED.
IF THESE NUMBERS ARE EQUAL, THE_ROUTINE WILL TRANSFER
T0 THE NEXT TEST IN SEQUENJE. THE THE NUMBERS ARE NOT
EJUAL, THE TEST CURRENTLY IN PROGRESS WILL BE REPEATED.

SCOFIR (FREEZE ON CURRENT DATH)

THE CALL 7Q THIS ROJTINE FCLLOWS IMMECIATLY AFTER THE
THE CRLL 7J THE ERRCR HANDLER IN THOSE TESTS THAT HAVE
VARIABLE PARAMETERS. THIS RQUTINE IS ALWAYS ENTERED IN
THOSE TESTS* WHETHER OR NOT AN ERROR OCCURS.

IF SWO3=1, THE ROJTINE WILL TRANSFER CONTROL BRCK TQ THE

* TEST AT A POINT WHICH WILL RLLOW REPEATING THE FUNCTICN

JNDER TEST CONTINUOUSLY WITH THE SAME DATA. IF THIS
JPTION 1S SELECTED, THE ROUTINE "SCOPER™ IS NEVER EMTERED
AND ITERATION CCUNTS WILL NJT BE LPDWTEC.
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ERRIRS (ERROR HANDLER)

THIS ROUTINE IS ENTERED UPON ERROR DETECTION ONL..
WITH ALL CONSOLE SWITCHES DOWN. THE ROUTINE PROCEDES AS FALLOWS:
R, THE PC OF THE INSTRUCTION THAT CALLED THE ERRCR =-{CLER

8)

C\

IS ACCESSED THRU THE STACK, AND THEN THE ©€MT INSTRUCTION
ITSELF 1S FETCHED. THE B (SB OF THE EMT

INSTRUCTION ARE THE ERROR CODE. THIS CCDE IS

USED TO ACCESS A TABLE OF ERROR MESSAGES ANC ERR-R

DATA STORAGE LOCATIONS.

IF THE TEST THAT FAILED DID NOT FAIL PREVICUSLY

DURING THIS PRSS, A COMPLETE ERRCR REPIRT 1S MADE

IF THE TEST THAT FAILED FAILED MOR THAT ONCE DURING

THE CURRENT PASS, ONLY THE DATA RELATING TO THE FAILUER
IS TYPED. 1IF SWi3=1, NO ERROR TYPEOUT IS MADE.

THE ROUTINE NOW CHECKS FOR HALT ON ERRCR. IF Ski3=1
THE PROGRAM WILL HALT WITH THE PC OF THE CALL T

THE ERROR ROUTINE IN RO. IF SWIS5=0, THE PROGRAM WILL
NOT HALT, BUT WILL CHECK FOR ESCAPE TO NEXT TEST.

IF SW10=0, TWE ROUTINE WILL RETURN

T0 THE TEST IN PROGRESS. IF SWi0=l, THE ROLTINE WIL.
ABGRT THE CURRENT TEST. ANC TRANSFER TO THE NEXT

TEST IN SEQUENCE, THRU'THE ROUTINE “SCOPER™.

TRPSRV  (TRAP DECODE AND DISPATCH)

THIS ROUTINE DSCODES THE 8 LSB OF THE TRAP_INSTRUCTION
THAT CAUSED TH PROGRAM INTERRUPT, AND TRANSFERS CONTRCL
TC THE ROUTINE THRU THE TABLE "TAPTAE™ JSING THE £ LS8
OF THE TRAP INSTRUCTICN RS RN OFFSET TO THE POINTER TC
THE ROUTINE T BE ENTEREL.
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PROGRAM AND OR OPERATOR ACTICH
PROGRAM START WITH ALL SWITCHES DOWN

REFER TC SECTIONS 4.3.1 AND 4.3.2 FOR INITIAL PROGRAM
SEHAVIOR.

AFTER “R™ HAS BEEN TYPED BY THE PROGRAM, TEST EXECUTICN
WILL BEGIN. EARCH TEST WILL SE REPERTED A SELECTED NUMSESR
OF ITERATIONS (SEE LISTING FCR EXACT NUMBER FOR EACH TEST)
AND THEN THE PROGRAM WILL PROCEED TO THE NEXT TEST.

WHEN ALL ITERATIONS MAVE BEEN COMPLETED, THE PROGRAM

WILL TYPE ~DZDHE™ AND THEN RESTART TESTING AT TEST |
(LOCATION T1 IN THE PROGRAM).

IF AN ERRCR OCCURS, THE PRCGRAM WILL TYPE AN APPROPRIATE
ERROR MESSAGE, AND THEN CONTINUE THE TEST IN PROGRESS.

PROGRAM START WITH SWOO=1

THE PROGRAM WILL PERFORM RS DESCRIBED IN 4.3.1 AND 5.3.1
PROGRAM STRRT WITH SuW0l=!

REFER TO SECTION 4.3.4 FCR INITIAL PROGRAM BEHAVIOFR

TEST EXECUTION WILL START AT THt ADDRESS SPECIFIED
AND WI.L CONTINUE AS DESCRIBED IN 5.3.1.2

AFTER “DZDHE™ HAS BEEN TYPED., THE PROGRAM WILL
RESUME TESTING AT TEST |

PROGRAM OPERATION WITH SW!1S=1

SAME RS S.3 EXCEPT THAT IN THE CASE OF AN ERROR,

THE PRCGRAM HiLL HALT AFTER THE ERROR TYPEQUT, RAND

THE PC+2 OF THE CALL TO THE ERROR ROUTINE WILL BE
DISPLAYED IN RO.

PROGRAM OPERATION WITH SW13=l

SAME RS 5.3.1 EXCEPT THAT .. ERFOR TYPEQUTS WILL OCCUR
FROGRAM OPERRTION WITH SWil=l

%ﬁfg RS 5.3.1 EXCEPT THAT EACH TEST WILL BE REPERTED INCE

PROGRAM OPERATICN WITH SW10=l
SAME RS 5.3 EXCEPT THRT IN THE CASE OF AN ERRCR

THE CURRENT TEST WILL BE ABORTED, AND THE PROSRAM
WILL PROCEEC TO THE NEXT TEST IN'SESUENCE.
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5.3.8

(CONT*D)
PROGRAM OPERATION WITH SWl4=1, CR SW09=l

THESE FUNCTIONS ARE NORMALLY USED FOR TRCUBLE SHOOTING.
SEE SECTION 6.3 FOR THEIR USE.

ERRORS
ERROR HALTS

THE ERROR MESSAGE FORMAT FOR ALL ERROR TYPEQUTS
IS RS FOLLOWS

PC+2 MESSAGE
HEADER (IF APPL

ICABLE)
DATA (IF APPLICABLE}
WHERE
PC+2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER + 2
MESSAGE IS AN RASCII MESSAGE DESCRIBING (BRIEFLY} THE FARILURE
HERDER IS A DESCRIPTION OF THE DATA TO FOLLOW
DATA IS OCTAL INFORMATICN RELARTING TQ THE CRUSE OF T £ FRILURE
IF THE SAME ERRCR QCCURS IN A GIVEN TEST ON THE SAM
FRSS, AND IF DATA IS ASSOCIATED WITH THAT ~<R0F. Ohot

OATA IS TYPE ON SUCCEEDING ERROR TYPEQUTS

IF NO DATA IS ASSOCIATED WITH THE ERROR
THE COMPLETE ERROR MESSAGE IS TYPED.

ERROR DESCRIPTIONS

SEE LISTING FOR DETARILS JF ERRORS
ERROR RECOVERY

SW15=0

IF THE PROGRAM IS RUN WITH SW1S=0, NO OPERATOT RCTION IS
SE?gITED TO CONTINUE TESTING

IF_THE PROGRAM IS RUN WITH SWiS=1, TJ CONTINUE TESTING
RFTER THE PROGRAM HAS HALTED, PRESS THE PROCESSOR
CONSOLE CONTINUE SWITCH

ILLEGAL INTERRUPTS

IF AN _INTERRUPT QCCURS TO A VECTOR ADDRESS NOT

SELECTED DURING PROGRAM INITIARLIZATION, THE PROGRAM WILL
HALT IN THE TRAPCATCHER, THE ADDRESS A} WHICH

THE PROGRGM HALTS IS 2 GRERTER THAN THE RDDRESS

TO WHICH THE INTERRUPT OCCURED. THE PROGRAM MUST 3E
RESTARTED AT 200 TO RECOVER FRCM ThIS ERRCK.
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3 SCOPE LOOPING
.3.1 TO_SCOPE ON A SPECIFIC TEST, SET SWi4=] AND SW13=l
THIS WILL CAUSE THE PROGRAM TO CONTINUOUSLY LOOP OM THE
SAME TEST, AND WILL CAUSE ALL ERROR TYPEOQUTS TO BE INHIBITEC
.3.2 TO_SCOPE ON A SPECIFIC VALUE OF A PQRQMETER WITHIN
A _TEST, SET SWO9=1 TO FREEZE THE DAT
(SEE LISTING FOR THOSE TESTS THAT IN’ORPORQTE THIS FEATURE)
(CONT'D)
.3.3 PROGRAM START 7C SCOPE LCOP ON SELECTED TEST

PERFORM SECTION 4.3.4 WITH SWi4=l

RESTRICTIONS

STARTING

THE DRIl TEST CARD MUST BF "NSTALLED

RUNNING

NONE

MISCELLANEQUS

EXECUTION TIME

TS LIS TR,08 £, g, R

IS GIVEN FOR VRRIOUS PROCESSCRS IN THE TRBLE BELCW

TIME
PROCESSOR

POF-11-05, 10
PDP-11/20
POP-11/40
PCP-11/45
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451
452
453
454
455
455
457
458
453
453
Sel
462
463
164
4E5
46E
4§7
468
4€9
47J
471
472
473
474
475
476
477
478
479
480
481
482
483
484
485
436
ugz
488
489
490
431
492 1300003
493 040000
494 020000
435 010000
436 CC4CO0
497 0C2000
498 001000
439 000400
S00 0C0100
S0l CO0C40
sg2 002020
€33 00C010
EC4 000004
s0S 0003002
c0E £00001
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9. PROGRAM DESCRIPTION

THIS PROGRAM CONSISTS OF &4 (DECIMAL) TESTS

THAT CHECK, IN INDIVIDUAL TEST LOOPS. CHARACTER LENGTH
SELECTION FOR EACH LINE AT EACH LENGIH OF S5,6.,7, OR &
8ITS PER CHARACTER.

R CHARACTER CgDE OF 377 IS TRANSMITTED

ON A EACH LIN
AT 5,6,7, AND B BITS PER_CHARACTER. THE RECEIVED CHARACER
1S CRELKED TO VERIFY_THAT THE DATA IS CORRECT

(R CQOE OF 37, 77, 177, OR 377_1F THE LENGTH 1S 5.6.7, CR

8 BITS, RESPECTIVELY),'AND THAT THE RECEIVED

LINE NOMBER AND CHARACTER STATUS INFORMATION ARE CORRECT.

10, LISTING

]
-

:CH11 CHARACTER LENGTH AND BASIC DATA TEST
: COPYRIGHT 1972, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

;s STRRTING PROCEDURE

; LORD PROGRRM

; LORD ADDRESS 000200

+PRESS START

; PROGRAM WILL TYPE DH11 CHARACTER LENGTH AND BASIC DATA TEST
; PROGRAM WILL TYPE "VECTOR RDDRESS-"

; TYFE_IN THE RDDRESS OF THE RECEIVER INTERRUPT VECTOR

;FOR THE DH11 TO BE TESTED, FOLLOWED BY <CARRIAGE RETLURN>
;PROGRAM WILL TYPE "CONTROL REGISTER ADDRESS-"

; TYPE _IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER

;FCR THE DH11 TO BE TESTED, FOLLOWED BY <CARRIAGE RETURN>
:PROGRAM WILL TYPE "R" 10 INDICATE THAT TESTING HAS STARTED
;AT THE END OF A _PASS, PROGRAM WILL TYPE ™ DZDHE *

;AND THEN RESUM TESTING

; SWITCH REGISTER OPTICNS

SW15=1000090 :=1,HALT ON ERROR

SW14=40000 :=1,L00P ON CURRENT TEST
SW13=c-200 :=1, INHIBIT ERROR TYPEOUT
SW12=10000

SW11=400C :=1,INHIBIT ITERATIONS

SW10=2000 +=] ,ESCAPE TO NEXT TEST QN ERROR
SW0S=1000 +=1,L00P WITH CURRENT DRTA
SWO08=400

SW06=100

SWOS5=40

Cui4Y=20

SW03=10

SHO02=4

SWO1=¢2 :RESTART_PROGRAM AT SELECTEC TEST
SWOo0=1 +RESELECT VECTCR AND CONTROL RESISTER
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000030

200007

177570
177570
177776
016820

00574€
Q05726
010046
012500
024846
02262¢

130000
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NO1L

;REGISTER DEFINITIONS

RO=%0
Ri=%}
Re=x2
R3=%3
R4="4
RS=5
SP=:b
PC=n?7

:GENERAL REGISTER

:GENERAL REGISTER

s GENERAL REGISTER

s GENERAL REGISTER
;GENERAL REGISTER

: GENERAL REGISTER
:PROCESSOR STACK POINTER
: PROGRAM COUNTER

; LOCRTION EQUIVALENCIES

SWR=177570

LIGHTS=177570

PS=17777%

; CONSOLE SWITCH REGISTER
:PDP-11/45 DISPLAY REGISTER
; PROCESSOR STATUS WORD

STACK=ENDCOD+200; START OF PROCESSOR STACK
; INSTRUCTION DEFINITIONS

PUSH1SP=5746
POP15P=5726
PUSHRD=10046
FOPRO=12600

PUSH25P=24646

POP2SP=22626

LEQUIV EMT,HLT

mnnn
n L
o
o
Q

¢aldslaa]onlentonfontonlontonlonton]oslanlon]ea)
e e e e e T e e L Lo [ T wrwrur s

; DECREMENT PROCESSOR STACK 1 WORD
s INCREMENT PROCESSOR STACK ! WORD
;SAVE RO ON STACK

:RESTORE RO FROM STACK

s DECREMENT STACK TWICE

: INCREMENT STACK TWICE

:BASIC DEFINITION OF ERROR CALL
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s 'RAPCRTIRER FUR TLLEGAL INTERRUFTS

+JNEXPECTED TRAP TG THMIS LOCATION
{EXRMINE STRIK TO FIND CAUSE
+JNEXPECTED TRAP T4 THIS LOCATICN
E!Q"INE STACK TO FINC CRUSE
UNEYPE»TED TRAP 79 THIS LOCRTICN
:EXRHINE STRCK YC FINC CRUSE
+UNEXPECTED TRRF TO THIS LOCRTICN
(EXAMINE STR-OK TO FIND CAUSE
+UNEXPECTED TRAP TC “HIS LOCRTICH
EXQHINE STRCK TO FINC CRUSE
UNEXPELTED TRAP TO THW! S LS SRHTICH
+EXRMINE STRCK TO FIND RLSE
:UNEXPECTED TRAP TQ THIS LOCATICN
EXAMINE STACK TO FIND ZAUSE
bNE«PECTED TRAP TO THIS LOCATION
{EYAMINE STACK TO FIND CRUSE
UNEYPECTED TRRP Y0 THIS LCCATION
EXRHINE STRCk T3 FIND CRUSE
+ JNEXPECTED TRAP T0 THIS LoCATI
EXQHINE STACK 7O FIND CRUSE
UNEXPECTED TRAP 7O THIS LJCATIQ
E)QHINE STACK 70 FIND CmJSE
:UNEXPECTED TRAP TO THIS LOCATION
:EXQHINE STRCK 70 FIND CAUSE
tUNEXPECTED TRAFP TO THIS LOCATICN
+EXRMINE STRCK TO FINC CRUSE
UNEXPEbTE“ TRAP TO TRIS LOCATIC
<EXAMINE SYACK TO FIND ”A USE
JNEYPECTED TRRP Y0 THIc LOCRTIbN
1EXAMINE STACK TO FIND AUSE
UNEXPEC*ED TRRP 10 .HIS LOCR’
EXAMINE STACK TO FIND USE
"NEXPELTED TRRFP T2 THIS LDCRT.CN
1EXANINE STACK TO FIND CALGE
UNEXPEL ED TRRP TC THIS LooR™IZ
XRMINE STACK TJ FIND ’R'SE
UNEXPEVTED TRAP 70 THIS _SCRTISN
'EXRHINE STRCk TO FIND “R'SE
+UNEXPECTED TRRP TO THIS LICRTION
EXQFINE STRCK TC FIND CRUSE
: UNEXPECTED TRAP T 'HI: .J.R’ICN
(EXAMINE STACK TO FIND CRUSE
UKXPECTED TRRP TO THI: LQVQTIUN
:EXAMINE STACK 10 FIND SAUSE _ N
.JNEXPECTED TRAP TQ THIS LICRTICN
tEXAMINE STACK TO FIND CA SE
: INEXPECTED TRAP TO THIS LJSATION
TEXAMINE STRCk TJ FIND JRLSE
.UNEXPEC ED TRRP TO THIS LICRTION
: TACK TQ FIND <RUSE
D TRRP TO THIS LOCRTICN
TAck To FIND EAUSE
D TRRP 70 THIS LoCrTIC

S
: TE
:E\RHINE S
: ECTE
SThRon T2 FIND CRuSE
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cocHES.PFC i

g ;g;igu 230:58 qga E"‘Eﬁ?f,&"?,{“?ﬁ? THIS LOCATICH

£:3 33sigh RS ENEPEETRD FRAP 70 THIE Laénr'ow

£15 3001 353 GecT 'EXAMINE STACK TO FIND CAUS

515 DO016N 166 .42 : UNEXPECTED TRAP TO ruxs LUCRTICN

616 CQOI§S 0g2 HALT ' EYAMITE smcx T0 FIND CAUSE

g1~ 330:1 {3 43 {UNEXPECTED TRAP T2 THIS Lagarson

21§ =gis§ 3060 el 5?‘2252‘ 5’“%;5%"”51%“85% ~13n

'Y a [] . [} (@] Wi

£33 5581?& 88850 HALT 'EXAMINE STACK T0 2 1R R

€31 1500200 000202 43 : UNEXPECTED TRAP T0 .uzs LOCHTIQN

555 gassaa 09 HALT 'EXAMINE_STACK TO_FIND CAUSE
ARGSNd  DAg2 4 s UNEXPECTED TRAP TO THIS LOCATISN

624 GCoo20e 000000 HALT 'EXAMINE STACK 70 FIND CRUSE

£35 2Ee319 gggaxa 42 UNEXPECTED TRAP TO THIS LOCATION

E3€ £53212 630 HALT ‘EXAMINE STACK TO FIND CAUSE

g3F 92521 000216 42 :UNEXOECTED TRAP TO THIS LCCATION

628 230216 000C3Q HALT "EXAMINE STACK TO FIND CRUSE

628 005320 00RR32 .43 : JNEXPECTED TRAP TO THIS LOCATION

£30 000222 (003600 AL T EXAMINE STACK TO FIND CAUSE

£31 DOCo24 L0026 .42 : INEXPECTED TRAP TO THIS LOCATICN

3z DoC2ee DOCCOQ HAL” :EXAMINE STACK TO FIND CAUSE

£33 000230 009232 Y UNEXPECTED TRAP TO THIS (LOCATION

£35 390232 DLOSCO HALT 'EXAMINE STACK 70 FIND CAUSE

£35 20934 000336 .42 ' UNEXPECTED TRAP 10 THIS LO‘RT

636 0023 0OOOCS RALT 'EXAMINE STACK TO FIND CAUSE

£3~ 00020 CO0z9R .42 ' UNEXPECTED TRAP 70 THIS LOCATION

B39 No0P42 (00000 HALT 'EXAMINE STACK TO FIND CAUSE

£33 707544 0O0G246 ,+2 : UNEXPECTEC TRAP TO THIS LOCATICN

£40 DAfo4e BOCCO0 HALT 'EXAMINE STACK TO FIND CAUSE

B4: 00298] 060252 L 4E : NEXPECTED TRAP T THIS LOCATION

E43 0300252 (000000 HALT Exnnxns s'qcx T0 FIND ~RUSE

643 C02EY 888533 .+ E TRAP T rnrs LOCATION

£<4 [5agg HAL™ NERIRE Stask o IND CRUSE

45 000Z60 J00262 .43 : UNEXPECTED TRAP T) 'HIS LOCATION

E4E 00°Z62 Q00370 RALT ;EXAMINE STAck 10 FIND SAU EE

€47 3D03E4 (OOOSEE ,+3 s ONEXPECTED TRAP TO THIS LOCATION

E<8 DIT2EE  HOCOOD HALT 'EXAMINE STACK TO FIND -~AUSE

£43 35°570 QoosTE L +3 ' UNEXPECTED TRAP 10 THIS LOCATION

€57 353272 090CoC SALT “EXAMINE STACK T0 EIND CAUSE

£5T FRREN  nogare J+3 :UNEXPESTED TRAP_TJ THIS LICATICN

ES: 30C27e 000003 AT 'ExAMINE STACK TO FIND AUSE

5€3 370300 060302 v3 ' UNEXPECTED TRAP 0 ers [LOcAT IO

€Eq DS03C2 002000 AT 'EXAMINE STACK TO FIND CAUSE

eEc Zo03%4 030306 +3 {UNEXPECTED TRAP TQ rnx: L3aTIoN

£Ef ©0AS30e £OS000 ALY 'EXAMINE STACK TO FIND 2AUSE

€7 D310 Q00212 ,»D :NEXPECTED TRAP 7O rnzs LOCRTION

€€ 033312 0466ACH AT }EXAMINE STACK TO FIND CAUSE

EE3 BAR3§ 900316 L+3 { UNEXPECTED TRAP TQ raxs LICATION

6EC 000316 00007 FAT ‘EXAMINE STACK TO FING ~AUSE

EE] CD0320 000322 48 ' UNEXPECTED TRAP TQ THIS LEATIN

€€ 000222 000030 HALT 'EXAMINE STACK TO FIND CRUSE

662 0CC324 00C326 42 {UNEXPECTED TRAP TO THIS LOCATION

Eed4 CC2326 005000 HALT ‘EXAMINE STACK TO FIND CAUSE

BEE 0OC330 000332 43 ' UNEXFECTED TRRP TO THIS LOCATION

tee 0003s2 °2€30CC HALT ;EXAMINE STRCK TC FIND CRUSE
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.‘2
HRLT
.2
HALT
.42
HALT
.2
HRLT
.42
HALT
.+2
HALT
.42
ML T
.42
HALT
.+
HALT
.+
HALY
.42
ALY
.+
HALT
.+2
HALT
.42
ALY
.42
He_T
.+2
HAL”Y
.*2
HALT
.42
HRLT
.2
HR.T
.2
HALT
.42
HALT
.+
HALY
.2
HRLT
.2
HALT
.2
HALT
.42
HALT
.+
HALT
l#a
HALT

D02

{UNEXPECTED TRAP TO THIS LOCATION
{EMAMINE STACK TO FIND CRLSE
s UNEXPECTED TRAP TQ THIS LOCATION

:EXAMINE STACK TO FIND CARUSE
{UNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CRUSE

{UNEXPECTED TRAP TQ THIS LOCATICN
JEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATIGN
EXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATIOMN
:EXAMINE STACK TO SIND CAUSE
: UNEXPECTED TRAP TQ THIS L“CRTION
;EXAMINE STACK TO FIND CAUSE
: UNEXPECTED TRAP T *HIS LCCRTION
:EXAMINE STACK TO FIND CAUSE

: INEXPECTED TRAP TQ THIS LOCATION
{EYAMINE STACK TO FIND CAUSE
(JMEXPECTED TRAP TQ THIS LOCATISN
{EXAMINE STACk TO FIND CRUSE
{UNEXPECTED TRAP TO THIS LOCATION
(EXAMINE STACK TO FIND CALSE

{UNEXPECTED TRAP TO THIS LOCATION
EXQHINE STRCK TO _FIND CWUSE
{UNEXPECTED TRRP TC THIS LOCATION
:EXAMINE STACK T0 FIND CRUSE
tUNEXPECTED TRAP TO THIS LQCATICH
;EXAMINE STACK TO FINC CAUSE
:UNEXPECTED TRAP TQ THIS LOCATICN
sEXAMINE STACK TC FIND CAUSE
s JNEXPECTED TRAP TQ THIS LOCRTION
EXHHINE STRCK TO FIND CRUSE
+UNEXPECTED TVRAP TQ THIS LOCATICN
EXQMINE STRCK TO FIND CAUSE
:UNEXPECTED TRAP TQ THIS L3CATION

: EXAMINE STRCK TO_FIND CAUSE
{UNEXPECTED TRRP 7O THIS LCCRTICN
(EXAMINE STRCK TO FIND CAUSE
{UNEXPECTED TRRP TQ THIS LOCRTICN
{EXRAMINE STACK TO FIND CARUSE

tUNEXPECTED TRAWP TG THIS LICRATICN
sEXAMINE STACK TC FIND CRUSE
:UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CRUSE
s UNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND “RUSE
{UNEXPECTED TRAP TQ THIS LOCATION
sEXAMINE STACK TO FIND CRUSE
i INEXPECTED TRAP TO THIS LICATIN
tEXAMINE STACK TO FIND CAUSE
s UNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TQ THIS LOCATICON
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TC THIS LOCATION
;EXAMINE STACK TO FIND CRUSE
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.+
HQ%T
HRLT
HRLT

.42
HQ&T
HQLT
HQ'T

+c
HALT
.4
HALT
.42
HALT

.+
HRLT
HRL'

+2
HRLT

+2
HALT
.2
HALT
.42
HALT
.+
HALT
.+2
HRLT

EO2

LHEXPECTED TRAP 10, THIS LOCATION
'EvAM NE STACK 10, FING CAUSE
e NEPEETED TRap 1o  Thr LBk At ron
'EXSMINE STRCK TO FIND CAUSE

:ENSXPEETS? TRAP TQ THIS LOGATION
:EYAMINE SYACK TO_FIND CAU
INEPECTED, TRAP TO THIS LOCATI0
s EXAMINE aTAck T AUSE
i DNEXPESTED. ThAp 10| TI& LOEATION
{EXAMINE STACK TO_FIND CAUSE
{UNEXPECTED TRAP TO_THIS LOCATICH
{EXAMINE STACK TO_FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO_FIND CAUSE
UNEXPECTED TRAP TQ_THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TQ  THIS LOCATION
{EXAMINE STACK TO_FIND CAUSE
NEXPECTED TRAP 70 THIS LCCATION
(EXAMINE STACK TO_FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO FIND CRUSE
CNEXPECTED TRAP TO_THIS LOCATION
{EXAMINE_STACK TO FIND CRUSE
{UNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK T0 FIND CRUSE
UNEXPECTED. TRAP TQ THIS LOCATION
:EXBMINE STACK TO FIND CAUSE
LNEXPECTEC TRAP TO THIS LOCATICN

‘EXHHINE STACK TC FIND CARUSE

:UNEXPECTED TRAP TQ_THIS LOCATION
sEXAMINE STRCK TO_FIND CRUSE
: UNEXPECTED TRAP TO THIS LOCRTICN
;EXAMINE STACK TO FIND CAUSE
s UNEXPECTED TRAF TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION

:EXAMINE STACK TO FIND CAUSE

{UNEXPECTED TRAP TQ THIS LOCATICN
;EXAMINE STACK TC FIND CAUSE
+UNEXPECTED TPAP TO THIS LJCATICN
:EXAMINE STACK TC FIND CRUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TQ THIS LOCATIS
tEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LJSATION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION

:EXAMINE STACK TO FIND CAUSE

:UNEXPECTED TRAP TO THIS LOCRTION
:EXAMINE STACK TO FIND CRLSE
;UNEXPECTED TRAP TO THIS LOCRTION
:EXAMINE STRCK T3 FIND CAUSE
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.2
HRL’
HQLT

FOe

+LNEXPECTED TRAP TO THIS LOCATION

(EXAMINE STACK TO FIND CAUSE
UNEXPECTE? TRAP TO THIS LOCQT o
;EXRMINE STACK TO FIND CAUSE

: UNEXPECTED TRAP TO THIS LOCQTIOH
{EXAMINE STACK TO _FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCﬁTLCH
sEXAMINE STACK TO FIND CAUSE

: UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TQ THIS LOCATICN
tEXAMINE STACK TO_FIND CAUSE
:UNEXPECTED TRAP TQ TH'S LOCATICN
:EXAMINE STACK TO FIND CAUSE

s UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRRP TO THIS LOCATION

:EXAMINE STACK TO FIND CAUSE
+JNEXPECTED TRARP TQ THIS LCCRTION
{EXAMINE STRCK TO FIND CRUSE
{UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO FIND CRUSE

{UNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK 7O FIND CAUSE
: UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE_STACK TO_FIND CAUSE
: LNEXPECTED TRAP TQ THIS LOCATION
{EXAMINE STACK TC FIND CRUSE

: UNEYPECTED TRAP YO _THIS LOCATION
{EXAMINE STACK TC FIND CRUSE
s UNEXPECTED 7RAP TQ THIS LOCRTICN
(EXAMINE STACK T2 FIND CARLSE
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813
Sy
815
8i6 000024
817 2J03Ce4 015622
818 000226 (C0034C
819 000030 Ql4464
820 00CC32 (00340
821 000034 Ql4bbs
S22 00003t 2SCO34Q
823 000200
ggg £20200 200157
St
g2,
Q28
829
237
831
£32 104400
833 104401
834 108402
B3S 104402
83 10440y
837 104405
838 104406
B39 104407
840 104410
841 000046

B42 0J0C4 014332
000as2
844 (CO0S32 040030

31-MAR-7E

GOe2 .

16:08 PAGE 20

.=200

.=4b
LOGICAL
-

. --ia
<0300

:STANGARD INTERRUPT VECTORS

PFAIL :POWER FAIL HANDLER
340 :SERVICE AT LEVEL 7

ERRCRS :ERROR HANDLER

340 !SERVICE AT LEVEL 7 _

TRPSRV : GENERAL HANDLER DISPATCH SERVICE
340 :SERVICE AT LEVEL 7

JM®  START :G0 TO START OF PROGRAM

:DEFINITIONS FOR TRAP SUBROUTINE CALLS
:POINTERS TC SUBRGUTINES CAN BE FOUND STARTING
;AT LOCATICN “TRPTAB"

SCOPE=TRAP+Y :SCOPE LOOP AND ITERATION HANDLER
TYPE=TRRP+Y ; TELETYPE QUTPUT ROUTINE

OCTASC=TRAP+Y ;OCTAL TO ASCII CONVERSION
INSTR=TRAP+Y : INPUT RSCIT STRING

INSTER=TRAP+Y :STRING_INPUT ERROR

PARAM=TRAP+Y CON ERT STRINb TO OCTAL, CHECK LIMITS
SAVOSP=TRAP+Y 0-RS, PC

RESOS=TRAP+Y RESTORE RO-RS

SCOFE1=TRAP+Y :CHECK FOR FREEZE ON CURRENT DARTR
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DSDHEB.PFC
gzg 301000 .=.000
Sur :PROGRAM INITIALIZATION
848 :LOCK OUT INTERRUPTS
843 :SET UP PROCESSQR STACK
853 :SET UP POMER FAIL VESTOR
851 :CLEAR FROGRAM FLAGS AND COUNTS
ggg :TYPE TITLE MESSASE
o ju ]
SS54 001000 01276r 002340 176770 START: MOV #340, PS :LOCK QUT INTERRLPTS
855 001006 Cl2706 016620 MOY #STALK sP :SET UP PROCESSOR STACK
856 0010l Q12737 015622 020024 MOV SPFAIL . 3824 :SET UP POWER FAIL TRAP
857 (001020 00S067 014570 SLR STFLG :CLEAR TEST START FLAG
BS8 (0CI024 00S0b? Q14524 CLR PASCNT :CLEAR PASS COUNT
859 00103C 005067 014522 CLR ERRCNT : CLEAR ERROR COUNT
850 001034 005067 014512 CLR ERRFLG :CLEAR ERROR FLAG
861 001040 005067 014506 CLR ERRFLG :CLEAR LAST ERROR PC
862 201044 105401 01S78E TYPE MTITLE :TYPE TITLE MESSAGE
863 001050 005767 014536 15T INIFLG :CHECK INITIALIZATION FLAG
864 001054 001001 BNE VEC1 :1F NOT 0, CHECK SWITCHES
865 :FOR REIN}TIALIZATION
866 001056 00ONCM BR VEC2
867 001060 032767 000001 176502 VEC1: BIT #SW0T, SWR . IF SWO0=1, GET NEW VECTOR
8e9 00:066 QOOI44S ] BEQ BEGIN’ :AND CSR
869 001070 012701 000320 VEZ2: MOV 300, R1
870 001074 012702 0003C2 MOV 302 R2
87. 001100 0i2703 COOO0O4 MOV 4, R3
872 0Ol104 010211 18: MOV R2' (R1) -RESTORE TRAPCATCHER
873 001106 00SO012 CLR (R2) :IN FLCATING VECTIR AREA
874 001110 06C301 ADD R3,R!
875 001112 060302 ADD R3.R2
€76 001114 Q020127 001020 CMP Ri.#1000
877 001120 001371 BNE 18
878 C0ll22 104403 INSTR : INPUT ADDRESS OF DEVICE VECTOR

79 001124 016046 MVECTOR : MESSAGE “VECTOR ADDRESS-*

890 001126 104405 PARAM : CONVERT STRING TO OCTAL
e8] 001130 000303 300 LOW LIMIT
862 001132 000770 770 ‘HIGH LIMIT
863 0013134 015542 DHRVEC :LOCATICNS TQ BE FILLED
884 001136 003 BYTE 3 :NUMBER OF LOCATIONS
885 001137 004 .BYTE 4 :LSB MASK -
885 001340 104403 INSTR : INPUT ADDRESS OF DEVICE CSR
887 001142 018070 MREGAD 'MESSAGE “CONTROL REGISTER ROCRESS-"
828 001i44 104405 PARAM : CONVERT STRING T9 OCTAL
889 00!146 000000 Q LOW LIMIT
890 001150 177776 177776 HIGH LIMIT
891 001152 015520 DHSCR :LOCATIONS TO BE FILLED
832 00118Y 007 JBYTE 7 NUMBER OF LOCATIONS
893 001185 010 'BYTE 10 :LSB MASK
894 001156 016767 Ol4354 OI4354 MOV DHSSR, DHSLR :SET up ADDRESS OF SILJ
95 (001164 005267 DIM3EQ INC DHSLR' :STATUS REGISTER HIGH BYTE
8% 001170 00S76? GOivdle 1sT . INIFLG :1F INITIALIZATION FLRAS
897 001174 001002 BNE BEGIN :1S CLERRED
ggg 001176 005167 OI4410 COM INIFLG :SET IT

300 ; PROGRAM START




102

O<LHE  MACYIL 27(732) 31-MAR-TS  16:08 PAGE 22

<DHEB.PFC
ggé :CHECK FOR PROGRAM START AT SELECTED ADURESS
903 DOiE?S 12767 002340 176566 BEGIN: 383 :g?gtissp l°¥KU3UERéQEEQSEPZ§QCK
383 881 14 853{5« 83:882 iTE346 BiT Y301 o ?F
906 001222 00I141C 8EQ 15 GET PC FOR PROGRAY, START
907 801554 04403 INSTR :RET PC
908 00idoe 018234 MTSTPC :MESSAGE "TEST PC™
903 001230 1044CS FARAM : CONVERT STRING %o OCTAL
910 001232 000900 0
§11 001834 017500 17500
912 00123 2100207 RETURN
313 001240 061 BYTE 1
914 G018l 001 JBYTE 1
91§ 001242 000810 BR 28
Q16 001544 012767 001274 014206 1§: MOV aTl RETURN :NORMAL START, TEST I
317 001352 0O0STE? 014336 15T STFLG :IF LOOPING, BYPRSS ’YPEOLT
918 001256 001004 BNE 33
919 001260 00S167 014330 COM STFLG
920 00126M 104401 016230 23: TYPE MR :TYPE “R™ TO INDICATE START
321 001270 000177 9l-264 3g: IMP JRETL]N :START TESTING
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00127y
00130

20131

001316
001324
001332
021340
b 001345
83" (01354
00136
301370
021376
001402
0O1404

J01410

201414
021416
031420

352 0C0l4e2

COl424
001432
001440
001446
001454
001462
001470
001476
001504
0gisie
001520
001526
001532
001534

001540

MACYLl 27,73
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012777
105777
139375
017704

c127Cs

020504
001401
104000

104400

012767
12767
012767
a1a777

017704

012708

31-"3R-

000340
039400
001422
004009
000037
0000C0

177777

015620
033503
000000
002001
Cl4116

0l4lle

100337

00C340
000400
0015852
004000
000077
000000
177777
015620
033500
000001
000001
013766

013762

100877

5

OO0O0UVLOOO0OOD»~

014004
014004

Ti:

18:

2%:

Te:

18:

Jae

15:08 PRGE 23

:CHARACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE O
:CHARACTER LENGTH 1S S BITS
:EXPECTED RECEIVED CHRRACTER IS
;LINE SFEED IS 9600 BAUD

nov uaqg.Ps .
v N -OUN
n8v neg Egéggz
MOV #81111, aDHSCR
MOV 437, TDATA

MOV 20, JDHSCR

MOV s-1 . 20HBC

MOV #TDATA, JOHBA
MOV 33500, I0HLPR
BIS %0, 3DH( PR

MOV 81, JDHBAR
TSTB  JDHSCR

BPL 13

MOV 2DHNRC . RY

MOV #1G0037 . RS
CMP RS, f4

BEQ 2%

HLT

SCOPE

:CHARACTER LENGTH TEST

; TRANSMIT 1 CHARACTER ON LINE O
;s CHARACTER LENGTH IS & BITS
:EXPECTED RECEIVED CHARACTER IS
;LINE SPEED IS 9600 BAUD

MOV #340, PS
MOV 400  ICOUNT
MOV $28 . ESCAPE
MOV #8111, J0HSCR
MOV 877 . IDATA

MOV 80, JDHSCR

MOY -1 aDHBC

MOV sTDATR, J0HBA
MOV 33500 a0HLPR
BIS #1,3DHLPR

MOV 81 . 3DHBAR
TSTB  aDHSCR

BPL 1§

MOV JDHNRC , RY

MOV 100077 .RS

37

IR LT
5 G

;MASTER CLEAR INTERFACE

;CHARACTER TC BE TRANSMITTED = 37(OCTAL)
;SELECT LINE O

{SET UP TO TRANSMIT 1 BYTE

;SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
:SET LINE SPEED FOR 9600 BAUD

:SET CHRRACTER LENGTH FOR S BITS

:START _TRANSMITTER

;HAIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

+ (RS)=EXPECTED CHARACTER IN LCW BYTE
:AND LINE NUMBER AND CHARACTER

‘STATUS IN HIGH BYTE

:ARE EXPECTED AND RECEIVED DATA THE SAME

:CHARACTER LENGTH, DATA
:OR LINE NUMBER ERROR

77

:DISRBLE ALL INTERRUPTS

;SET UF FOR 400 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST
;MASTER CLEAR INTERFACE

; CHARRCTER TO BE TRANSMITTED =
;SELECT LINE O

:SET UP TO TRANSMIT 1 BYTE
;SET UP ADDRESS OF CHARRCTER TO BE TRANSMITTED
;SET LINE SPEED FOR 9600 BRUD

;SET CHARACTER LENGTH FOR & BITS

:START _TRANSMITTER

;WAIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
;IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER STATUS IN HIGH BYTE

; (RE)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

7{0CTRL)
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:STATUS IN HIGH BYTE

ggg gg.nq :ARE EXPECTED AND RECEIVED DATA THE SAME
HLT " : CHARARCTER LENGTH, DATA

OR LINE NUMBER ERROR
SCOPE

:CHARACTER LENGTH TEST

; TRANSMIT 1 CHARACTER ON LINE O

; CHARACTER LENGTH IS 7 BITS
+EXPECTED RECEIVED CHARACTER IS 177
;LINE SPEED IS GolO BAUD

MOV #340,PS ;OISABLE ALL INTERRUPTS

MOV #400, ICOUNT +SET UP FOR 400 ITERATIONS

MOV #c§, ESCAPE :SET_UP TO ESCAPE_TO NEXT TEST

MOV #8111, JDHSCR :MRSTER CLEAR INTERFACE

MOV 2177 TDATA :CHARACTER TO BE TRANSMITTED = 177(0CTAL)
MOV 0, aDHSCR :SELECT LINE O

MOV -1 aDHBC :SET UP TO TRANSMIT I BYTE

:8ET UP ADDRESS OF CHARACTER TC BE TRANSMITTED

MOV $TDATA, JDHBA
sSET LINE SPEED FOR 9600 BAUD

MOV $33500, aJDHLPR

BIS #2, JDHL PR :SET CHARACTER LENGTH FOR 7 BITS
MOV %] 2DHBAR :START TRANSMITTER

53[8 ?gﬁscn WAIT TO RECEIVE CHARACTER

MOV 2DHNRC, R4 : (R4)=RECEIVED CHARACTER

:IN LOW BYTE, AND LINE NUMBER AND
: CHARACTER SYATUS IN HIGH BYTE

MOV #100177.RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

ggz gg.ﬁq :ARE EXPECTED AND RECEIVED DARTA THE SAME
HLT ; CHRRACTER LENGTH, DATA

‘OR LINE NUMBER ERROR
SCOPE

; CHRRACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE O

; CHARACTER LENGTH IS 10 BITS
;EXPECTED RECEIVED CHARRCTER IS 377
;LINE SPEED IS 9600 BAUD

MOV #340,PS :DISABLE ALL INTERRUPTS

MOV 400, ICOUNT :SET UP FOR 400 ITERATIONS

MOV 2%, ESCAPE +SET UP TO ESCAPE 9 NEXT TEST

MOV #BI%11, JDASCR *MASTER CLEAR INTERFACE

MOV 8377, T0ATA : CHRRACTER TO BE TRANSMITTED = 377(0CTAL)
MOV 80, 3OHSCR +SELECT LINE 0

MOV s-1 JDHBC :SET UP TO TRANSMIT 1 BYTE

MOY $TDATA, DHBA
MOV saasoo.ggHLpn

.SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPEED FOR 9600 BARUD

BIS 83, J0HL ;SET CHARACTER LENGTH FOR 130 BITS
MOV #1,dDHBAR :START TRANSMITTER
TSTB IDHSCR :WRIT TO RECEIVE CHRRACTER
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<034 002812
1335 002014

1038 002C20

104 002024
1042 032026
1343 00203C

1045 002032

1053 002034
1054 002042
1055 062050
1056 0020Sk
1257 002084
1058 002072
1089 002100
1060 002106
1061 002114
1062 Q002122
1063 002130
1064 Q02136
1065 002142
1066 002144

1069 002150

1072 Q02154
1073 0C2156
1074 002180

1076 002182

1084 002164

1089 002222

180375
017704

0127305

020504
01401
104300

104400

012777
012777
012777
012777
052777
012777
1058777
100375
017704

0127CS

020504
001404
104000

104400

0127867
012767
012767
012777
012767
C1g777

31-MAR-76

313502

100377

20340
326400
302162
004000
000037
000G}
177777
£15620
633530
000000
000002
013356

013352

100437

000340
00g400
002312
204000
000077
000001

175734
013516
01304
013434
013526
213420
013422
013412
013432
013374
013374

TS:

1%:

2%

T6:

LO2

16:08 PAGE &S

BPL 18

MOV aDHNRC, RY : (R4)=RECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER AMO
:CHARACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
'AND LINE NUMBER AND CHARACTER

; STATUS IN HIGH BYTE

MOV #100377.RS

o BS.RY {ARE EXPECTED AND RECEIVED DATA THE SAME
HLT : CHARACTER LENGTH, DATA

:OR LINE NUMBER ERROR
SCOPE

:CHARACTER LENGTH TEST

: TRANSMIT | CHARACTER ON LINE 1

; CHARACTER LENGTH IS S BITS
:EXPECTED RECEIVED CHARACTER IS 37
;LINE SPEED IS 9800 BAUD

MoV #3480, PS ;DISABLE ALL INTERRUPTS
MoV #400, ICOUNT :SET UP FOR 400 ITERRTIONS
MOV %25, ESCAPE ;SET UP TC ESCRPE TO NEXT TEST

MOV «BI1t11, aDHSCR :MASTER CLEAR INTERFACE
MOV 37, TDATA 'CHARACTER TO BE TRANSMITTED = 37(OCTAL)
MOY %1, JDHSCR sSELECT LINE 1

MOV ¢-1, 3DHBC
MOV $TDATA, 2DHBA
MOV 33500, aDHLPR

:SET UP TO TRANSMIT 1 BYTE

;SET UP ACDRESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPEED FOR 9600 BAUD

BIS #0, JDHLPR ;SET _CHARACTER LENGTH FOR S BIT

MOV 2, JCHBAR ; STRRT _TRANSMITTER

TST8 aDHSCR ;WAIT TO RECEIVE CHRRACTER

BPL 1§
MOV aDHNRC . R4 : (RY)=RECEIVED CHARACTER

:IN LOW BYTE, AND LINE NUMBER AND
CHARRCTER SYATUS IN HIGH BYTE
: (RS)=EXPECTED CHARACTER IN LOW B¥TE
:AND LINE NUMBER AND CHARACTER
+STATUS IN MIGH BYTE

MOV #100437,RS

ggg SE,RH :ARE EXPECTED AND RECEIVED DATA THE SAME
HLT ; CHARACTER LENGTH, DATA

:OR LINE NUMBER ERROR
SCOPE

: CHARACTER LENGTH TEST
: TRANSMIT 1 CHARACTER ON LINE !

! CHARACTER LENGTH IS & BITS
:EXPECTED RECEIVED CHARARCTER IS 77
:LINE SPEED IS 9600 BAUD

MOV #340, PS :DISABLE ALL INTERRUPTS

MOY #3400’ ICOUNT :SET UP FOR 430 ITERATIONS

MOV 828, ESCAPE :SET UP TO ESCAPE TO NEVT TEST

MOV 81111, ADHSCR 'MASTER CLEAR INTERFACE .

MOV 77, TOATA : CHARACTER 70 BE TRANSMITTED = T7{JCTAL)
MOY 8, JDHSCR :SELECT LINE !
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1090
1091
1092
1083
1034
1035
1336
ga~

Vo)
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Pt Dot ot et Pt Pt P P ot Pt Pt Pt Pos Pt Pt P8 ot P et et et Pt o et Pt Pt Pt Pt Pt Pt Pt Pt Pt pt Pt Pt Pt P @ Pt P s P @ o Pt 0 Pt pos Ps Pt Pt

002230
002236
Q02244
0C22s2
002260
CO22E6
002272
002274

002300

002304
002305
£02310

Q02312

J02314
202322
002330
002336
002344
002352
002360
002366
8J2374
002402
00e410
902416
00c42e
002424

002430

002434
002436
002440

002442

2r.rad)

M
. [0 Bt T I I I Il |

Or— 00000

]t L =T, [ et
58
O~~~

LI NINNIN)

012705

020504
001801
1040C0

104400

012767
012767
012767
812777
012767
312777
012777
012777
012777
052777
012777
105777
100375
017704

012705

020504
001401
104000

104400

MO2

31-MRR-7& 16:08 PRGE 26

0132e6
013222

100477

000340
co0400
002442
004000
000177
00CGOL
177777
015620
033500
000002
003002
013078

013072

100577

013272
013262
013252
013244
013244

QOO0 000000—

1%

cs:

17:

1%:

c8:

MOV #-1, 30HBC
MOV #TDATA, 3DHBA
MOV 33500, 3DHLPR

;SET UP TO TRANSMIT 1 BYTE

:SET UP ADDRESS OF CHARARCTER TO BE TRANSMITTED
;SET LINE SPEED FCR 9600 BARUD

BIS %1, 3DHLPR ;SET CHARACTER LENGTH FOR b BI'S

MOV %2, JOHBAR : START TRANSMITTER

15TB JDASCR ;WAIT TO RECEIVE CRARACTER

9pL 1§
MOV JDHNRC, R4 : (R4)=RECEIVED CHARACTER

*IN LOW BYTE, AND LINE NUMBER AND
; CHHRACTER SYATUS IN HIGH BYTE
: (RS)=EXPECTED CHMRNCTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

MOV #100477,RS

ggs SE,RQ ;ARE EXPECTED AND RECEIVED DATA THE SAME
HLT ; CHARACTER LENGTH, DATR

:0R LINE NUMBER ERROR
SCOPE

; CHARACTER LENGTH TEST

; TRANSMIT 1 CHARACTER ON LINE 1

; CHRRACTER LENGTH IS 7 BITS
:EXPECTED RECEIVED CHARACTER IS 177
:LINE SPEED IS 9600 BRUD

MOV #340, PS :DISABLE ALL INTERRUPTS
MOV #400, ICOUNT :SET UP FCR 400 ITERATIONS

MOV £2%, £SCAPE 'SET UP TO ESCAPE TO NEXT TEST

MOV #8111, JDHSCR :MASTER CLEAR INTERFACE

MOV 2177, TORTA : CHRRACTER TO BE TRANSMITTED = 177({O0CTAL)

MOV 1. J0HSCR *SELECT LINE 1

MOV -1 JDHBC :SET UP TO TRANSMIT 1 BYTE

MOV #T0ATA, aDHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
MOV 33500, aDHLPR :SET LINE SPEED FOR 9600 BAUD

BIS %2, 9DHL PR :SET CHARACTER LENGTH FOR 7 BITS

MOV %2, JDHBAR :START TRANSMITTER

TSTB  QJCASCR sWAIT TC RECEIVE CHARACTER

BPL 1$
MOV ADHNRC, R4 + (R4)=RECEIVED CHARACTER

:IN LOW BYTE, AND LINE NUMBER D
: CHARACTER STATUS IN HIGH BYTL
: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

MOV #100577,RS

gEg gg,RH ;ARE EXPECTED AND RECEIVED DATR THE SAME
HLT :CHARACTER LENGTH, DRTA

:0R LINE NUMBER ERROR
SCOPE

; CHARACTER LENGTH TEST

: TRANSMIT | CHARACTER ON LINE |

; CHRRACTER LENGTH IS 10 BITS
:EXPECTED RECEIVED CHARRACTER IS 377
;LINE SPEED IS 9600 BRUD
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1146 002444 Q12767 000340 175324 T10: MOV #340,PS :C1SQBLE ALL INTERRUPTS
1187 002452 012767 000400 013106 MOV #4400, ICOUNT ;SET UP FOR 400 ITERATIONS
1148 002460 0l2767 002572 013074 MOV %28 ESCAPE :SET_UP TO ESCAPE TC NEXT TEST

149 002466 012777 004000 013024 MOV 81111, JDHSCR ;MASTER CLEAR INTERFACE

1 002474 012767 000377 013116 MOV 377, TOATA ; CHARACTER TO BE TRANSMITTED = 377(JSCTAL)
i 002502 012777 000001 013010 MOV #1, aDHSCR :SELECT LINE I

1 002510 012777 177777 013012 MOV #-1 ICHBC ;SET UP TO TRANSMIT ! BYTE

1 002Si6 012777 015620 013002 MOV $TDATA, aDHBA ;SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
. 002524 012777 033500 012772 MOV #33500, JDHLPR :SET LINE SPEED FOR 9600 BAUD

l 002532 052777 000003 012764 BIS %3, JDHLPR :SET CHARRCTER LENGTH FOR 1C BiTS

i 002540 012777 000002 012784 MOV #2, JDHBAR ; START TRANSMITTER

i 002546 105777 012746 1§: TSTB aDASCR ;WAIT TO RECEIVE CHARACTER

i 002552 100375 SPL 1$

002554 017704 012742 MOV JDHNRC R4 ; RY)=RECEIVED CHARACTER

:IN LOW BYTE, AND LINE NUMBER AND
' CHARACTER SYATUS IN HIGH BYTE

002565 012705 100777 MOV 100777 ,RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

N oo oo nuinu I UInuIuun

TNLWNR—OOONON . W00 N0 LW

; IN LOW BYTE, AND LINE NUMBER AND

s CHARACTER SYATUS IN HIGH BYTE
002710 012705 101037 MOV #101037,RS ; (RS)=EXPECTED CHARACTER IN LOW BYTE

;AND _LINE NUMBER AND CHARACTER

:STATUS IN RIGH BYTE

002714 (020504 CHMP RS, R4 :ARE EXPECTED AND RECEIVED DATA THE SAME
002716 0C140} BEQ 2%
00720 104000 HLT ; CHARACTER LENGTH, DATA

:OR LINE NUI"BER ERROR

o Pt Pt Pt Pt ft ot Pt s Pt Pt Pt Pt 2 Pt Pt ot Pt p— Pt pa .-‘HH"“".—‘HHH."H.—‘H.—HHHH"H’—HH"‘H.—.—_.“H'—"—‘H

1
1

1

1

i

165 002564 020504 CMP RS, RY4 *ARE EXPECTED AND RECEIVED DATA THE SAME
166 002565 001401 BEQ 23

167 008570 104000 HLT - CHARACTER LENGTH, DATA

1 :0R LINE NUMBER ERROR

i 902572 104400 2s: SCOPE

17 : CHARACTER LENGTH TEST

17 : TRANSMIT 1 CHARACTER ON LINE 2

17 :CHARACTER LENGTH IS 5 BITS

17 ‘EXPECTED RECEIVED CHARACTER IS 37

i§ :LINE SPEED IS 9600 BAUD

177 002574 012767 000340 175174 TIil: MOV 340, PS :DISABLE ALL INTERRUPTS

i78 002602 012767 000400 012756 MOV $400. ICOUNT . :SET UP FOR 400 ITERATICNS

179 002610 012767 002722 012744 MOV 23, ESCAPE :SET UP TO ESCAPE TO NEXT TEST

180 002616 012777 004000 012674 MOV #8111, ADHSCR :MASTER CLEAR INTERFACE

181 002624 012767 000037 012786 MOV 37, TDATA :CHARACTER TO BE TRANSMITTED = 37(OCTAL)
182 002632 012777 000002 C12660 MOV $2, JDHSCR :SELECT LINE 2

183 002640 012777 177777 012662 MOV #-1 IDHBC :SET UP TO TRANSMIT ! BYTE

184 002646 012777 015620 012652 MOY $TDATA, 2DHBA :SET UP RADDRESS OF CHARACTER TO BE TRANSMITTED
185 002654 012777 033500 012642 MOV 33500, 3DHLPR CCT | INE SPEED FOR 9600 BALD

186 (0026E2 052777 000000 012634 BIS %0, JDHLPR *SET CHARACTER LENGTH FOR 5 BITS

187 002670 012777 000004 012534 MOV ¥4, JDHBAR :START TRANSMITTER

188 0D267& 105777 0l26ls 13: 7STB  2DHSCR WAIT TO RECEIVE CHARACTER

189 002702 100375 BPL 1§

% 002704 G!7704 012612 MOV aDHNRC, RY : (R4)=RECEIVED CHARACTER

1

1

1

1

1

1

1

!

g

2
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ggz

1 : vHARACTER LENGTH TEST
it s YRANSMIT | CHARRCTER ON _INE 2
1224 : SHARACTER LENGTH IS & BITS
1208 :EXPECTED RECEIVED CHARACTER IS
1558 :LINE SPEED IS 9600 BALD
1328 “24 0i27B" OC0340 TSI Tia: M)V 8340, FS
1239 03sr32 pl2ter DOC408 012628 MOV w400, 1S0UT
:2.0 DDg°43 Ql2ner 003082 0i2kld MV 0§, ESTAPE
15:1 SC2Twe 018777 CO4000 QIG5 MOV o81t11, 2OMSCR
:;1g 23254 clsf 7 8000" 21gb3e MO s-°, TCA%A
1513 DoarR2 318r 00002 02532 MOV 82, J0HS R
219 G287%3 313777 6?779; 012532 MOV 2-} yORBS
:e.5 C32rte 01777 015620 Qlgs522 MOV TDATR, 30M84
S Pleiok s'e - T -nrig ogasoo gzgsxa MOV 8335CC, JOHLPR
217 203012 Ae3trr ORDOGI AIZENS 81 8. s0H PR
1218 03383C Ois~r~ 000G Q1350 MoV 84, J0HBAR
2213 203036 1G95°TT  Ql2uge 8 ST JCHSIR
1228 033838 162375 BFL 15
18l 0N 017704 Ol2462 MOV SDMNRC, PY
1823
184 003c40 Jlaroe ioiotT MV 8.Ci377.88
1326
1e36
1227 203044 020504 LHP RE,RY
1228 232%4p 051401 SEQ 2§
sge3 3050 IO4L30 LT
i23J
1221 003082 10443 z$ SCOPE
.g32
233 ;CHARASTER LENGTH TEST
1234 s TRANSMIT 1 CHARACTER N LINE 2
123€ : SHARACTER LENGTH IS 7 BITS
ik :EXPECTEC RECEIVED CHARRITER IS |
e :LINE SPEED IS 9600 BAUC
1239 222784 CIZ7E7 CODAMD  iT=Tlv L3 v 8340, PS
190 533762 ©D127er Q20400 1012478 MOY 8490, ICOUNT
1341 523279 Dis76r 003202 QiZ+ed MOy 82§, ESCAPE
142 £03376 212777 OCNCI0 Dlz414 MOV sB1}1T, 3DHSCR
1243 0314 012787 00CI7? (012508 MOV 8177, "UATA
1244 0C3:12 012777 0CO002 (12400 MOV 82, IEHSCR
|12+ 00220 012777 177777 0i24C2 MOV n-1 IDHBC
, 1246 003126 Qi2777 015620 Q1237 MOV sTOATA, 30HBA
| 1247 003134 012777 023500 Cl23e2 MOV 83350C, JDHLFR
igde 3c3dz Geerzs O0C0Ca Ql2ds BIS s2. JOHLFR
ie49 00310 012777 000004 G238+ MOV 84 . JCHBAR
. 1280 023156 i0S777 (01233 H TSTE®  JDHSCR
| 1gE. CO3le2 100378 BPL i$
28 36N OiPod olaae MOV &DHMRC.AM
et
1254
;;gg 03170 012705 01177 MOV 8101177 RS
P-4
.87

-y
'

:ISABLE ALL INTERE.FT3
:SET UP FOR 430 ITERATIONS
:SET_UP 10 £SCAPE TO NE¥T TEST

:MASTER CLEAR INTERFACE

:CHARACTER TO BE TRANSMITTED = 77 SCTAo
+SELECT LINE 2

:SET UP TJ TRANSMIT 1 BYTE

:SET UP ADCRESS OF CHARACTER TC BE TRANSMITTEC
:SET LINE SPEED FOR 9600 BAUC __ :
:SET CHARACTER LETGTH FCR b 8175

:START TRANSMITTER

tWAIT TO RECEIVE CHARRACTER

: (R4 )=RECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER ANC

: CHARACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

:#RE EXPECTED AND RECEIVES DRTA THE 3SAME

: SHARACTER LENSTH, DATA
-OR LINE NUMBER EBROR

ey
PN

:DISABLE ALL INTERRUPTS

:SET UP FOR MCC ITERATIONS

:SET P T) ESSAPE "2 NEXT TEST

:MRSTER CLEAR INTERFACE

s HARACTER T2 BE TRANSMITTED = ITT.0CTAL)
:SELECT JINE 2

:8ET UP TO TRANSMIT | BYTE

:SEY UP ADDRESS OF CHARACTER TJ BE TRANSMITTED
:SET LINE SPEEC FOR 9600 BALD

-SET CHARACTER LENGTH FOR © BITS

:START TRANSMITYER

:WRIT TQ RECEIVE CHARACTER

: LIRY)ZRECEIVEDC CHRRACTER

+IN LOW BYTE, AND LINE NUMBER ANC

:CHRRRCTSR YaTuS IN MIaH SYTE .-
: \RSI=EXPECTED CHARRSTER IN 3w 9Y°E '
:AND_LINE NUMBER AND CHARRCTER

+STATJS IN MIGH BY'E

- ———— e e—— C - - e mme
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1358 203174 Q30504 CHP RS, RY :RE EXPECTED AND RECEI/EC DATA THE SAME
1259 2C2176 QaC1IN0L BEQ 28

1862 203200 134CC2 LT : "HARAC TER LENGTH CATA

1281 ;OR LINE NUMBER ERPIR

;Egg 023332 12423 2s: SCCPE

cemww

1264 :CHARACTER LENGTH TEST

1268 ;TRRNSH;T 1 CHARARCTER ON LINE 2

1358 :CHARACTER LENGTH IS 10 BITS

15€; tEXPECTED RECEIVED CHARACTER 1S 377

%%E% :LINE SPEED 1S5 9600 BALL

(00 003204 2i2mB7 D003MD  ITHGEM  TI4: MOV 8340, PS :DISABLE ALL INTERRUPTS

iso: C0331z Qi2ver OCO40C 01233%6 MOV 400, ICOUNT ;SET LP FOR 400 ITERATIONS

igre 03220 3JigTe? 003332 012334 MOV 828, ESCAPE :SET_UP TO ESCAPE TO NEXT TEST

(273 D038 Q3777 0ONC0 (01238 MOV 51111, SDHSCR :MASTER CLEAR INTERFACE

1278 20323- QI27eT 0CO377 (0i23se MOV 2377, TDATR :CHARACTER TO BE TRANSMITTED = 377:0CTAL.
1873 0Oc3a¥2 0127 000002 G1225G MV a2, aDHSCR :SELECT LIME 2

2276 00 018777 17v°77 Q12352 - MOV s-1, SOHBC :8ET UP TO TRANSMIT ! BYTE ,
icvy 00356 012777 Q1Se20 012242 MOV s TDATA, DHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
1278 0032E4 Q12777 033500 (012232 . MOV 833503, JOHLPR :SET LINE SPEED FOR_9600 BALD

1279 00357 082777 000003 O0idzad BIS 83, 3ORLPR :SET_CHARACTER LENGTH FOR 10 BITS

1280 003300 012777 0OOC4 O0l2224 . MOV 84, JOHBAR ;START TRANSMITTER

1281 J03306 105777 012206 18: TETB  JDWSCR sWAIT TO RECEIVE CHARACTER

1282 0033i2 100375 3FL 18

1283 203314 CI7704 01222 MoV SDHNRC , R4 : (RY)=RECEIVED CHARACTER

1284 :IN LOW BYTE, AND LINE NUMBER AND

1285 :CHARACTER STATUS IN HIGH BYTE

1286 003320 (012705 101377 MOV 8101377,R¢E + (RS)=EXPECTED CHARACTER IN LOW BYTE
1287 ;AND LINE NUMBER AND CHARACTER

1288 :STATUS IN HIGH BYTE

1289 003324 029524 CHP RS, RY :ARE EXPECTED AND RECEIVED DATA "HE SAME
1290 D0332e 2314J! BEQ 28

1291 0C332C 104000 HLT : SHARACTER LENGTH, DATA

2% ;CR LINE NJMBER EARIR

%533 003332 124400 2§: SCOPE

1295 : CHARACTER LENGTH TEST

1536 : TRANSMIT 1 CHARACTER ON LINE 3

1237 :CHARACTER LENGTH IS § BITS

1238 :EXPECTED RECEIVED CHARACTER I35 3°

iggg :LINE SPEED IS 9600 BALC

1301 003234 012767 CO0340 17443 Ti5: MOV 8340, PS ;DISABLE ALL INTERR.PTS

1302 003342 Q:2767 000400 OQi221e MOV 8400, ICOUNT :SET UP FOR 400 ITERRTIONS

1202 003350 Cig7e7 003462 012204 MOV 828, ESCAPE :SET UP TO ESCAPE TO NEXT TEST

1204 QC3356 Q12777 004000 01234 MOV 81111, A0HSCR :MASTER CLEAR INTERFACE

1305 003384 012767 000037 Qlgeee MOV 837, TDATA ;CHARAZTER TO 8E TRANSMITTEC = 37.237AL:
1306 002372 218777 020002 Olelat MOV 83, SDHSCR :SELECT LINE 3

1307 003400 C.2777 177777 O0l3lez MOV 8-}, JDHSC :SET UP T TRANSMIT 1 8YTE

1308 052406 {12777 015620 012112 MOV #TDATA, JOHBA +SET UP ADCRESS OF CHARACTER T2 3E TRANSMITTED
130§ 002414 012777 033500 912102 MOV #33500, dOH_PR :SET LINE SPEED £JR 9807 BALD

1210 003422 062777 000003 012074 BIS 80, JOHLPR :SET_CHARACTER LENGTH FOR S5 8I7S

1311 CO2430 Ol2777 00C0I0 013074 MOV 810, JDHBAR :START TRANSMITTER

.zle 00343t 105777 0i2CSk 18: TSTB  JOHSCR tWRIT TO RECEIVE CHARACTER

1313 003442 10037 BFL 15

—— - —
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1314 003444 J1TTOM 212282 MOV 2DHNRC, RY ; (R4)=RECEIVED CHARACTER
13.5 :IN LOW BYTE, AND LINE NUMBER A"C

1335 - :CHARACTER SYATUS IN HIGH BYTE

1317 0C345) 012705 10143 MOV ®101437,RS ; (RS, =EXPECTED CHARACTER IN LCW BYTE
13:8 ;AND_LINE NUMBER AND CHARACTER

1313 :STATUS IN HIGH BYTE

1329 003454 020504 SMP RG.RY :ARE EXPECTEC AND RECEIVED CATA THE SAME
1331 0048e (OC140: BEQ 2§

1392 003460 1049CC KT ;CHARACTER LEN3TH, DATA

1323 :0R LINE HUMBER ERROR

;ggg 003462 124400 23: SCOPE

- c

1326 : CHARACTER LENGTH TEST

1327 : TRANSMIT 1 CHARACTER ON LINE 3

1339 :CHARACTER LENGTH IS b BITS

1339 :EXPECTEC RECEIVED CHARACTER 15 77

1330 :LINE SPEED IS 9600 BALC

332 003464 012767 200340 174304 Tle: MOV 8340, PS ;DISABLE ALL INTERRUPTS

1333 003972 01276r 020400 012066 MOV #400, ICOUNT :SET UP FOR_400 ITERATIONS

1334 003500 Q12767 003el2 012054 MOV 828, ESCAPE :SET_UP TO ESCAPE TO NEXT TEST

1335 Q03506 012777 004000 012004 Mov - eBItI1, dDHSCR :MASTER CLEAR INTERFACE

1335 00354 012767 000077 012076 MOV 877 TDATA ; CHRRACTER TO_BE TRANSMITTED = 77(CCTAL:
1337 303622 0le7?7 020003 011770 MOV %3, JDHSCR tSELECT LINE 3

1338 003E0 018777 177777 011772 MOV s-], QDHEC :SET UP TO TRANSMIT 1 BYTE

1339 20363 013777 01Se20 011762 MOV sTDATA, 0HBA ;SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
1340 203844 Qi2rr7 ©33500 G117S2 MOV #33500, OHLFR :SET LINE SPEED FOR 9600 BAUD

1341 03852 (058777 G5OO30L Q1179 BIS 81, JDHLPR :SET CHARACTER LENGTH FOR b BITS

1242 093550 J12777 0OODID OI1744 MOV 810, SDHBAR ;START TRANSMITTER

1343 D03%B6 105777 (011726 18: TSTB  QDHSCR ;WAIT TO RECEIVE CHARACTER

1244 023572 100375 BPL 18

1345 003574 Q17704 oO11722 MOV JOHNRC,Ry : (R4)=RECEIVED CHARACTER

1346 :IN LOW BYTE. AND LINE NUMBER ANC

1347 :CHARACTER SYATUS IN HIGH BYTE

{298 GO3e0C 212708 101477 MOV 210147 RS ; tRE)=EXPECTED CHARACTER IN LOW BYTE
1349 ;AND_LINE NUMBER AND CHARACTER

1253 ) :STATUS IN HIGH BYTE

1351 003604 1020504 SMP RS, RY :ARE EXPECTED AND RECEIVED DATA THE SAME
1352 003696 001401 BEJ 23

1353 00360 104200 HCT s CHARACTER LENGTH, DATA

1354 _ :0R LINE NUMBER ERROR

}ggg 003612 104400 : 23: SCOPE

1267 ;CHARACTER LENGTH TEST

1358 * TRANSMIT 1 CHARACTER CN LINE 3

1369 : CHARACTER LENGTH IS 7 BITS

136C :EXPECTEC RECEIVED CHARACTER IS 177

;ggé s LINE SPEEC IS 3600 BAUD

1263 003614 (12767 000340 184 TI17: MOV #340,PS ;DISRBLE ALL INTERRUPTS

124 00262z (012767 0CCYa0 011736 MOV #400, ICOUNT :SET UP FOR 400 ITERATIONS

1365 C£03630 012767 003742 011724 MOY 823, ESCAPE :SET UP TO ESCAPE TQ NEXT TEST

2767 00C1?77 746 MOV 8177, TOATA :CHRRACTER TO BE TRANSMITTED = 177(OCTAL!
2777 0C0003 &40 MOY 83, IDHSCR :SELECT LINE 3

C1 174
: ot

1366 0C3636 8i2777 004003 8%%554 MOV ¢B1t11, 20HSCR :MASTER CLEAR INTERFACE

i3 Gl 011
C18777 177777 0QliE4e MOV s-1, JORBC :SET UP TO TRANSMIT 1 BYTE
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MUV #TCATH, 20HBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTEC

n?v !33500.38HLPR :SET LINE SFEED FGR 9600 BAUD
B1S 82, J0H(P _ iSET CHARACTER LENGTH FOR 7 BITS
MV 210, 3DHBAR :START TRANSMITTER

53{9 fgwéca _ iWAIT TO RECEIVE CHARACTER

MOV JLHNRC , R4 i : (R4)=RECEIVED CHARACTER

;IN LOW BYTE, AND LINE NUMBER ANC
. ; CHARACTER SYATUS IN HIGH BYTE
MOV ®101S77.RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
;AND_LINE NUMBER AND CHARACTER
;STATUS IN HIGH BYTE

ggg gg.aq +ARE EXPECTED AND RECEIVED DATA THE SAME
HLT - CHARACTER LENGTH, DATA
SCOPE :OR LINE NUMBER EARSR

; CHARACTER LENGTH TEST

; TRANSMI® 1 CHARACTER ON LINE 3

; CHARACTER LENGTH IS 10 BITS
;EXPECTED RECEIVED CHARACTER IS 377
:LINE SPEED IS 3600 BAUD

MOV #340.PS -DISABLE ALL INTERRUPTS
MOV 400 ICOUNT :SET UP FOR 40C ITERATIONS
MOV 828, £SCAPE :SET UP TC ESCAPE TO NEXT TEST

MOV 81111, aDHSCR :MASTER CLEAR INTERFACE
MOV 377, TOATA ' CHARACTER TO BE TRANSMITTEC = 377:0CTAL]
MOV 23, JCHSCR :SELECT LINE 3

:SET UP TO TRANSMIT 1 BYTE
:SET UP ACDRESS OF CHARACTER TO BE TRANSMITTED
MOV 33500, 3DHLPR :SET LINE SPEED FOR 9600 BALD

8IS 83, 30HLPR :SET CHARACTER LENGTH FOR 10 BITS

810, JDHBAR :START TRANSMITTER

gsya ?oaécn ‘WAIT TO RECEIVE CHARACTER

. g
MOV IDHNRC . RY : (R4)=RECEIVED CHARACTER

<IN LOW BYTE, AND LINE NUMBER ANC
:CHARARCTER SYATUS IN WIGH BYTE

: \RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHRRACTER
:STATUS IN HIGH BYTE

MOV ¢-}  IDHBC
MOV ¢70RTA, aDHBA

MOV 2101777 ,R5

SES Sﬁ'ﬁ“ :ARE EXPECTED AND RECEIVED DATA THE SAME
MLT s CHRRPCTER LENGTH, DATA
¢ COPE :OR LINE NUMBER ERRJR

; CHARACTER LENGTH TEST

: TRANSMIT 1| CHARACTER ON LINE 4

; CHRRACTER LENGTH IS S BITS

sEXPECTED RECEIVED CHRRACTER IS 37

:LINE SPEED IS 9600 BRUD

MOV #34C,PS :DISRBLE ALL INTERRUPTS
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16:08 PRGE 32

£
7
MOV

MOV
MOV

BPL
MoV

MOV

cMP
BEQ
HLT

SCOPE

FO3

L ] e s
sE??gf aBHscn EMSSTER LEEE INEERPQCE

237, TDATA s CHRRACTER TO BE TRANSMITTED = 37.CCTAL)

4, JDHSCR SELECT LINE 4

s-1, JDHBC tSET UP TO TRANSMIT 1 BYTE

TDATA, aDHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
33500 JOHLPR +SET LINE SPEED FOR 39600 BAUD

%0, J0HLPR :SET CHARACTER LENGTH FOR 5 BITS

820, J0HBAR :START TRANSMITTER

?gHSCR :WAIT TO RECEIVE CHARACTER

JDHNRC . RY : :R4)=RECEIVED CHARACTER

;IN LOW BYTE, AND LINE NUMBER AND
. :CHARACTER SYATUS IN HIGH BYTE -
#102037,RS ; (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND_LINE NUMBER AND CHARACTER
;STATUS IN HIGH BYTE
RS.R ;ARE EXPECTED AND RECEIVED DATA THE SAME

: CHARACTER LENGTH, DATA
:OR LINE NUMBER ERROR

:CHARACTER LENGTH TEST

: TRANSMIT 1 CHARARCTER ON LINE H

; CHRRACTER LENGTH IS & BITS
:EXPECTED RECEIVED CHARACTER IS 77
;LINE SPEED IS 9600 BAUD

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIS
MCV

1578

BPL
MOV

MOV

cMP
BEQ
HLT

SCOPE

$340, PS :DISABLE ALL INTERRUPTS
24900 ICOUNT :SET UP FOR 400 ITERATIONS

223, ESCAPE 'SET UP TO ESCAPE TC NEXT TEST

#B1t11, 2DHSCR :MASTER CLEAR INTERFACE

£77 TDATA :CHARACTER TO BE TRANSMITTED = 77 (OCTAL)

#4, JDHSCR :SELECT LINE 4

s-1 J0RBC :SET UP TO TRANSMIT 1 BYTE

$TDATA, JDHBA :SET UP ADCRESS OF CHARACTER TO BE TRANSMITTED
33500, J0HLPR :SET LINE SPEED FOR 9600 BALD

s1 . JOH(PR :SET CHARACTER LENGTH FOR & BITS

820, JDHBAR :START TRANSMITTER

?QHQCR WAIT TO RECEIVE CHARACTER

JDHNRC, RY : (R4)=RECEIVED CHARACTER

SIN LOW BYTE, AND LINE NUMBER AND
: CHARARCTER SYATUS IN HIGH BYTE
102077 ,RS : \RS)=EXPECTED -HARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER
+STATUS IN HIGH BYTE
RS, R4 RRE EXPECTED AND RECEIVED DATR THE SAME

23
: CHARACTER LENGTH, DATA
:OR LINE NUMBER ERROR

; CHHRACTER LENGTH TEST
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004376
204404
oQuM e
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004426
CO443Y4
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0O445E
oo4ue2
004464

CCY470

OO447Y
304476
084500

004502

Q04504
Q04512
004520
004526
EO4E3Y
04542
004555
BO455E
AG4GEH
0Ou572
GO4E00
004606
84612
064614

004620

0C4eez4

012705
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21-MAR-T&  16:08 PAGE 33
: [RANSMIT 1| CHARACTER ON LINE 4
:CHARACTER LENGTH IS 7 BITS
+EXPECTED RECEIVED CHARACTER IS
LINE SPEED IS 9600 BAUD
000340 i73414 T23: MOV %340, PS
000N00 011178 MOV %400, ICOUNT
004502 011164 MOV 23, ESCAPE
004000 011!1M MOV 251111, 3DHSCR
000177 011296 MOV 2177, TORTA
000004 011109 MOV w4, JDHSCR
177777 011102 MOV s-1, JDHBC
015620 011072 MOV #TDATA, 3DHBA
033500 011062 MOV 33500 JOHLPR
600002 0110w BIS s2, J0HLPR
000023 011084 MOV 20, JDHSAR
011035 18: 1318 ?gHécn
£11032 MCV 3DHNRC . RY4
102177 MOV #102177.RS
CHP RS, R4
BE3 23§
HLT
zs: SCOPE
: CHARACTER LENGTH TEST
: TRANSMIT 1 CHARACTER ON LINE 4
: CHARACTER LENGTH IS 10 BITS
:EXPECTED RECEIVED CHARACTER IS
: UINE SPEED IS 9600 BAUD
000340 173264 T24: MOV 340, PS
000400 017046 MQV 400 ICOUNT
004632 011034 MOV 23, ESCAPE
004000 010764 MOV #8111, IDKHSCR
000377 01105k MOV 2377, TOATA
000004 010750 MOV #4, JOHSCR
177777 010752 MOV -1 J0OHBC
015620 010742 MOV #TDATA, JOHBA
033500 010732 MOV 33500 JDHLPR
000003 010724 BIS £3, JOHL PR
000020 010724 MOV 120, IDHBAR
010706 13: 7ST8  JDHSCR
BPL 1§
010702 MOV JDHNRC, RY
102377 MOV 8102377.RS
CMP RS, R4

177

;CISABLE ALL INTERR'PTS

:SET UP FOR 400 ITERATIONS

;SET UP TO ESCAPE TQ NEXT TEST

sMASTER CLEAR INTERFACE

:CHARACTER TO BE TRANSMITTED = 177(OCTAL)
+SELECT LINE M

;SET UP TO TRANSMIT 1 BYTE

; SET UP RDORESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPEED FOR_960C BAUD
;SET_CHARACTER LENGTH FOR 7 BITS

:START TRANSMITTER

:WRIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND

: CHARRCTER STATUS IN HIGH BYTE

: (R6)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

‘ARE EXPECTED AND RECEIVED DATA THE SAME

:CHARACTER LENGTH, DATA
:0R LINE NUMBER ERROR

377

;OISABLE ALL INTERRUPTS

:SET UP FOR 400 ITERRTIONS

:SET UP TO ESCAPE TO NEXT TEST

{MASTER CLEAR INTERFACE

; CHRARACTER TO BE TRANSMITTED = 377(JCTRL)
s SELECT LINE 4

;SET UP TO TRANSMIT 1 BYTE

;SET UP ADDRESS QF CHARACTER TO BE TRANSMITTED
:SET LINE SPEED FOR 9600 BRUD

;SET CHARARCTER LENGTH FOR 1C BITS

; STARRT TRANSMITTER

:WRIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND

: CHRRACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
*AND LINE NUMBER AND CHRRACTER

:GTATUS IN HIGH BYTE

:ARE EXPECTED AND RECEIVED DATAR THE SAME
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004722
004736
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012767
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012777
012777
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052777
012777
105777
100375
017704

31-MAR-TE
DOS340 173134
030400 010716
004762 010704
004000 010634
007037 016726
000005 010620
177777 01083z
015620 012612
033500 010602
030000 010574
0000490 010574
010556

010552

102437

000340 172004
000400 010566
00S1i2 010554
009000 010504
000077 010576
000005 010470
177777 010472
015620 010482
033500 0104S2
000001 010444
000040 010444
010426

010422

28:

13:

T26:

HO3

16:08 PAGE 34

BtQ 23
HLT

SCOPE

:CHARACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE 5
; CHARACTER LENGTH IS S BITS
:EXPECTED RECEIVED CHARACTER IS
;LINE SPEED IS 9600 BARUD

MOV #340,PS

MOV #400, JCOUNT
MOV 28, ESCAFE
MOV #8111, ADHSCR
MOV 37 TDATA

MOV £S5, JDHSCR

MOV s-1 JDHBC

MOV $TDATA, J0HBA
MOV £33500, JDHLPR
8IS 20, JOHLPR

MOV 40, JOHBAR
TSTB  JDHSCR

BPL 19

MOV JDHNRC . RY

MOV $102437,RS
CMP RS, R4

BEQ 2§

ML

SCOPE

:CHARACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE 5
; CHRRACTER LENGTH IS & BITS
;EXPECTED RECEIVED CHRRACTER IS
;LINE SPEED IS 9600 BRUD

MOV $340.PS
MOV #400, ICOUNT
MCV 23, ESCAPE
MOV #81}11, ADHSCR
MOV 877 T0ATA

MOV 85, 9DHSCR

MOV -1 JDHBC

MOV TDATA, JDHBEA
MOV 33500, 2DHLPR
BIS 81, aDHLPR

MOV #40, JDHBAR
TSTE  aDHSCR

BPL 18

MOV ADHNRC, RY

: CHARACTER LENGTH, DATA
:OR LINE NUMEER ERRCR

37

;DISABLE ALL INTERRUPTS

;SET UP FOR 400 ITERATIONS

:SET _UP TO ESCAPE TQ NEXT TEST

;MASTER CLEAR INTERFACE

; CHARACTER TO BE TRANSMITTED = 37(¢(JCTAL)
:SELECT LINE S

;SET UP TQ TRANSMIT 1 BYTE

;SET UP ADCRESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPEED FOR_ 9600 BAUC

:SET CHARACTER LENGTH FOR 5 BITS

:START _TRANSMITTER

;WAIT TO RECEIVE CHARACTER

+ (R4)=RECEIVED CHARACTER
IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

: (RG)=EXPECTED CHARACTER IN LOW BYTE
*AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

sARE EXPECTED AND RECEIVED DATA THE SAME

:CHARACTER LENGTH, DATR
:OR LINE NUMBER ERROR

e

:DISABLE ALL INTERRUPTS

;SET UP FOR 400 ITERATIONS

;SET UP TO ESCAPE TQ NEXT TEST

:MASTER CLEAR INTERFACE

:CHRRRCTER TO BE TRANSMITTED = 77(0CTAL)
+SELECT LIE S

:SET UP TO TRANSMIT 1 BYTE

;SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
+SET LINE SPEED FOR 9600 BRUD

:SET CHARACTER LENGTH FOR b BITS

:START TRANSMITTER

sWRIT TO RECEIVE CHRRACTER

1 R4 '=RECEIVED CHRRACTER
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1594
1535

1603 305118
1604
1605
1806
1607
1608
1629
1610
1611 005114
1612 003122
1613 005130
1614 005136
1615 005144
1616 005152
1617 Q305160
1618 0OS1E6
1619 DOE174
1620 005202
162l 005210

1623 0052z2
lee4 00522

1627 005230

1630 005234
1631 005236
1632 005240

1634 00S242

142  00Se4y
1643 DOSese

012705

10C375
017704

012705

023504
001401
10400C

104400

012787
012767
012767
012777
012787
012777
012777
012777

31-MRR-TE

16:08 PRGE 35

MOV

CHP
3EQ
HLT

SCOPE

103

:IN LOW BYTE, AND LINE NUMBER AND
: CHARACTER SYATUS IN MIGH BYTE
£102477 RS ;rn8)= XPECTED CHARACTER IN LOW 8YTE
'AND L INE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE
gg.nw :ARE EXPECTED AND RECEIVEC CATA THE SAME

: CHARACTER LENGTH, DATA
:OR LINE NUMBER ERRCR

:CHARACTER LENGTH TEST

: TRANSMIT 1 CHARRCTER ON LINE S

: CHRRACTER LENGTH IS 7 8ITS
;EXPECTED RECEIVED CHARRACTER IS 177
;LINE SPEED IS 9600 BRUC

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIS
MOV

1STB

BPL
MOV

MOV

CMP
Bed
HLT

SCOPE

340, PS :DISABLE ALL INTERRUPTS
2400 ICOUNT :SET UP FOR 400 ITERATIONS

28 ESCAPE :SET UP TO ESCAPE TO NEXT TEST

#8111, 3DHSCR :MASTER CLEAR INTERFARZE

2177, 70ATA :CHARACTER TO BE TRANSMITTED = 177(0CTAL)

#5 . ADHSCR +SELECT LINE §

s-] JOHBC :SET UP TO TRANSMIT 1 BYTE

#TDATA, aDHBA :SET UP ADDRESS OF CHARACTER TQ BE TRANSMITTEL
33500, aDHLPR :SET LINE SPEEC FOR 9600 SAUD

82, JDHLPR :SET CHARACTER LENGTH FOR 7 BITS

40, IDHBAR :START TRANSMITTER

?gﬂécn ‘WAIT TO RECEIVE CHARACTER

<DHNRC, R4 . (R4)=RECEIVED CHARACTER

<IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE
£102577.RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
-AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE
gg-ﬂ* :ARE EXPECTED AND RECEIVEC DRTA THE SAME

: CHARACTER LENGTH, DATA
+CR LINE NUMBER ERROR

: CHARACTER LENGTH TEST
: TRANSMIT 1 CHARACTER ON LINE §

: CHARACTER LENGTH IS 10 BITS
tEXPECTED RECEIVED CHARACTER IS 377
'LINE SPEED IS 9600 BAUD

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV

340, PS :DISABLE ALL INTERRUPTS

#4900, ICOUNT :SET UP FOR 400 ITERATIONS

2%, ESCAPE 'SET UP TO ESCAPE TO NEXT TEST

#81%11, JDHSCR :MASTER CLEAR INTERFACE

8377, TOATA :CHARACTER TO BE TRANSMITTED = 377(QCTAL)
%S, J0HSCR :SELECT LINE 5

s-1 J0HBC :SET UP TO TRANSMIT 1 BYTE

#TDATA, JDHBA :SET UP ADDRESS OF CHARACTER TJ BE TRANSMITTEL
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1650 005324
1631 0‘332

1835 Boedue
881 oce3es
1655 005359

1658 005380

1661 005354
1662 00S3ts
1663 005370

1eeS 0058372

173 DBOS374
1674 005402
1675 305410
1676 005416
1677 COS424
1678 00S432
1679 005443
1680 0OSH46
1681 0CSHSH
1682 00S4&2
1683 0OS47C
1684 00SH7E
1685 005502
1686 00S504

1689 00SSi0

1682 00SS1M
1693 005516
1694 008520

16%¢ 00SSee

1704 0OSS24
1705 (003532

20504
031401
104000

104400

012705

020504
001401
104009

104400

012767
012767

JO3

31-MRR-7%  16:08 PRGE 36

033500 OQICI72
200003 010184
0C040 O0l01eM4

10146 13:
010142

102777

29:

000340 172374 T3l1:
000400 010156
005522 010144
CO4000 C10074
000037 010166
000006 010060
1772777 010062
015620 010052
033500 010042
000300 010034
000100 019034
010016 1%:
010Gie

103037

2%:-

000340 172244 T32:

000400 010026

MOV 33500, SDHLPR :SET LINE SPEED FOR 9600 BAUD

BIS %3, JOHL :SET CHARACTER LENGTH FOR 10 BI"S
MOV aqﬁ aoHanR ;srn RT TRANSMITTER

égza xs DHSCR +WAIT TO RECEIVE CHARACTER

MOV JDHNRC . RY . \R4)=RECEIVED CHARQCTER

:IN LOW BYTE, AND LINE NUMBER AN
: CHARACTER SYATUS IN HIGH BYTE

MOV $102777.RS + (R5)=EXPECTED CHARACTER IN LOW BYTE
AND LINE NLMBER AND CHARACTER

:STATUS IN HIGH BYTE
ggg gg.aq +ARE EXPECTED AND RECEIVED DATA THE SAME
HLT : CHARACTER LENGTH, DATA

0P LINE NUMBER ERROR
SCOPE

:CHARACTER LENGTH TEST

s TRANSMIT 1 CHARACTER ON LINE &
:CHARRCTER LENGTH IS 5 BITS
;EXPECTED RECEIVED CHARACTER 1S 37
:LINE SPEED IS 9600 BAUD

MOV #340,PS ;OISABLE ALL INTERRUPTS

MOV #5400, ICOUNT 'SET UP FOR 400 ITERATIONS
MOV 23, ESCAPE :SET UP TO ESCAPE TO NEXT TEST

MOV #81t11, JDHSCR MASTER CLERR INTERFACE

MOV 37, TDATA ' CHARACTER TO BE TRANSMITTED = 37:0CTAL]
MOV P13 éouscn 'SELECT LINE 6

MOV -1, JDHBC +SET UP TO TRANSMIT 1 BYTE

MOV £TDATA, ADHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
MOV 33500 aOHLPR +SET LINE SPEED FOR 9600 BALD

BIS %0, J0HL PR :SET CHARACTER LENGTH FCR § BITS

MOV 100, J0HBAR :START TRANSMITTER

ggla as HSER WAIT TO RECEIVE CHARACTER

MOV JDHNRC , R4 - (R4)=RECEIVED CHARACTER

:IN LOW BYTE, AND LINE NUMBER AND
: CHARRCTER SYATUS IN HIGH BYTE

MOV #103037,R5 : (RS)=EXPECTED CHARACTER IN LOW BYTE
‘AND LINE NUMBER AND CHARACTER
'STATUS IN HIGH BYTE

CMp BSR4 ;ARE EXPECTED AND RECEIVED DATA THE SAMF
HLT ;CHARACTER LENGTH, DATA

ccOPE :OR LINE NUMBER ERROR

v

: CHARACTER LENGTH TEST

; TRANSMIT 1 CHARACTER ON LINE &

: CHARACTER LENGTH IS & BITS
;EXPECTED RECEIVED CHARACTER IS 77
:LINE SPEED IS 9600 BAUD

MOV #340,PS :DISABLE ALL INTERRUPTS
MOV $400, ICOUNT ;SET UP FOR 400 ITERATIONS
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005652
oo4cod
000077
000006

033500
000001
000100
007666

007682

103077

000340
00c40a
006002
004200
000177
000006
177777
015620
033500
000002
000100
007536

007532

183177

0C7704

172114
007676
007664
007614
007706
007600
007602
C07572
007562
007554
007554

18:

733

13:

2%:

KO3

16:06 PRGE 37

MOV 82% , ESCAPE
MOV #1111 J0HSCR
MOV #77 TDATA

MOV %6, JDHSCR

MOV -] FDHBC

MOV s TDATA. 3DHBA
MOV 33500, aDHLPR
BIS #1,J0H(PR

MOV #100, 30HBAR
TSTB  JDHSCER

BPL 18

MOV JDHNRC, RY4

MOV $103077.RS
CMP RS, RY

BEQ 23

HLT

SCOPE

: CHARACTER LENGTH TEST
: TRANSMIT 1 CHARACTER ON LINE &
: CHARACTER LENGTH IS 7 BITS
:EXPECTED RECEIVED CHARACTER IS
:LINE SPEED IS 9600 BALD

MOV %340, PS

MOV 400, ICOUNT
MOV 225, ESCAPE
MOV #8111, JDHSCR
MOV 8177, 704TA
MOV 86, JOHSCR

MCV s-1, JOHBC

MOV #TDATA, aDHBA
MOV $33500, 2DHLPR
BIS 82, a0HLPR

MOV 8100, aDHBAR
TSTB  JDHSLR

BPL 18

MOV JDHNRC, RY

MOV #103177,RS
CMP RS, R4

BEQ 2%

HLT

SCOPE

:CHARACTER LENGTH TEST
; TRANSMIT | CHRRRCTER ON LINE 6

:SET UP TO ESCAPE TO NEXT TEST
'MASTER CLEAR INTERFACE

! CHARACTER TG BE TRANSMITTED = 77(0CTAL)
ISELECT LINE b

:SET UP TC TRANSMIT 1 BYTE

!SET UP ADDRESS OF RHARACTER TO BE TRANSMITTED
:SET LINE SPEED FOR 9600 BAUD

:SET CHARACTER LENGTH FOR & BITS

:START TRANSMITTER

'HAIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHRRACTER
:IN LOW BYTE, AND LINE NUMBER AND

: CHARACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

ARE EXPECTED AND RECEIVED DAT~ THE SAME

: CHARACTER LENGTH, DATA
:0R LINE NUMBER ERROR

177

:DISABLE ALL INTERRUPTS

:SET UP FOR 400 ITERATIONS

:SET _UP TO ESCAPE TO NEXT TEST

;MASTER CLEAR INTERFACE

: cHARACTER TO BE TRANSMITTED = 177(QCTAL)
;SELECT LINE 6

;SET UP TO TRANSMIT I BYTE

:SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPEED FOR 9600 BAUD

; SET CHARRCTER LENGTH FOR 7 BITS

; START _TRANSMITTER

;WAIT TO RECEIVE CHARACTER

. {(R4)=RECEIVED CHARACTER
IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED CHRRACTER IN LCW BYTE
:AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE )
:ARE EXPECTED AND RECEIVED DATR THE SAME

: CHARACTER LENGTH, DATA
:OR LINE NUMBER ERROR
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1802 006172
1803 00E200
1804 00B20E
1805 00B21M
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000343
000400
006132
004000
000377
000006
177777
015620
033500
000003
002100
0074086

007402

103377

003340
000400
006262
004029
000037
000007
177777
015620
033500
000C00
800200
007256

007252

103437

171764
007546
007534
007954
007556
007450
007452
007442
007432
007424
007484

171634
007416
007404
307334
007426
007320
007322
007312
007302
007874
007874

T34:

19%:

2%:

T35:

13:

:CHARACTER LENGTH IS 10 BITS
+EXPECTED RECEIVED CHRRACTER IS 377
;LINE SPEED IS 8600 BAUD

MOV 1340, PS :DISABLE ALL INTERRUPTS

MOV 400 ICOUNT +SET UP FOR 400 ITERATIONS

MOV 2% E£SCAPE 'SET UP TO ESCAPE TO NEXT TEST

MOV #8111, JDHSCR :MASTER CLEAR INTERFACE

MOV 8377, TOATA : CHARACTER TO BE TRANSMITTED = 377(OCTAL)
MOV 86, IDHSCR 'SELECT LINE &

MOV -1 . 2DHBC :SET UP TO TRANSMIT 1 BYTE

MOV $TDATA, 3DHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
MOV 33500, IDHLPR +SET LINE SPEED FOR 9600 BAUD

BIS 3. 30H(PR :SET CHARACTER LENGTH FOR 10 BITS

MOV #100, 30HBAR :STPRT TRANSMITTER

7STB 0HSLER ‘WAIT TO RECEIVE CHARACTER

BPL 1%
MOV JDHNRC, RY4 ; (R4)=RECEIVED CHARACTER

+IN LOW BYTE, AND LINE NUMBER AND
; CHARACTER STATUS IN HIGH BYTE
: (RS)=EXPECTED CHARACTER IN LOW BYTE
;AND LINE NUMBER RAND CHARRCTER
;STATUS IN HIGH BYTE

MOV #103377,RS

ggg gg,nq :ARE EXPECTED AND RECEI'ED DATA THE SAME
HLT - CHARACTER LENGTH, DATA
SCOPE :0R LINE NUMBER ERROR

:CHRRACTER LENGTH TEST

; TRANSMIT 1 CHARACTER ON LINE 7
:CHARACTER LENGTH IS § BITS
;EXPECTED RECEIVED CHARARCTER IS 37
;LINE SPEED IS 9600 BRUD

MY $340, PS :DISABLE ALL INTERRUPTS

MOV 400 ICOUNT :SET UP FOR 400 ITERATIONS

MOV #2$, ESCAPE :SET UP TO ESCAPE TO NEXT TEST

MOV #81111 QDHSCR :MASTER CLEAR INTERFACE

MOV 37, TOATA : CHARACTER TO BE TRANSMITTED = 37(OCTAL}
MOV 87, 3DHSCR :SELECT LINE 7

MOV s-1, aDHBC !SET UP TO TRANSMIT 1 BYTE

MOV sTDATA, JOHBA :EET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
MOV 33500, JDHLPR :SET LINE SPEED FOR 9600 3ALD

BIS 40, 30H( PR :SET CHARACTER LENGTH FOR 5 BITS

MOV #200, S0HBAR :START TRANSMITTER

TSTB  J0HSER :WAIT TO RECEIVE CHARACTER

BPL 18
MOV JDHNRC, RY - (R4)=RECEIVED CHARACTER
+IN LOW BYTE, A*ID LINE NUMBER AND
: CHARACTER SYATUS IN HIGH BYTE
: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARRACTER
:STATUS IN HIGH BYTE
ggg gg.nu :ARE EXPECTED AND RECEIVED DATA THE SAME

MoV #103437,RS
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1818 006280 104200 HLT : CHARACTER LENGTH, DATA
1819 . A ;0R LINE NUMBER ERROR
igg? 006262 104400 28: SCOPE
1822 :CHARACTER LENGTH TEST
1823 : TRANSMIT 1| CHPRACTER ON LINE 7
1824 s CHARACTER LENGTH IS 6 BITS
1825 +EXPECTED RECEIVED CHARACTER 1S 77
iggg :LINE SPEED 1S 9600 BAUD
1828 006264 012767 000340 171504 T36: MOV 340, PS :DISABLE ALL INTERRUPTS
1829 006272 Jl1e767 000400 007266 MOV #400; ICOUNT :SET UP FOR 400 ITERATIONS
1330 006390 012767 00e4l2 007254 MOV #2%, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
1831 006306 012777 004000 007304 MOV #EI1t11, JDHSCR sMASTER CLEAR INTERFACE
1832 006314 Q12767 000077 007276 MOV 477, TDATA : CHARACTER TO BE TRANSMITTED = 77(OCTAL)
1833 006322 012777 000007 007170 MOV %7, JDHSCR +SELECT LINE 7
1834 006336 012777 177777 007172 MOV %-1 JDHBC :SET UP TO TRANSMIT 1 BYTE
1836 00633 C13777 015620 007162 MOV #TDATA, JDHBA :SET UP ADDRESS OF CHARACTER TC BE TRANSMITTED
1836 006344 013777 033500 007152 MOV #33500, gDHLPR ;SET LINE SPEED FOR 9600 BAUC
1837 006352 053777 000001 007144 BIS 81, aDHLPR sSET_CHARACTER LENGTH FOR & BITS
1§38 006360 013777 020200 O0J7144 MOV 200, 3DHBAR :START TRANSMITTER
1839 006366 105777 007126 15: TSTB  J0HSER sWAIT TO RECEIVE CHARACTER
1840 006372 102375 BPL 1§
184] QJ0E374 0I7704 007122 MOV aDHNRC , R4 : (RY4)=RECEIVED CHARACTER
1842 :IN LOW BYTE, AND LINE NUMBER AND
1843 : CHARARCTER SYATUS IN HIGH BYTE
1844 0COE400 0i2705 103477 MOV #103477 RS : (R5)=EXPECTED CHARACTER IN LOW BYTE
1845 :AND_LINE NUMBER AND CHARACTER
1846 :STATUS IN HIGH BYTE
1847 0O0B404 020504 CHP RS, RY sARE EXPECTED AND RECEIVED DATA THE SAME
1848 006406 091401 BEQ 28
1849 006410 104000 HLT :CHARACTER LENGTH, DATA
1850 ;OR LINE UMBER ERRCR
%ggg 006412 104400 23: SCOPE
ot
1853 : CHARACTER LENGTH TEST
1854 : TRANSMIT 1 CHARACTER ON LINE 7
1858 : CHARACTER LENGTH IS 7 BITS
1856 ;EXPECTED RECEIVED CHARACTER IS 177
;ggg ;LINE SPEED IS 9500 BAUD
400
1859 0CB414 012767 000340 171354 T37: MOV 8340, PS :DISABLE ALL INTERRJPTS
1860 00e422 Q12767 000400 007136 MOV 400, ICOUNT 1SET UP FOR 400 ITERATION:
1861 006430 012767 006542 007124 MOV 823, ESCAPE _ :SET_UP TO ESCAPE TQ NEXT TEST
1862 00E436 012777 004000 007054 MCY B1111, JDHSCR 'MASTER CLEAR INTERFACE
1863 006444 012767 000177 007146 MOV 177, TORTA :CHARACTER TO BE TRANSMITTED = 177{JCTAL)
1864 006452 012777 000007 007040 MOV %7, JOHSCR 'SELECT LINE 7
1865 006460 012777 177777 007042 MOV %-] IDHBC sSET UP TO TRANSMIT 1 BYTE
1BE6 006466 012777 015620 007032 MOV #TDATR, aDHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
1867 006474 019777 023500 007022 MOV #33500, aDHLPR :SET LINE SPEED FOR 9600 BALD
1868 00ES02 052777 000002 007014 BIS #2, dOHLPR sSET CHARACTER LENGTH FOR 7 BITS
1869 00eS10 012777 000200 007014 MOY 200, 3DHBAR- - :START TRANSMITTER
1870 0C6S16 105777 006778 18: TSTB  CHSER sWAIT TO RECEIVE CHARACTER
1871 (0CBS22 100375 BPL 13
1872 006524 017704 006772 MOV 3DHNRC, R4 s \R4)=RECEIVED CHARACTER

18723 :IN LOW BYTE, RND LINE NUMBER ANC
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103577
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TY40:

1%:

2%:

TY1:

NO3

16:08 PAGE 40

: CHARACTER STATUS IN HIGH BYTE

: (RG)=EXPECTEC CHARACTER IN LOW BYTE
:AND_LINE NUMBER AND CHARACTER
:STATUS IN HIGH BY'E

MOV #103577 RS

ggz gg.RH sARE EXPECTED AND RECEIVED DATA THE SAME
HLT :CHARACTER LENGTH, DATA

:CR LINE NUMBER ERROR
SCOPE

; CHARACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE 7
:CHRRRCTER LENGTH IS 10 BITS
;EXPECTED RECEIVED CHARACTER IS 377
;LINE SPEED IS 9600 BAUD

MOV £340, PS :DISABLE ALL INTERRUPTS

MOV #4900 ICOUNT :SET UP FOR 400 ITERATIONS

MOV %23 . ESCAPE :SET UP TO ESCAPE TO NEXT TEST
ngg #81111, DHSCR :MASTER CLEAR INTERFACE

MOV %7, IDHSCR -SELECT LINE 7

MOV s-1 JDHBC :SET UP TO TRANSMIT 1 BYTE
MOV sTDATR, 2DHBA
MOV 33500, IDHLPR

;SET LINE SPEED FOR_9600 BAUD
§IS #3, dDHLPR

;SET CHARACTER LENGTH FOR 10 BITS

MOV IEOUABDHBQR :START TRANSMITTER
égls JDHSER :WAIT TO RECEIVE CHARACTER

1§
MOV aDHNRC, R4 ; (R4)=RECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER AND
: CHARACTER STATUS IN HIGH BYTE -
: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND_LINE NUMBER AND CHARACTER

; STATUS IN HIGH BYTE

MOV %103777 RS

ggs SE,RH ;ARE EXPECTED AND RECEIVED CRTR THE SAME
HLT ; CHARRACTER LENGTH, DRTA

:0R LINE NUMBER ERROR
SOPE

; CHRRACTER LENGTH TEST

: TRANSMIT 1 CHARACTER IN LINE 10

; CHARACTER LENGTH IS S BITS
:EXPECTED RECEIVED CHARACTER IS 37
; LINE SPEED IS 9800 BAUD

MOV %340, PS
MOV #4900, ICOUNT
MOV 2%, ESCAPE
MOV #81t11, aDHSCR
MOY $37. TDATA

MOV #10, 3DHSCR :SELECT LINE 10

MOV #-1 JDHBC :SET UP TO TRANSMIT - BYTE
MOV #TDATA, JDHBA
MOV 33500, IDHLPR

;DISABLE ALL INTERRUPTS

+SET UP FOR 408 ITERATIONS
;SET_UP TO ESCAPE TOQ NEXT TEST
:MASTER CLEAR INTERFRCE

:SET LINE SPEED FOR 9800 BAUC

%377, TDATA :CHARACTER TO BE TRANSMITTED = 377(0CTAL)

:SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED

:CHARACTER TO BE TRANSMITTED = 37{0CTAL)

:SET UP ADDRESS OF CHRARACTER TS BE TRANSMITTED
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£33qEg . pr
1930 008 a=== 003000 00534 BIS 232, JDHLPR :3ET CHARACTER LENGTH FOR S BITS
1631 355;?5 S?Srr? gﬁgqﬁo BEeE34 MOV 8480, aDHBAR :5TARY TRANSMITTER w e
183 Qoo 105170 GOeSls 1s: 1378 agustn :WAIT TO RECEIVE CHARACTER
xegq Sﬁfﬁcu ﬁIF?bq 0nES:2 MOV 5oannc.aw s R4)=RECEIVED CHARACTER
335 {IN LOW BTE, BND o INE NUMEER AN
3% | : CHARACTER S2ATUS IN WIGH BITE
§3° 0IT0I1d CI2TXS IONORT 3, 8104037 RS : (RS ) =EXPECTED CHARACTER IN LOW BYTE
338 ;800 LINE NLMEER CHARACTER

'STATUS IN HIGH BYT

40 £ITOI4 C20SOM MP RS.RY :ARE EXPECTED AND RECEIVED DATA T-E SAME
# Tk G 53 28

5 B3~%33 IA4C Lt . CHARACTER LENGTH. DATA

3 :0R LINE NUMBER EARCR

§ud 207022 104NO0 2% SCOPE

SRR

;CHARACTER LENGTH TEST

: TRANSMIY 1 CHAPACTER ON LINE 12
:CHARACTER LENGTH IS = BITS
{EXPECTED RECEIVED HARACTER IS 177

83

]
1
i
1
i
!
L
1945
14E : CHARASTER LENGTH TEST
1947 :TRANSMIT | CHARACTER ON LIME 1C
1948 : CHARACTER LENGTH IS & BITS
1943 :EXPECTED RECEIVED CHARACTER IS 77
1350 :LINE SPEED IS 9600 BALD
1952 DONC24 DIETRT  £OS34O0  ITO7H4 THE: MOV 8340, PS :DISRBLE ALL INTERSUPTS
1883 36°n3 Digrer DEC43) 006326 MCy #40C, JCOUNT :SET UP FOR 400 ITERATIONS
1854 CONOG] QlSter DAS182 QQeEld vy 928, ESCAPE :SET UP T0 ESCAPE TO NEXT TEST
1655 357048 012077 OOWAR0  ORESHM N3, 81111, J0HSCR :MASTER CLEAR INTERFACE
135 0Jros+4 Qigrer DOOOCP7  CCES3s M3V 877, TDATA :SHARACTER TO BE TRANSMITTED = 77:0CTAL:
(3BT ZoTOee fianer CCO0)0 £0ed3s M3y 810. 30HSCR :SELECT LIME IC
1S3 ABMERE EIZNey Toorer 006432 My #-1, aDHAS 1SET LP TO TRANSMIT 1 BYTE
1389 OCTO76 Jignry QiSEgD CCEN2 MOy #TCATA, 304BA :SET JP ADDRESS OF CHARACTER TC BE TRANSMITTED
18E2 BOhioy Eigrrr B33SEE IRe4) My $33500, JOHLPR :SET LINE SPEED FOR 3800 BAUD
361 60r1iZ 062777 D0OCSI  O0e+04 B: 2, JOHLPR ;SET CHARACTER LENGTH FOR 6 8173
1362 07183 Olgtr7 OEAGAC  I8g434 M3V #4030, STHBAR :SYART TRANSMITTER
192 057126 10E777 CDE3EE 13 TST  32HSLR :WAIT TO RECEIVE CHARACTER
i34 307133 I5E3TT 5oL 13
;e £I7134 JITP04 ooeles MY JCHNRC, RY : R4I=RECEIVED CHARACTER
13€E S IN LW BY®E. AND LINE NUMBER AND
GET - : cHARACTER SYATUS IN HISH BYTE
1SE8 Q07140 212708 10407 MG/ 8124077, %5 : (RS)=EXPECTEC CMARRCTER IN LW BYTE
;363 NG LINE NUNSER AND SHASRCTER
1878 tSTATUS IN HIGH BYT _
1971 0O7i%4 220504 CMP  RS.RY ;ARE EXPECTED AND RECEIVED DRTA HE SAME
19?3 pik 0’138* BE 23
jo7% B%71s8 1p40sd , AL :CHARACTER LENGTH, DATA
1974 ) :0R LIMNE NUMBER ERRCR
1975 007152 104400 28 SCOPE
1
.
igax :LINE SPEED IS 9600 BALC
1983 07154 (012767 00C340 170614 T43: MOV 8340, PS :DISRBLE ALL INTERRUPTS

1564 007162 512767 000400 026276 MOV $400, 17 JUNT tSET JP FOR 900 ITERATICNS

13ec 207,70 Cig7e7 007302 00634 MOV 823, ESCAFE :SET JP TO ESCAPE TJ NEXT TEST

:
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1986 00TITH 212777 004000 9263I4 MOV 881711, JDHSIR :MASTER CLEAR INTERFACE
iger 8072 oie; v Sonxrr gcgggg oV :igrbggggg ;%Engg TE?~E°1EE TRAMGMITTED = 177(CCTALY
1385 BRsBif Risodc ORNQIQ FRbded MY a1 JDnBS {ZE¥ P ¥0 TRANGMIT 1 BYTE
1330 "3553 gzs;;: T MOV #TDATA. JOHBA :SET UP ACDRESS OF CHARACTER T4 BE TRANSMITTED
193] £O: jor7r 833500 206363 MoV 83350C, JOHLPR :SET LINE SPEED FOR 9600 BAUD
1933 50242 usgrrr 0OOCC2  BCBZSM 81s 82, JOHLPR :SET_CHARACTER_LENGTH FOR 7 BITS
19 0250 0lérrt 000400 006354 M3V #40C, SOHBAR :ETART TRANSMITTER
193~ 207256 1DS77C  CCBR36 $.  T137B  JCHSCR ;WHAIT TO RECEIVE CHARACTER
1995 2O°3E2 180373 q B5L 18
193 037284 Q17794 0CB232 MOV JDHNRC , RY ; (R4)=RECEIVED CHARACTER
19§: :IN LOW SYTE, AND LINE NUMBER AND
1398 :CHARACTER SPATUS IN HIGH BVTE
1339 GIraT0 0127058 13W1TT MOV 8104177 RS : (RS)=EXPECTED CHARACTER IN LCW BYTE
550 :AND LINE NUMBER AND CHARAZTER
Halj! :STATUS IN HIGH BYTE
£32 poTEre 02053 CME RS.RY :RRE EXPECTED AND RECEIVEC DATA THE SAME
2003 JSTEte £3I4C: BEQ 2§
204 0or3nd 104032 HLT :CHARACTER LENGTH, DATA
2005 :OR LINE NUMBER ERRCR
250 007302 129420 28: SCOPE
£coe :CHARACTER LENGTH TEST
3233 : TRANSMIT | CHARACTER OF _INE 12
22i0 ;CHRRACTER LENGTH IS 10 BITS
Hol§l :EXPECTED RECEIVED CHARACTER 1S 377
Zi.¢ :LINE SPEED IS 9600 BAUD
:U.U
Z2i4 007304 (12767 000340 ITOMEM THd: MOV 8340, PS ;CISRBLE ALL- INTERRPTS
Z2iE %0312 DBigre7 ODONOD 006246 MOV %400, ICQUNT 1SET UP FOR_4C0 ITERATIONS
Z0ip 037330 n1gre? 007432 006234 MOV 028, ESCAPE sSET_UP TO ESCAPE T2 NEXT TEST
£017 0Cr326 012777 0OMO0C CO6IEY MOV 81111, JOHSCR ;MASTER CLEAR INTERFACE
2018 58733 Q012767 000377 00625k MOV 8377, 1AaTA : SHARACTER YO BE TRANSMITTEC = 377(OCTAL)
2019 DZ7342 012777 000010 006I50 MOV #10, JDHSCR :SELECT LINE 10
222 0C7350 012777 177777 00652 MOV #-1 J0MBS :SET UP TO TRANSMIT 1 BYTE
£221 007386 012777 015620 Q06148 MOV sTOATA, 20HBA :SET UP ADDRESS OF CMARACTER TO BE TRANSMITTED
202z JO73kM 012777 033500 006132 MOV #3350C, JOHLPR ;SET LINE SPEED FOR_9600 BAUD
2Cc3 007372 052777 00003 O00B1aM 815 83, aDHLPR :SET CHARACTER LENGTH FCR 10 BITS
2Ce4 007400 Dlg7zr Q00400 206124 MOY %400, 0HBAR :5TART _TRANSMITTER
2025 007406 108777 006106 18: 75T JOHSER tKRIT TO RECEIVE CHARACTER
2026 CO0r4i2  10037s BPL 13
21z7 007414 D17704 006! MOV JCHNRC,RY : (R4I=RECEIVED CHARACTER
2 ;IN LOW BYTE, AND LINE NUMBER AND
£029 : CHARACTER STATUS IN HIGH BYTE
2030 007420 012705 10437 MCY 8104377 RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
2231 :AND_LINE NUMBER ANC CHARACTER
2532 1STATUS IN HIGH BYTE
£033 007424 020504 (P  RS,R4 - - ;ARE EXPECTED ANC RECEIVED DATA THE SAME
£C3% 00743p OCINDL BEQ 2§ |
2332 037439 104OCT HLT : CHARACTER LENGTH, DATR
Flokc 12 :0R LINE NUMBER ERROR
ge37 CC7HR 104403 25: SCOPE
48K
£233 : CHARACTER LENGTH TEST
et : TRANGMIT 1 CHARACTER 3N LINE 1l
201 :CHARACTER LENS™H IS § BI'S
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31-MRR-TS  16:08 PRGE 43

Q02340
000400
noTsk2
004200
00003«
002C11

q "y
&l o £ ¢ 14

015629

238838

201300
S087%h

go57se

139437

CaCa4d
003420
007712
004000
800077
000011
172777
015620
033500
co0001
001000
005626

00See2

104477

;EXPECTED RECEIVED CHARACTER IS 37

:LINE SPEED IS 9600 BAUD
170334  T4S: MOV 8340, PS

006116 MOV ¢490 . ICOUNT
306104 MV 3§ ESCAPE
006534 MOV #BI1*11, IDHSCR
006126 MOV 837, TDATA
00820 MOV 811, JOHSCR
00602z MOV 8-1’ ADHBC
90£012 MOV $TDATA, JDHBA
00p 202 MO\ 33500, 2CHLPR
sl i 3is 20, JOH PR
gng™~y MY 21000, 30HBAR
18 *STB JCHSJR
35_ 18
MOV SDHNRC, R4
MOV 8104437.RS
MP RE, R4
BEQ 33
MLT
23: S5CIPE
: CHARACTER LENGTH TEST
:TRANSMIT | CHARACTER N LINE il
: CHRRACTER LENGTH IS & BITS
:EXPECTED RECEIVED CHARACTER IS
LINE SPEED 1S 9600 BRUC -
170204 T46: MOV 8340, °5
00S7EE MOV 8400  ICOUNT
005754 MOV 828, £SCAPE
005734 MOV 8BIt11. QDHSCR
005776 MOV 877, TDATA
005670 MOV 811, 30HSCR
005672 MOV s-1. J0HBC
005862 MOV sTDATA, 3DHBA
00EESZ MOV $33500. JDKLFR
005544 BIS 81, aDH(FR
005644 MGV 21000, JOHBAR
18: TSTB  JCHSCA
BPL 13
MOV ADHNRS , RY
MOV 8104477 RS
CMP RS, RY
Egg 23
- !

;DISABLE ALL INTERFUPTS
1SET UP FCR 400 ITERATIONS

;SET_UP TO ESCAPE 10 NEXT TEST

:MASTER CLEAR INTERFACE

:CHARACTER 1O BE TRANSMITTED = 37(0CTAL)
;SELECT LINE 11

'SET UP TO TRANSMIT 1 BYTE

:SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
:3ET LINE SPEED FOR 9600 BAU

:SET CHARACTER LENGTH FOR S BITS

:START TRANSMITTER

;WAIT T0 RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

+ (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHRRACTER

:STATUS IN HIGH BYTE

ARE EXPECTED AND RECEIVED DATA THE SAME

+ CHARACTER LENGTH, DATR
:OR LINE NUMBER EAROR

o and

;DISABLE ALL INTERRUPTS
:SET UP FOR 400 ITERATIONS

:SET_UP TO ESCAPE T2 NEXT TEST

tMASTER CLERR INTERFACE

:CHARACTER T0 BE TRANSMITTED = TTi3CTAL)
;SELECT LINE 11

1SET UP TC "RANSMIT ! BYTE

:SET UP ADDRESS OF CHARACTER TC BE TRANSMITTED
:SET LINE SPEED FOR 980C BALD

:SET_CHARACTER LENGTH FOR & BiTS
:START_TRANSMITTER

:WAIT TO RECEIVE CHARACTER

: (R4IZRECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER AND

+ CHARRCTER STATUS IN HIGH BYTE

: (RSV=EXPECTED. JHARACTER IN LJW BYTE
:AND LINE NUMBER AND CHRRRCTER

:STATUS IN HISH BYTE

RRE EXPECTED AND RECEIVED DATR THE SAME

{CHRRACTER LENGTH, CRTA
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2098 :CR LINE NUMBER ER®CR

033 07712 124400 28: SCOPE

101 :CHARACTER LENGTH TEST

102 : TRANSMIT | CHARACTER ON LINE 1!

103 :CHARACTER LENGTH 1S 7 BITS

104 :EXPECTED RECEIVED CHARACTER 1S 177

125 :LINE SPEED IS 95C0 BALD

107 Q07714 QI2Ter 000340 }7O0SH THY: MOV w34Q.PS :DISABLE ALL INTERRUPT

35 BR5Lh: Alsthr ¥RRINR A2Ra MOV $ 00 ICOUNT {BE7 0B FOR- 400 1TERATIONS

109 Q0030 212767 010042 Q0SE24 MOV 823, ESCAPE 1SE” UP TO ESCAPE TO NEXT TEST

10 007736 D12777 0DO4OO0 0OSSSH Mov  #BIYI1 JDHSCR :MASTER CLEAR INTERFACE

11 GOr744 Q127k7 000177 Q05646 MOV 8177, TDATA ; CHRRACTER T0 BE TRANSMITTED = 177:2CTAL.
112 007752 Ol2r77 009011 005E40 MOV #11, JOHSCR sSELECT LINE 11

13 007TB0 Q18777 177777 0OBEW2 MOV #-1, JOHBC :SET UP TO TRANSMIT 1 BYTE

14 0077e6 0l2c? 015620 005532 MOV #TDATR.JDHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
1S Q07774 012777 033500 005522 MOV 33500, JDHLPR :SET LINE SPEED FOR 9600 BALD

16 010002 053777 000002 0QSSI4 BIS 82, JOHLPR ;SET_CHARACTER LENGTH FOR 7 B81ITS

i? 010010 012777 001000 005514 MOV #100C, 3DHBAR :START TRANSMITTER

18 QI1C01e 105777 DOS476 18: TSTB  @DHSCA {MAIT TO RECEIVE CHARACTER

13 QICC2z 10D37S BPL

18
010024 OI7704 005472 MOV QCHNRC,RY ; (R4)=RECEIVED CHARACTER
;IN LOW BYTE, AND LINE NUMBER AND
- ; CHARACTER SYATUS IN HIGH BYTE
910030 012705 104577 MOV #104577,RS : \RG)=EXPECTED CHARACTER IN LOW BYTE
:AND_LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

MU DO DoMUY oo oD PR o NN NN RNV VMRV IRV IV PO TVIVRD MUV U N TV TV TUNIY

i
1
i
1
1
1
1
1
1
1
128
121
122
123
58
126 017034 020504 CMP RS, R4 :ARE EXPECTED ANC RECEIVED DRTA THE SAME
127 061003 001401 BEQ 28§
128 C130%0 104000 HUT : CHARACTER LENGTH, DATA
129 :CR LINE NUMBER EAROR
;39 0i0342 104409 2s: SCOPE
132 : CHARACTER LENGTH TEST
133 : TRANSMIT 1 CHARACTER ON LINE 1
©34 : CHARACTER LENGTH IS 10 BIT
135 :EXPECTEC RECEIVED CHARACTER IS 377
igg : LINE SPEED IS 9600 BAUD
4
138 012044 012767 000340 167724 7150: MOV #8340, P :CISABLE ALL INTERRLPTS
139 0i0Cs2 312767 000400 (005506 MOV #5300 ICOUNT :SET UP FOR 400 ITERATIONS
149 QI90EC 012767 010172 0OE474 MOV 223, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
141 QiC066 012777 GO4000 0OS4e MOV #81%11, 3DHSCR MASTER CLEAR INTERFACE
is2 010074 0!27e7 000377 005Sie MOV 377, THATA *CHARACTER TO BE TRANSMITTED = 37T (JCTAL)
143 010102 £12777 000011 O0OS4:C MOV 811, JdCHSCR sSELECT LINE 11
144 010i10 012777 177777 00BNie MOV -1 JDHBC :SET UP TO TRANSMIT 1 BYTE )
14 Qi0116 0le7?77 01520 008402 MOV $TCATR, J0HBA +SET UP ADCRESS OF cHARACTER TO BE TRANSMITTED
146 010124 012777 03300 005372 MOV 33500, 3CHLPR +SET LINE SPEED FOR 9600 BRUD
47 010132 052777 000003 005364 B1S 33, J0H( PR :SET CHRRACTER LENGTH FOR 10 BITS
{48 010140 012777 001000 COS364 MOV 21000, JOHBAR :START TRANSMITTER
43 010146 105777 GOS346 13: 7STB  @DHSCR :WAIT TO RECEIVE CHARRCTER
150 01fise 10037% BPL 18
1] Ci2184 017708 008342 MOV JDHNRC, RY + (RY)=RECEIVED CHARACTER
R :IN _OW BYTE, AND LINE NUMBER AND
153 : CHARACTER SYaTUS IN HIGH BYTE
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2154 010160 Q12705 104777 MoV 8104777 RS : (RS)=EXPECTED CHARACTER IN LCW BYTE
2155 ;R?DTLéNENNUMEER AND CHARACTER
£128 010164 ga050Y CMP RS, RY §ERE Exptt BB AnE PEce 1veD DaTa THE SemE
2158 010166 GQI40} BEQ 28
2153 010170 1040CC HLT s CHARACTER LENGTH, NATA
2160 ) :0R LINE NUMBER ERROR
g}gé 0I1C172 104400 28: SCOPE
Ca
2163 :CHARACTER LENGTH TEST
2164 : TRANSMIT | CHARRCTER ON LINE 12
2185 :CHARACTER LENGTH IS 5 BITS
2186 :EXPECTED RECEIVED CHARACTER IS 37
S;gg ;LINE SPEED 1S 9600 BAUD
£189 010174 012767 000340 167E74 TSi: MOV R34C, PS :DISABLE ALL INTERRUPTS
2179 21520 0isv6” 000400 0O0S3Se MOV #400, ICOUNT :SET UP FOR 400 ITERATIONS
2171 010210 012767 010322 005344 MGV #23, ESCAPE ;SET_UP TC ESCAPE_TO NEXT TEST
2ire 01G21e 012777 CO4G00 00527 MOV #81111, JDHSCR ;MASTER CLEAR INTEREACE
2173 010224 012767 000037 "0OS3e6 MOV #37, TDRTA ;CHARACTER TO BE TRANSMITTED = 37(0CTAL)
2174 018232 012777 000012 JOS2EQ MOV #12. IDHSCR :SELECT LINE 12
2175 01C34C 018777 177777 005362 MOV #-1, JDHBC :SET UP TO TRANSMIT 1 BYTE
2176 010246 012777 015620 005252 MOV #TDATA, JDHBA ;SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
ci7? J1C354 Q12777 033500 0065242 MOV #33500, J0HLPR :SET LINE SPEED FOR_96C0_BAUD
2178 010262 0S2777 0OCOCQ 0OS234 BIS #C, JDHLPR ;SET_CHARACTER LENGTH FOR § BITS
2179 210270 012777 002000 005234 MV #2000, JOHBAR :START _TRANSMITTER
2180 013276 105777 C0S216 18: TSTB  JDHSCR :WAIT TO RECEIVE CHARACTER
gl81 3108302 13037% BPL 13
2182 010304 017704 QOs212 MOV JDHNRC, RY ; (R4)=RECEIVED CHARACTER
2183 :IN LOW BYTE, AND LINE NUMBER AND
2184 : CHARACTER SYATUS IN HIGH BYTE
£185 (010310 (012705 105037 MOV #105037,RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
2186 :AND LINE NUMBER ANC CHARACTER
£187 :STATUS IN HIGH BYTE
2188 010314 020504 CHP RS.RY :ARE EXPECTED AND RECEIVED DATQ THE SAME
2183 010316 031391 BEQ 23
2190 0i50320 104C0C HLT :CHARACTER LENGTH, DATA
2181 ] ;OR LINE NUMBER ERROR
gig2 (010322 104400 2%: SCOPE
2134 ;CHARACTER LENGTH TEST
2195 s TRANGMIT 1 CHARACTER ON LINE 12
2196 ;CHARACTER LENGTH IS & BITS
£197 ;EXPECTED RECEIVED CHARACTER 1§ 77
elde ;LINE SPEED IS 9600 BAUD
2200 010324 012767 000340 167444 T52: MOV ¥340, PS ;DISABLE ALL INTERRUPTS
c20l 010332 012767 000400 Q05226 MOV #400, ICOUNT ;SET UP FOR 400 ITERATIONS
2202 010340 012767 010452 005214 MOV ¥23 , ESCAPE ;SET_UP T ESCAPE_TO NEXT TEST
2203 010346 012777 004000 005144 MOV #8It11 DHSCR :MASTER CLEAR INTERFA“E
2204 010354 012767 000077 005236 MOV 877, TDATA :CHARRCTER TC BE TRANS:.ITTED = 77(OCTAL:
2205 010362 012777 00OC12 005130 MOY 812, JDHSCR :SELECT LINE 12
oc0E 016370 018777 177777 005132 MOV s-1 JDHEC :SET UP TO TRANSMIT 1 BYTE
2207 013376 012777 Q15620 DOS122 MOV #TDATR, JDHBA ;SET UP RDDRESS OF CHARACTER TO BE TRANSMITTED
2208 010404 012777 033500 005112 MOV #33500, dDHLFR :SET LINE SPEED FCR_ 9500 BAUD
2229 013412 CS2777 00000 0OS10M BIS #1,J0HLPR ;SET CHARACTER LENGTH FOR & BITS
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2210 010420 012777 002200 03510 MOV #2000, JDHBAR :START TRANSMITTER
221 QI0N26 10577 (005066 18: TSTB  J0HSCR WAIT TO RECEIVE CHARACTER
2212 019432 100375 BPL 18
2213 010434 O0I7T04 005282 MOV QDHNRC . RY : (R4)=RECEIVED CHARACTER
2214 +IN LOW BYTE, AND LINE NUMBER AND
2215 . . s CHARACTER SYATUS IN HIGH BYTE
2216 0I10W40 012705 105077 MOV #105077.RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
gel’ ;AND_LINE NUMBER AND CHRRACTER
cgi8 - :STATUS _IN HIGH BYTE
2213 Q10444 DZ0S04 CMP RS, R4 *ARE EXPECTED AND RECEIVED DATR THE SAME
2220 010446 OCI4G! BEQ 23
22z 010450 104000 HLT : CHARACTER LENGTH, DATA
2gee :OR LINE NUMSER EAROR
sgsa 010452 104400 28: SCOPE
&
£225 - CHARACTER LENGTH TEST
2226 : TRANSMIT 1 CHARACTER ON LINE 12
2227 : CHARACTER LENGTH IS 7 BITS
2228 EXPECTED RECEIVED CHARACTER IS 177
gggg :LINE SPEED IS 9600 BAUD .
fd
2231 01045+ 012767 000340 167314 T53: MOV 340, PS :DISABLE ALL INTERRUPTS
2232 0I1Q462 012767 000400 00S076 MOV $400, ICOUNT 'SET UP FOR 400 ITERATIONS
2233 Q10470 013767 01Ce02 0O0S0&Y MOV 22§, £SCAPE :SET UP TO ESCAPE TO NEXT TEST
2234 010476 Q12777 004000 00S0I4 MOV 881111, 3DHSCR MASTER CLEAR INTERFACE
2235 3210504 Clo7e? 000177 005106 MOV 2177 TDATA :CHARACTER TO BE TRANSMITTED = i77(CCTALY
2236 C10512 Q0i2r-7 000012 005000 MOV 812.J0HSCR :SELECT LINE 12
£237 G13820 012777 177777 005002 MOV 8-1, J0HBC +SET UP TO TRANSMIT 1 BYTE
2238 012536 Q12777 0l5e20 005772 MOV $TDATR, J0HBA SET UP ADDRESS CF CHRRACTER TJ 2€ TRANSMITTED
2239 010834 (12777 033500 0047e2 MOV #335C0, JDHLPR +SET LINE SPEEC FOR 9600 BAUD
224C 010542 052777 000002 004754 BIS 82, 30R{ PR :SET cHARACTER LENGTH FOR 7 BITS
Se4l 010850 012777 00200C 004754 MOV 2000, 3DHBAR :START TRANSMITTER
2242 0i0SS6 105777 004736 18: TSTB  I0HSCR WAIT TO RECEIVE CHARACTER
2242 010562 100375 3PL 18
2254 010864 017704 OCo4732 MOV ACHNRC, RY : \R4)=RECEIVED CHARACTER
2245 +IN LOW BYTE, AND LINE NUMBER AND
2246 :CHARACTER SYATUS IN HIGH BYTE
2247 010570 012705 105177 MOV 8105177 .RS s (RS)=EXPECTED CHARARCTER IN LOW BYTE
2048 :AND LINE NUMBER AND CHARRCTER
2249 :STATUS IN HISH BYTE
2250 010574 020504 CMP RS, R4 RRE EXPECTED AND RECEIVED DATA THE SAME
2251 010576 001401 BEQ 2%
2252 010600 104000 HLT : CHARRCTER LENGTH. DATA
£253 X ) ;OR LINE NUMBER ERROR
Sggg' 010602 104400 28: SCOPE
2256 : CHARACTER LENGTH TEST
2257 : TRANSMIT 1 CHARACTER ON LINE 12
2eta : CHARACTER LENGTH IS 10 BITS
2259 EXPECTED RECEIVED CHARACTER 1S 377
SQE? :LINE SPEED IS 9600 BALD
c
2262 010604 012767 000340 167164 TS4: MOV 340, PS :DISABLE ALL INTERRUPTS
2263 (10612 012767 000400 004746 MOV £400  ICOUNT :SET UP FOR 400 ITERATIONS
264 010620 012767 010732 004734 MOV 823, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
2265 010626 012777 004000 0O4&6M MOV sBIt11, 3DHSCR *MASTER CLEAR INTERFACE
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2266 010634 Q12767
2267 Q10642 Q12777
2268 0106580 0127?77
2269 010656 012??2
2270 010e6d 012777
227! Cl0&72 082777
garg 010700 Clez7v
€273 Q10706 10ST™
2274 Qi07i2 100375
eSS Q10714 C17704
eev
=-hn
278 QI0722 01270¢S
227
2280
2281 (10724 020504
2282 0:3726 001401
ccB83 Q10730 108000
2284
2285 Q010732 104400
28t -
., ¢e87
- 2288
2289
2290
229}
2232
ee83 QCI0734 012767
ee4 010742 012767
2235 (0107580 012767
22% 0137%6 0lz27
€297 010784 012787
2c98 010772 012777
€299 011000 D12777
2300 011006 012777
2301 Ol1914 012777
230 011022 0Se777
2303 011030 012777
2304 011036 1058777
2305 011242 100375
2306 GCl1044 0217704
2337
23C8
€209 011050 012705
2310
011054 020504
011056 001801
011060 104000
104400

31-MAR-

000377
000012
177777
015620
033500
000003
002000
004605

004&02

1058377

6CO340
000400
011062
00460
000037
000013
177777
015620
033500
000020
004000
OCH456

004432

105437

-

004756
0Qu46S0
004652
oc4e42
0Q4e32
00462
0Cye2v

167034
004616
004604
CoHS34
004626
004520
004522
0g4sie
004502
COo4474
004474

18:

28:

1%:

23:

16:08 PAGE 47

MUV
MoV
MOV
MoV

cHpP

BEQ
HLT

SCOPE

HO4

8377, TDATA
%12, JDHSCR
#-1 . JOHBC
#TDATA, JDHBA
33500, aDHLPR
23, JOHLPR
22000, 9DHBAR
JDHSCA

13
JOHNRC, R4
#105377,RE

RS, R4
23

:CHARACTER LENGTH TEST
; TRANSMIT 1 CHARACTER ON LINE 13

; CHRRACTER LENGTH IS § BITS

s CHRRRCTER TO BE TRANSMITTED = 377(0CTAL,
+SELECT LINE 12

:SET UP TO TRANSMIT 1 BYTE

;SET UP ADDRESS OF CHARACTER TG BE TRANSMITTED
:SET LINE SPEED FOR 9600 3AUD

;SET CHARACTER LENGTH FOR 10 8ITS

; START _TRANSMITTER

:WRAIT TO RECEIVE CHARACTER

- (R4)=RECEIVED CHARACTER
-IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

: 'RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

‘STATUS IN HIGH BYTE

:ARE EXPECTED AND RECEIVED DATA THE SAME

«CHARACTER LENGTH, DATA
:OR LINE NUMBER EARROR

;EXPECTED RECEIVED CHARACTER IS 37

;LINE SPEED IS 9600 BRUD

MoV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIS
MOV
1578
BPL
MOV

MOV

cHP
BEG
HLT

SCOPE

#340, PS
$400  ICOUNT
#2§, ESCAPE
#8I1t11, SDHSCR
#37, TOATA
813, JDH4SCR
3-1 9DHBC
TDATA, aDHBA
33500, aDHLPR
30, J0H( PR
#4000, JDHBAR
?Eusch
ADHNRC, RY

#105437,RS

RS.RY
23

:CHARACTER LENGTH TEST

; TRANSMIT 1 CHARACTER ON LINE 13
;CHARACTER LENGTH IS & BITS

+DISRBLE ALL INTERRUPTS

;SET UP FOR 400 ITERATIONS

;SET UP TO ESCAPE TQ NEXT TEST

;MASTER CLEAR INTERFACE

; CHRRACTER TO BE TRANSMITTED = 37{0CTAL’
:SELECT LINE 13

:SET UP TO TRANSMIT 1 BYTE

;SET UP ADDRESS OF CHARACTER TQ BE TRANSMITTED
;SET LINE SPEED FOR_S600 BRUD

;SET CHARACTER LENGTH FOR S5 BITS
:START_TRANSMITTER

+WRIT TC RECEIVE CHARACTER

: tRY)=RECEIVED CHARACTER
-IN LOW BYTE, AND LINE NUMBER AND

- CHARRCTER SYtATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
‘AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

:ARE EXPECTED AND RECEIVED DATA THE SAME

:CHARACTER LENGTH, DATA
:0R LINE NUMBER ERROR

;EXPECTED RECEIVED CHARACTER IS 77
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31-MRR-TS 16:08 PRGE 48
000340 166704 TSE: MOV
0CO400 004468 MOV
0l12:2 004u4SY MOV
004000 O0440M MOV
000077 004476 MOV
000013 004370 MOV
177777 0043T2 MOV
015620 004362 MOV
033500 004352 MOV
J0C001 0204344 BIS
004000 004344 MOV
004326 18: TSTB
BPL
00432z MOV
138477 MOV
CMP
BEQ
HLT
cs: SCOPE
000340 166554 TS7: MOV
000400 004336 MOV
011342 Q04324 MQY
004000 CO4254 MOV
000177 004346 MOV
000013 00424C MOV
177777 00424¢ MOV
015620 004232 MOV
033500 004222 MOV
000002 004214 BIS
C0N000 004214 MOV
004176 1$: TSTB
BPL
oo417e MOV
108577 MOV
CMP
BEQ
HLT

I04

:LINE SPEED IS 9600 BAUD

#340.PS

#400. ICOUNT
%28, ESCAPE
#8111, ZoHSCR
#77.70A°A
213, aDHSCR
s-1 JDHBC
*TDATA, JDHBA
33500, JDHLPR
1. J0HLPR
#4000, SDHBAR
JDHSCR

19
JUHNRC, R4

#I0CNTT RS

RS, R4
4 )

:CHARACTER LENGTH TEST

; TRANGMIT 1 CHARACTER ON LéNE 13

: CHARACTER LENGTH IS 7 B
: EXPECTED RECEIVED CHARACTER IS 177
' LINE SPEED IS 9600 BAUD

340, PS

400 ICOUNT
23, ESCAPE
#8111, IDHSCR
£177. T0ATA
%13, JDHSCR
%-1 JDHBS
$TDATA, 3DHBA
33500, 3DHLPR
2. 20H(PR
#4000, JDHBAR
agusch

)
JDHNRC R4

#108577,RS

RS,RY
c3

:DISABLE ALL INTERRUPTS

;SET UP FOR 400 ITERATIONS

:SET UP TC ESCAPE 7O NEXT TEST

;MASTER CLEAR INTERFACE

: CHARACTER TO BE TRANSMITTED = 77(OCTAL)
; SELECT LINE 13

;SET UP TO TRANSMIT 1 BYTE

;SET UP RDDRESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPeED FOR 9600 BAUD

;9ET CHARACTER LENGTH FOR & BITS

:START TRANSMITTER

;WRIT TO RECEIVE CHARARCTER

: (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER StATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
sAND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

+ARE EXPECTED AND RECEIVED DATA THE SAME

- CHARACTER LENGTH, DATH
:OR LINE NUMBER ERROR

:DISARBLE ALL INTERRUPTS

:SET UP FOR 400 ITERATIONS

;SET UP TO ESCARPE TO NEXT TEST

;MRSTER CLEAR INTERFACE

; CHRRACTER TO BE TRANSMITTED = 177(0CTAL)
+SELECT LINE 13

;SET UP TO TRANSMIT 1 BYTE

+SET UP ADDRESS OF CHARRCTER TO BE TRANSMITTED
;SET LINE SPEED FOR 39600 BRUD

;SET CHARACTER LENGTH FOR 7 BITS

; STRRT TRANSMITTER

:WARIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND

s CHARACTER SYATUS IN HIGH BYTE

+ (RG)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

:ARE EXPECTED AND RECEIVEC DATA THE SAME

: CHARACTER LENGTH, DATRA
:OR LINE NUMBER ERRIR




oolHE  MROVYIL
DoDHEB.PFC
2378 011342
2379
2382
238l
2382
2383
2384
2388
11344
£330 B}
2388 011360
c389 011356
2390 01137
2391 011402
2392 011410
2333 Q011416
23959 011424
23%5 011432
239 011440
2397 (11446
2398 011452
2399 011488
2400
2401
e402 011460
2403
2404
c40S (11464
2406 011466
2407 011470
2408
2409 011472
2410
2411
2412
2413
2414
2415
2416
2417 011474
2418 011502
2419 011510
2420 011516
e421 011524
e4ce 011532
2423 011540
2424 011546
2425 (11554
Z426 011562
2427 011570
2428 011576
c429 011602
2430 011604
2431
2u32
5433 01ibl0

v~
- \:Je\

104400

017704

012705

020504
001431
104000

104400

100375
017704

C12705

31-MRR-TE

000340
000420
011472
004000
000377
000013
177777
015620
033500
000003
004000
004046

004042

1058777

000340
00C430
0llgee
004000
000037
000G14
1777277
015e20
033500
00co00
010000
003716

003712

108037

CQ405Y
004064

166274
004056
0C40O44
003774
004066
003760
003762
003752
003742
003734
003734

23

Te0:

1%:

T61:

1%:

16:08 PRSE 49

SCOPE

: CHARRC
: TRANSM
: CHARACL
+EXPECT
sLINE S

MV
MOV
MOV
MOV
MoV
MOV
MoV
MOV
MOV
BIS
MOV
1578
BPL
MOV

MOV

CMP
BEQ
HLT

SCOPE

; CHRRACTER LENGTH TEST

JO4

TER LENGTH TEST

IT 1 CHRRACTER ON LINE
TER LENGTH 1S 10 BITS
ED RECEIVED CHRRACTER
FEED IS 9600 BAUD

13
IS 377

340, PS

#5400 ICOUNT
2%, ESCAPE
#51111, aDHSCR
8377, TDATA
%13, JDHSCR
#-1 JOHBC

8 TOATR, 3DHBA
£33500, JDHLPR
%3, aDH( PR
#400C, JDMBAR
JDHSCR

18
JDHNRC, RY

8105777.RS

RS,RY
2%

;OISABLE ALL INTERRUPTS

:SET UP FOR 400 ITERATIONS

;SET _UP TO ESCAPE TO NEXT TEST

sMRSTER CLEAR INTERFACE .

; CHARACTER TO BE TRANSMITTED = 377(0CTAL}
;SELECT LINE 13

;SET UP TO TRANSMIT ! BYTE

;SET UP ADDRESS CF CHARACTER TO BE TRANSMITTED
:SET LINE SPEED FOR_9600 BAUD _

;SET CHARACTER LENGTH FOR 10 BITS

, START TRANSMITTER

;WAIT TO RECEIVE CHRRACTER

. (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER STATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

+ARE EXPECTED AND RECEIVED DATA THE SAME

s CHARACTER LENGTH, DRTA
:OR LINE NUMBER ERROR

; TRANSMIT 1 CHARACTER ON LINE 14

; CHARACTER LENGTH IS § BI

+EXPECT
+LINE Si

MOV
MOV
MOV
MOV
MOV
MOV
MoV
MOV

D

340, PS
400 ICOUNT
823, ESCAPE
#81t11, aDHSCR
37, TDATA
814, JDHSCR
#-1 JCHBC
#TDATR. JDHBA
33500, aDHLPR
%0, aDHLPR
10000, 30HBAR
JDHSCR

13
JOHNRC, R4

#108037,RS

1S

C RECEIVED CHARACTER IS 37
EED IS 9600 BAUD

:DISABLE ALL INTERRUPTS
:SET UP FOR 400 ITERATIONS

:SET UP TO ESCAPE TO NEXT TEST

‘MASTER CLEAR INTERFACE

: CHARACTER 70 BE TRANSMITTED = 37¢CTAL}
:SELECT LINE 14

:SET UP TO TRANSMIT 1 BYTE

:SET UP ADDRESS OF CHARACTER TO BE TRANSMITTEC
tSET LINE SPEED FOR 9600 BAUD

:SET CHARACTER LENGTH FOR § 8ITS

:START TRANSMITTER

:WAIT TO RECEIVE CHARACTER

s (RY)=RECEIVED CHARACTER

+IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

+ (RS)=EXPECTED CHARACTER IN LOW BYTE




<OHE

2434
2435
2436
2"*30'
2438
2439

MRCYLL a7 732)
<DHEB.PFC

ajeldaldele aleelbloele)
Pt Pct Pt Pt Pt Pt Pt o Pt Pt Pt Pt Pt s
-,
o
~
o

01175e

020504
0C1401
104030

10440

017784

312705

020504
001401
1340C0

104400

012777

31-MRR-75

003340
000400
011752
004000
000077
000014
177777
015620
033500
030001
010039
CO35ee

0C3562

10eG77

000340
000400
G1210¢e
004000
00Ql7”
0000id
177777
015620
033500
ocoea2
010000

16614%
003725
003714
003644
003736
00363C
00363¢
003622
003612
003604
003604

166014

003454

cs:

TE2:

1%:

23:

T63:

16:08 PRGE 50

CMP
BEQ
HLT

SCOPE

; HARACTER LENGTH TEST

KO4

RS.R4
23

;AND LINE NUMBER AND CHARACTER
s STATUS IN HIGH S°VTE
+ARE EXPECTED AND RECEIVED DATA THE SAME

- CHRRACTER LENGTH, DATA
:OR LINE NUMBER ERROP

; TRANSMIT 1 CHARACTER ON LINE 14

)

:CHARACTER LENGTH IS 6 BITS
:EXPECTED RECEIVED CHARACTER IS 77

:LINE SPEED IS 9600 BAUD

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
8IS
MOV
TSTB
BPL
MOV

MOV

CHMP
BEQ
HLT

SCOPE

:CHARACTER LENGTH TEST

340, PS
$400, ICOUNT
2%, ESCAPE

#8111, JDHSCR -~

77, TDATA
%14, SDHSCR
#-1 JDHBC
#TDATA, 3DHBA
#33500, JDHLPR
¢]. 0HLPR
%1000, 2DHBAR
aDHSCR

138
JDHNRC, RY
$106077,RS

RS, R4
2%

;DISABLE ALL INTERRUPTS

;SET LP FOR 400 ITERATIONS

:SET UP TO ESCAPE TO NEXT TEST

sMASTER CLEAR INTERFACE

; CHRRACTER TO BE TRANSMITTED = 77(0CTAL)
; SELECT LINE 14

:SET UP TO TRANSMIT 1 BYTE

;SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPEED FOR 9630 BALD

;SET CHARACTER LENGTH FOR & BITS

; START _TRANSMITTER

;WAIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LCW BYTE
:AND_LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

:RRE EXPECTED AND RECEIVED DATA THE SAME

: CHARACTER LENGTH, DATA
:OR LINE NUMBER ERROR

; TRANSMIT 1 CHARACTER ON LINE 14
; CHRRACTER LENGTH IS 7 BITS
;EXPECTED RECEIVED CHARACTER IS (77

;LINE SPEED IS 9600 BARUD

MOV
MOV
MOV
MoV
MOV
MOV
MOV
MOV
MOV
BIS
MV

340, PS

#4900 ICOUNT
#2$, ESCAPE
#81111, aDHSCR
$177. T0ATA
#14, 9DHSCR
$-1 JDHBC
$TDATA, JDHBA
#33500, JDHLPR
2. JDHLPR
#10000, 2DHBAR

;DISABLE ALL INTERRUPTS

;SET UP FOR 400 ITERARTIONS

;SET UP TO ESCARPE TO NHEXT TEST

{MASTER CLERR INTERFRCE

; CHRRACTER TO BE TRANSMITTED = 177{QCTAL)
;SELECT LINE 1M

:SET UP TO TRANSMIT 1 BYTE

;SET UP ADDRESS OF CHARRCTER TO BE TRANSMITTED
;SET LINE SPEED FOR 9600 BALD

; SET CHARRCTER LENGTH FOR 7 BITS

:STRRT TRANSMITTER




DoDHE

2490
2491
2432
2493
2494

MARCYLL 2773

DZDHEB.PFC

Q12074
01207¢
012100

01e1de

i sLswnune—o

SiczaM
012226
012230

0ige32

185777
108375
017704

0127Cs

Q20504
001401
104300

104400

012767
0127€7
012767
Q12777
012767
012777
01e7?7
012777
012777
0Se777
012777
105777
100375
017704

012705

020504
001401
104003

104400

012767
0127867
012787
01e777
C12767

31-MRR-TS

03436
CO3432

10817

000340
000400
0l2232
034000
000377
000014
177277
015620
033500
000aC3
010000
003306

003302

108377

000340

000037

165664
003446
003434
003364
003456
003350
003352
003342
003332
003324
0C33zH

165534
003316
003304
003234
003328

1%

cs:

TEY:

1%:

2%:

TES:

LO4

16:08 PAGE SI

1578 aDHSCR +WRIT TO RECEIVE CHARACTER

BPL 13
MOV JDHNRC, RY « (R4)=RECEIVED CHARACTER

IN LOW BYTE, AND LINE NUMBEF AMND

: CHARACTER SYATUS IN WIGH BYTE
: (RS)=EXPECTED CHARACTER IN LOW BYTE
+AND LINE NUMBER AND CHARACTER
+STATUS IN HIGH BYTE

MOV 2106177 ,RS

ggs gg.RH ;ARE EXPECTED AND RECEIVED DARTA THE SAME
HLT ; CHRRRCTER LENGTH, DATA

:OR LINE NUMBER ERROR
SCOPE

; CHARACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE 14
:CHARRCTER LENGTH IS 10 BITS
{EXPECTED RECEIVED CHARARCTER IS 377
;LINE SPEED IS 9600 BAUD

MOV 340, PS :DISABLE ALL INTERRUPTS
MOV #4900 ICOUNT :SET UP FOR 400 ITERATIONS
MOV 2%, £SCAPZ :SET UP TO ESCAPE TO NEXT TEST

MOV #B1111, 3DHSCR :MASTER CLEAR INTERFACE

MOV 8377, TOATA :CHRRACTER TO BE TRANSMITTED = 377(0OCTAL)

MOV #14, JDHSCR *SELECT LINE 14

MOV -1 ADHBC :SET UP TC TRANSMIT 1 BYTE

MOV $TDATA, JDHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
MOV 33500 JOHLFR :SET LINE SPEED FOR 9600 BALD

BIS %3, JCHLPR :SET CHARACTER LENGTH FOR 10 BITS

MOV #10000, ADHBAR :START TRANSMITTER
52{8 ?gnscn sWAIT TO RECEIVE CHARACTER

: (R4)=RECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER AND

: CHARACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

MOV JDHNRC, RY

MOV #106377.R5

ggz gg.RH ;ARE EXPECTED AND RECEIVED DATA THE SAME
HLT ; CHARACTER LENGTH, DATA

:OR LINE NUMBER ERROR
SCOPE

; CHARRCTER LENGTH TEST

; TRANSMIT 1 CHARACTER ON LINE 15

; CHRRACTER LENGTH IS S BITS
;EXPECTED RECEIVED CHARACTER IS 37
;LINE SPEED IS 9600 BRUD

MOV #340, PS :DISABLE ALL INTERRUPTS
MOV $400, ICOUNT :SET UP FOR 400 ITERATIONS

MOV 2%, ESCAPE :SET UP TO ESCAPE TO NEXT TEST

MOV $61t11, aDHSCR :MASTER CLEAR INTERFACE

MOV 37, TOATA . CHARACTER TO BE TRANSMITTED = 37(JCTAL)




OZCHE  MRCYLL

DZDKREB.PFC
2346 01227
2547 012300
2S48 012306
2549 Q012314
gS 0 0123%8
2551 012330
2552 012336
2583 (12342
2554 (012344
2555
2556
2557 012350
2558
2559
eSe0 012354
2551 (012356
2562 012360
2563 _
2SE4 (12362
2565
25E6
1Y
2SE8
2569
25?7
257!
2572 012364
2573 01237
2574 0124090
2575 012406
2676 012414
2877 012422
2578 012430
2579 C12436
sg80 0la24dy
2581 Cl2452
258z 4012460
2883 (012466
2584 (12472
258S 012474
2sgk
2587
£582 012500
589
2590
2581 012504
2592 012506
2583 012510
594
2535 0l2512
596
2597
2538
2593
2603

27T32)

J12705

020504
00:4S1
104000

104400

017704

012705

020504
001401
104000

1C44C0

31-MAR-75

000015
177777
£15620
033500
80000
2000
003156

003152

106437

000340
600400
gi2s512
004000
00CG77
000015
177777
015629
033500
000001
0200C0
003026

003022

106477

003220
003222
003ele
003202
003174
003174

165404
003166
003154
003104
003176
003070
003072
003062
003052
C03044
CO3044

18:

2%:

TES:

18:

23:

MO4

16:08 PAGE 52

MOV %15, QOHSCR
MOV 8-1. aDH3C

MOV #TDATA, JDHBA
MOV #33500, aDHLPR

;SELECT LINE 1S

;SET UP TO TRANSMIT 1 BYTE

:SET UP ADDRESS OF CHARACTER TC SE TRANSMITTED
:SET LINE SPEED FOR 9600 BRUD

BIS 20, JDHL PR :SET CHARACTER LENGTH FOR § BITS
MOV 20000, JDHBAR :START TRANSMITTER
égla A0HSCR WAIT TO RECEIVE CHARACTER

18
MOV ADHNRC, R4 ; (R4)=RECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER AND
: CHARACTER SYATUS IN HIGH BYTE
: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

:STATUS IN HIGH BYTE

MOV #106437,R5

ggs QE'R“ ‘ARE EXPECTED AND RECEIVED DATA THE SAME
HLT - : CHARACTER LENGTH, DATA

:OR LINE NUMBER ERROR
SCOPE

{CHARACTER LENGTH TEST

s TRANSMIT 1 CHARACTER ON LINE 15
:CHARACTER LENGTH IS 6 BITS
;EXPECTED RECEIVED CHARACTER 15 77
;LINE SPEED IS 3800 BARUD

MOV #340, PS

MOV 400, ICOUNT
MOV #2%, ESCAPE
MOV 81111, JDHSCR
MOV 277, TDATA

MOV $i5, 3DHSCR
MOV $-1, IDHBC

MOV #TDATA, SDHBA
MOV 33500, aDHLPR
BIS 81, JOHLPR

MOV #20000, 3DHBAR
TSTB  aDHSCR

BPL 13

MOV aDHNRC , R4

;DISABLE ALL INTERRUPTS

;SET UP FOR 400 ITERATIONS

;SET _UP TO ESCAPE TC NEXT TEST

:MASTER CLEAR INTERFACE

; CHARACTER TO BE TRANSMITTED = 77(QCTAL)
;SELECT LINE 15

;SET UP TO TRANSMIT 1 BYTE

:SET UP ADDRESS CF CHARACTER TC BE TRANSMITTED
:SET LINE SPEED FOR_960Q BALD

; SET CHAFRCTER LENGTH FOR & BITS

; START _TRANSMITTER

;WRIT TO RECEIVE CHRRACTER

s (R4)=RECEIVED CHARACTER
+IN LOW BYTE, AND LINE NUMBER AND

s CHARACTER SYATUS IN HIGH BYTE

: (RS)=EXPECTED cHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

MOV #106477,RS

ggs gg,aw :ARE EXPECTED AND RECEIVED DATR THE SAME
HLT : CHARACTER LENGTH, DATA
coPE :OR LINE NUMBER ERROR

; CHARACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE 1S
:CHARACTER LENGTH IS 7 BITS
:EXPECTED RECEIVED CHRRACTER IS 177
:LINE SPEED IS 9600 BRUC




colHE  MRCYIL

DoDMES.PFC
2802
2603 QlaSly
2624 0%:522
sede isesp
2607 (012544
2608 (012582
cs09 012560
26.1) 012566
2bll Q0125874
gble Q12602
g6l3 012610
2bl4 0lekib
eblS (lasec
eblb Dlzkey
eel?
2618
2819 012630
2620
2kel
2622 012634
2623 012636
2bed 012640
2kes
cb2b 012842
2be?
cbe8
cbel
2620
263l
2632
cb33
2634 0Olebyd
eb3S (leese
236 D126kl
2637 012666
2638 (012674
2838 012702
ess0 012710
2b4l 012716
gb4z2 Ql2red
ce43 012722
2e44 012740
cb4S 012746
24 Dig7se
2647 012754
264e
cb43
cbS0 012750
2651
ckSe
253 012784
2654 (012766
cbsS 012770
=41
2657 012772

2 Y2

-t Jh

NNINIoN oo

NN NN NN S I

ST INININNNG

~J

OO0 LOOO00
VMO O NON)

N

4

012705

Q20504
00140}
104002

104400

017704

01270S

020504
001401
104000

104400

31-MAR-TS

200340
DO%HEO
BAa8af
000177
000215
17727277
015620
033500
0000G2

020000
002676

002672

106577

000340
000400
gle77e
004000
000377
000015
177777
015620
033500
000003
020000
G02546

002542

108777

165254
003036

032%E4

003046
002740
002742
002738
902722
002714
002714

165124
002706
002674
002624
002716
002610
002612
002602
002572
002564
002564

T67:

13:

2%:

170:

13:

[LD)
w

NO4

16:08 PAGE 53

MOV 8340, PS :DISABLE ALL INTERRUPTS
MOV #4900, ICOUNT :SET JP FOR 400 ITERATICNS

n8v ug? ESCAPE ;ssr EP TO ESCAPE TJ NEXT TEST

MOV s81111, a0HSCR :MASTER CLEAR INTERFAC

MOV %177 TOATA : CHARACTER TO BE TRAMSMITTED = 177(0CTAL)
MOV %15, J0HSCR :SELECT LINE 1S

MOV #-1 IDHBC :CET UP TO TRANSMIT 1 BYTE

MOV sTOATA, 2DHBA }SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
MOV #33500 . JDHLPR :SET LINE SPEED FOR 9500 BALD

BIS %2, 2DHLPR :SET CHARACTER LENGTH FOR 7 BITS

MOV £20000, aDHBAR :START TRANSMITTER

TSTB  aDHSCR ‘WAIT TO RECEIVE CHARACTER

BPL 13
MOV JDHNRC . RY ; (R4)=RECEIVED CHARACTER
:IN LOW EYTE, AND LINE NUMBER AND
:CHARACTER SYTATUS IN HIGH BYTE
: (RG)=EXPECTED CHARACTER IN LOW BYTE

MOV #106577 RS
;AND LINE NUMBER AND CHARRACTER

s STATUS IN HIGH BYTE
ggg gg,Rq :ARE EXPECTED AND RECEIVED DRTA THE SAME
HLT ; CHARRCTER LENGTH, DATA

:OR LINE NUMBER ERROR
SCOPE

: CHARACTER LENGTH TEST

: TRANSMIT 1 CHARACTER ON LINE 15

; CHARACTER LENGTH IS 10 BITS
{EXFECTED RECEIVED CHARRCTER IS 277
;LINE SPEED IS 9600 BRUD

MOV #340.PS :DISABLE ALL INTERRUPTS
MOV #4900 ICOUNT :SET UP FOR 400 ITERATIONS

MOV 2%, ESCAPE :SET UP TO ESCAPE TO NEXT TEST

MOV #8111, IDHSCR :MASTER CLEAR INTERFACE

MOV 377, 10A7A : CHARACTER TO BE TRANSMITTED = 377(0CTAL)

MOV #15, 3DHSCR *SELECT LINE 15

MOV #-1, JDHBC :SET UP TO TRANSMIT 1 BYTE

MOV $TDATA, aDHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
MOV 33500, aDHLPR :SET LINE SPEED FOR 9600 BAUD

BIS £3, J0HLPR +SET CHARACTER LENGTH FOR 10 BITS

MOV 20000, JDHBAR :START TRANSMITTER

TSTB  JDHSCR WAIT TO RECEIVE CHARACTER

BPL 18
MOV aDHNRC, R4 + (R4)=RECEIVED CHARACTER
‘IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE
: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER
:STATUS IN HIGH BYTE

MOV #106777,RS

ggg gg.Rq :ARE EXPECTED AND RECEIVED CRTR THE SARME
HLT ; CHARACTER LENGTH, DATA

:JR _INE NUMBER ERROR
SCOPE
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16:08 PR3IE S

BOS

:CHRRACTER LENGTH TEST

: TRANSMIT 1 SHARACTER o L
: CHARRCTER LENGTM IS § B1T5
tEXPECTED RECEIVED CHARAC

:LINE SPEED IS 9600 BAUD

MOV
MoV
MOV
MoV
MOV
10V
MOV

MP

BES
HLT

S.OPE

8340, PS
8400, ISOUNT
223, £SCAPE
8811 JCHSCR
237, TDATA
816, JOHSCR
-1 J0HBC
sTCATA, ICHBA
333500, JDHLPR
80, aDHLPR
853000, aDHBAR
?gascn
SDMNRZ R4

8107837 RS

RS.R4
2s

1 oHARACTER LENGTH TEST

: TRANSMIT | CHARRCTER ON
:SHARACTER LENGTH IS 6 Bl
(EXPECTED RECEIVED CHARRC
:LINE SFEED IS 98600 8RLD

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV

8340, PS

8400 ICOUNT
28, £SCAPE
sB1t11, J0OHSCR
877, TDATA
816, d0KSCR
s-1 JOHBC
$TORTA, JOHBA
33500, JCHLPR
sl J0HLPR
40000, 3CHBAR
fgusca
SDHNRC , RY

8107077.85

INE 16
ER 1S 37

:DISRBLE ALL INTERRUPTS
:SET UP FCR 403 ITERATIONS

'3ET_UP T0_ESCAPE TO NEXT TEST

:MASTER CLEAR INTERFACE

:CHARACTER TC BE TRANSMITTED = 37:7CTAL.
:SELECT LIME 16

:SET UP TO TRANSMIT 1 BYTE

:SET UP ADDRESS OF CHARACTER TO BE TRANGMIT™ED
:SET LINE SPEED FR_98C BALD

:SET_CHARACTER LENGTH FOR 5 BITS

:START TRANSNITTER

{HAIT TO RECEIVE CHARACTER

: (R4:=RECEIVED CHARACTER

:IN LOW BYTE, ANC LINE NUMBER ANC

: CHARRCTER STATUS IN HIGH 8YTE

: (RS)=EXPECTED CHARACTER IN LW BYTE
1600 LINE NUMBER D CHARACTER

:STATUS IN HIGH 8YTE

iRRE EXPECTED AND RECEIVED CATA THE SAME

1 CHARASTER LENGTH, DATA
: 2R LINE NUMBER ERROR

:21SRBLE ALL INTERRLPTS

:SET P FJR 430 ITERATICNS

:SET_UP 70 ESCAPE T0 NEXT TEST

:MASTER CLEAR INTERFAC

:CHARACTER T0 SE TRANSMITTED = ©T.2C7AL:
sSELECT LINE 16

:3ET UP To TRANGMIT 1 8¥TE

:SET UP ADDRESS CF CHARACTER TJ BE TRANSMITTEC
:SEY LINE SPEED FOR_9600 BAUD
;SET_CHARACTER LENGTH FOR & BITS

*START TRANSMITTER

:NAIT 10 RECEIVE -  :TER

: 'R4)=RECEIVED CHRR~. “ER

: 14 LOW BYTE, AND %INE NUMBER AND
: taTus

e CTER N _HIGA BYTE
s \RS)=EXPECTED CHWRRCT N Lok BYTE
:AND LINE NUMBER RAND C >t

ER 1
HRRR

L
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2TT320 31-MAR-TS  16:08 PRE SS

DOHE MRCYLL
DIDHER.PFC
w14 +STATUS IN HIGH BYTE
1S 012244 020504 oMP RS, RY RRE EXPECTEC AND RECEIVED D&TA “HE ZAME
16 Sxaqu S01451 BEQ 23
T17 013382 104230 HLT :CHARACTER LENGTH, SATA
=18 :OR LINE NUMBER ERRZR
3ni3 C13;@  10WNCC 28: SoOPE
Caw
£~El :CHARACTER LENGTH TEST
g3s : TRANSMIT 1 CHQRACTER ON LINE 16
223 :CHARACTER LENGTH 1S 7 BITS
N {EXPECTED RECEIVED CHARARCTER 15 177
g;gg :LINE SFEED IS 9600 BAUD
g-2- Cl13254 Q12767 000340 16YSIM TF3: MOV #340.PS :DISABLE ALL INTERRUPTS
£728 J132e: Qi2re7 (QCQ4d0 00227 MOV #400, ICOUNT :SET UP FOR 400 ITERATIONS
2t33 013350 012r67 Q0I140c 0023e4 MOV 828, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
2730 C13276 Q12777 CO4000 002214 MOV 887t11, J0HSCR :MRSTER CLEAR INTERFACE
g-31 213304 Glire? 000177 002306 MOV 8177 70ATA :CHARACTER TO BE TRANSMITTED = 177:0CTAL.
273z 013312 012777 C0D016 002200 MOV 816, JOHSCR SELECT LINE 16
£n33 013320 012777 6?7? - (02292 MOV s-1.&a0HBC :SET UP TC TRANSMIT 1 evr;
2-3% 013336 QlZ7r7 Dise20 002172 MOV sTDATA, DHBA ‘SET UP ADDRESS OF CHARACTER TO BE TRANSMITTES
St3k £1333¢ 013777 033500 002182 MOV 33500, 30HLPR :SET LINE SPEED FOR 9600 BAUD
gr3g 0i3342 DSZ7T augo ocsxgu 8IS 82, J0HLPR :SET CHARACTER %Encru FOR ~ BITS
s°3 213350 212777 080008 003134 MOV 848000, 3DHBAR :START TRANSMITTER
gr3e 1335k 10STr7 002136 '8 IST8  SCHSCR :WAIT TO RECEIVE CHARACTER
2029 13382 108378 BPL 1§
Z°=C DI3384 (770N o2l MOY ADHNRC, R : tR4)=RECEIVED CHARACTER
2741 :IN LOW BYTE, AND LINE NUMBER AND
£ : CHARACTER SYATUS IN HIGM BYTE
2743 01337C D127G5 107177 MOV #1071°7 RS : \RS)=EXPECTEC CHARACTER IN LOW SYTE
2744 :AND LINE NUMBER AND CHARACTER
2745 :STATUS IN HIGH BYTE
5746 013374 02050M CMP RS, RY :ARE EXPECTEC AND RECEIVED CATR “HE SAME
2r4? L1337 COI401 2E5 23
2748 013970 104900 hoT :CHARARSTER LENGTS, DATA

:JR LINE NUMBER EAR0R
213402 104800 zs: COPE

2749
2750
2751

:CHARACTER LENGTH TEST
2783 : TRANSMIT | CHARQCTER ON LINE 8
2754 :CHARACTER LENGTH IS 10 BITS
g;gg :EXPECTED RECEIVED CHARARCTER IS
e -LINE SPEED IS 9600 BAJD
757
27te
2759
276C

)

-
s

13404 012767 0OC34C 154364 T74: MOV #340,PS :DISABLE AcL INTERRUPTS
Ci3412 012767 000400 0C2146 MOV 400 ICOUNT tSET UP FOR 400 ITERATIONS
013420 012767 013532 002134 MOV 2§, ESCAPE tSET UP TO ESCAPE_T) NEX™ “EST
o6l fijuce Oier77 Q040D OO2OE MOV #BI}IL JDHSCR tMASTER CLEAR INTERFACE
c762 013434 012767 000377 00215k MOV 8377, TDATA ;CHARACTER TC BE TRANSMITTED = 377.3CTAL)
2763 Cl3442 Cl12777 0COOl6 0C2050 MOV 816, 8DHSCR tSELECT LINE 16_
ErE4 (013450 018777 177777 002052 MOV #-1,aDHBC 1867 UP TQ TRANSMIT 1 BYTE
2765 0i3¥5€ 018777 015620 002042 MOY  #TCATA, JDHBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTEC
27t 013484 012777 033500 002032 MOV 833500, DHLPR 1SET LINE SPEED FOR_ 9600 BALD
2767 C12472 (0E3777 000003 002024 BIS  #3,J0H(PR :SET_CHARACTER LENGTH FCR 10 BITS
2723 (1350) Clgr7z QYOCCE OCEC2d MOV 40000, 30HBAR 1START TRANSMITTER
g7€8 O138Ce 10S777 202006 i$:  TSTB  QDHSCR tWAIT TO RECEIVE CHARACTER




Ry Pi‘_lﬁC‘I’ll aniT3d) 31-MRR-TS  16:0B PRGE 56

[ S . L

270 Q13812 100378 BPL 1S
&-tl 013814 017704 002002 MOV JDHNRC,RY : (R4)=RECEIVED CHARACTER
o ;[ WU BTTE, AND LINE HUMBER )
o } ) :CHARACTER StATUS IN WIGH BYTE
2oty 013€20 012705 1073TT MOV #107377.RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
Eng :AND_LINE NUMBER AND CHARACTER
27oh :STATUS IN HIGH BYTE
eTT- 013524 020504 SMP RS.RY ;RRE EXPECTED AND RECEIVEC DATA THE SAME
gt D138 J014C) BEQ 2§
gT-3 51383C 104000 HLT : cHARACTER LENGTH, DATA
& ;OR LINE NUMBER ERROR
grEL 013532 104430 3$:  SCOPE
2783 :CHARASTER LENGTH TEST
£-ey :TRANSMIT 1 CHARACTER ON LINE 17
rae :CHARRCTER LENGTH IS 5 BITS
2096 :EXPECTED RECEIVED CHARACTER 1S 37
28 :LINE SPEED IS 9600 BAUD
2789 913EM 012767 000340 164234 TPS: MOV #34Q,PS :DISABLE ALL INTERRLPTS
2-30 Q13832 0l2767 200900 00201& MOV #3400, ICOUNT :SET UP FOR 400 ITERATIONS
29 013550 012767 DI3e62 002004 MOV #2§, ESCAPE_ :SET_UP TC ESCAPE TO NEXT TEST
2742 013566 Qig777 00400C 001734 Mov  eEIt[1, 3DHSCR ;MASTER CLEAR INTERFACE
£33 Q135p4 0l27e7 000037 002026 MOV #37,T0ATA {CHARACTER TC BE TRANSMITTED = 37(OCTAL)
2r34 0I3T2 DlEr77 000017 001720 MOV #17,3DHSCR ;SELECT LINE 17
2r3s 31300 Ql2r7z 177 901782 MOV =1’ JDHBC :SET UP TO TRANSMIT | BYTE
£736 013606 0i2r77 Q15620 CO1712 MOV sTDATR, 2DHBA :SET UP ACDRESS OF CHARACTER TO BE TRANSMITTEL
Z797 LI3614 Q12777 633500 001702 MOV #3350, 2DHLPR :SET LINE SPEED FCR_960Q BAUD
g-3g 013622 052777 002000 0Q1674 BIS 80 aCHLFR ;SET CHARACTER LENGTH FOR S BITS
2789 013830 Ql2777 100000 00167 MCv_ #100C00.OHBAR !START_TRANSMITTER
2802 D136 105777 (001656 18: TSTB  aDHSCR ;WAIT TO RECEIVE CHARACTER
2951 Q13642 190375 BPL 1S
9802 Ci3ewd 017704 001852 MOV JDHNRC,RY : (R4)=RECEIVED CHARACTER
2803 :IN LOW_BYTE, AND LINE NUMBER ANC
2804 :CHARACTER SYATUS IN WIGH BYTE
2835 013850 212705 1O7N37 MOV #1C7H3T,RS : (RS)=EXPECTED CHARACTER IN LOW BYTE
2805 :AND_LINE NUMBER AND CHARACTER
2807 :STATUS IN HIGH BYTE ‘
2808 Q13eS4 020504 CMP RS.RY :ARE EXPECTEC AND RECEIVED CATA THE. SAME
2809 D0135e 0J140: BEQ 2§
2810 C13680 104000 HLT : SHARACTER LENGTH, DATA
2811 ;oR LINE NUMBER ERROR
gig 013662 104400 28:  SCOPE
gels
2814 :CHARACTER LENGTH TEST
ge1s s TRANSMIT 1 CHARACTER ON LINE 17
g8l : CHARACTER LENGTH IS b BITS
2817 ;EXPECTED RECEIVED CHARACTER IS ©7
8.8 :LINE SPEED IS 9600 BALD
2620 013664 C12767 000340 1E4104 T7e: MOV #340,PS :DISABLE ALL INTERRUPTS
21 0I3672 012767 0OOYO0 0016EE MOV s400; ICOUNT ;SET UP FOR_400 ITERATIONS
2€z2 013700 012767 0I4Dl2 001ESY MOV s2§,BSCAPE :SET_UP TO_ESCAPE_TQ NEXT TEST
2623 13706 012777 004000 001604 MoV sBIt{1,aCHSCR :MASTER_CLEAR INTERFACE
2Ec4 C13714 612767 0CO07? OOLE?R MOV #77,TDATA : CHARACTER TO BE TRANSMITTED = ©r.22TaL:
€S 013722 Clg777 000017 00iS70 MOV al7,3DHSCR tSELECT LINE 17
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214012

J14G14

014130

Q14134
014136
S8 40

Dl4l4e

"¢
-y

01 e
3e5754
012'01
108777
10037
017708

012735

020504
JC1u0l
134820

1344309

012787
0igre?
012767
012777
012767
31e7?7?
012777
01e77?7
012777
0Se777
012777
108777

100375
017704

312705

020504
601401
104029

104400

J1-MRR-"¢

1ooT°7
215620
332590

02001
102000
001528

001522

17477

002340
£oo40a
gl414e
004000
G00177
00C0L7
177777
015620
033503
000002
103000
001376

001372

107577

0J1544

163754
001836
001524
001454
001546
001440
001442
001432
001422
021414
01414

13:

177

18:

2y

16:08 PRGE ST

MYV
MOV
MOV
BIS
MOV
1578
SPL
MOV

MOV

cHP
BEQ
HLT

SCOPE

EOS

-1, J0HBC +SET UP TO TRANSMIT | BVTE:
$7DATA, 20HBA :SET UP ADCRESS OF CHARACTER T2 2E TRANSMITTED
33500, JDHLFR :SET LINE SPEED FOR 9800 BAUD

81, J0HLPR :SET CHARACTER LENGTH FCR & BITS

; START TRANSMITTER
3 +WARIT TO RECEIVE CRAQRACTER

3
JDHNRC, R4 ; (R4)=RECEIVED CHARACTER
:IN LOW BYTE, AND LINE NUMBER ANC
e ; CHARRCTER SYATUS IN WIGH BYTE
$107477,RS ; (RS)=EXPECTED CHARACTER IN LOW BYTE
;AND_LINE NUMBER AND CHARACTER
;STATUS I HIGH BYTE
RS.RY ;ARE EXPECTED AND RECEIVED DATA THE SAME

- CHARACTER LENGTH, DATA
:CR LINE NUMBER EAROR

2130000, 30HBAR
DHSCR

:CHARACTER LENGTH TEST

: TRARNSMIT 1 CHARARCTER ON LINE 17

; CHARACTER LENGTH IS 7 BITS
{EXPECTED RECEIVED CHARACTER IS 177
;LINE SPEED IS 9600 BAUC

MOV
MOV
MOV
MOV
MCV
MOV

MOV

cMP
BEG
HLT

SCOPE

340, PS :DISABLE ALL INTERRUPTS
8400 ICOUNT :SET UP FOR 400 ITERATIONS

828, £SCAPE :SET UP TO ESCAPE TO NEXT TEST

#2111, JDHSCR :MASTER CLEAR INTERFACE

8177, 70ATR : CHARACTER TO BE TRANSMITTED = 177:2CTAL)

817, JOHSCR :SELECT LINE 17

¢-1 9DHBC :SET UP TO TRANSMIT 1 BYTE

sTOATA, 30HBA :SET UP ADDRESS OF CHARACTER TO BE TRANSMITTED
33500, 20HLPR :SET LINE SPEED FOR 9600 BAUD

82, J0HLPR :SET CHARACTER LENGTH FOR 7 BITS

# 100000, JDHBAR :START TRANSMITTER

J0HSCR tWAIT TO RECEIVE CHARACTER

13

dDHNRC, RY : (RY)=RESEIVEC CHARACTER
<IN LOW BYTE, AND LINE NUMBER AND
:CHARACTER SYATUS IN HIGH BYTE

8107577 ,RS s tRSI=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHRRACTER
-STATUS IN HIGH BYTE

gg.aq :ARE EXPECTED AND RECEIVED CRTR THE SAME

:CHARACTER LENGTH, DATA
:OR LINE NUMBER ERRJR

:CHARACTER LENGTH TEST

: TRANSMIT | CHARACTER ON LINE 17
;CHRARACTER LENGTH IS 10 BITS
;EXPECTED RECEIVED CHARRITER IS 377
:LINE SPEED IS 3600 B~JD




SITHE MAOYLL 27732
D3DuER. PFC

2992 Q4144 Ql2Ter
£853 Cly1Se Qlers:
SSSH 814160 815;&2
885 Qiuliee Q12777
238 JIMITY 012767
2887 Ll14202 (12777
2838 014210 0ieg77¢
c889 0l42i6 012777
2833 Cld2a4 012777
2891 Q14232 052777
892 214240 012777
c893 (Ql4a4e 105777
2894 21425 12037
2835 (14254 017704
28%
83’ -
2938 (018260 012728
2899
2900

2901 O0l4z2e4 (020504
2902 Q14286 221401
903 Cl4270 1C4CCC

e9CS Jl4272 1Z44CT

31-MRR-TE

02J340
020400
(
504565
T ey
000017
1722777
015620
033500
C02CC3

100000
001246

00124e

1877770

16:08 PAGE 58

o

OOO0O00O00000—
OO0O0O000oOOoO0Oo0o
oo - 10)e——r=T)~JONY
L Lo Lo

[
[~ ]

FO5

340, PS
#4900, ICOUNT
ag? ESCAPE
#81t11, JDHSCR
2377, TDATA
817, JDHSCR
8-1 a0OHBC
sTDATA, aDHBR
33500, JOHLPR
83 3DH(PR
¢100000, 3DHBAR
JDHSCR

18
JDHNRC, RY
%107777,RS

RS,RY
c3

sCISABLE ALL INTERPUPTS

:SET UP FOR 400 JTERATIONS

+SET_UP TO ESCAPE TO NEXT TEST

iMRSTER CLEAR INTERFACE

;CHARACTER TO BE TRANSMITTED = 377(CCTAL)
;SELECT LINE 17

:SET UP TO TRANSMIT [ 3YTE

:SET UP RDDRESS OF CHARACTER TO BE TRANSMITTED
;SET LINE SPEED FOR 36CC BAUD

:SET CHARARCTER LENGTH FOR 1C BITS

; START TRANSMITTER

;WRIT TO RECEIVE CHARACTER

; (R4)=RECEIVED CHARACTER

IN LOW BYTE, AND LINE NUMBER AND

'CHARACTER STATUS IN HIGH BYTE

: (RS)=EXPECTED CHARACTER IN LOW BYTE
:AND LINE NUMBER AND CHARACTER

STATUS IN HICH BYTE

:ARE EXPECTED AND RECEIVED DATA THE SAME

- CHARACTER LENSTH, DATA
:CR LINE NUMSER ERROR




CoOME  MARCYILL
DIDHEB.PFC

2306
2907

9=
e

14278
014276
01430C
014304
Q14310
Cl43i4
Qi432e
014325
014330
01433c
Q14334
014336
014340
014342

v ruN)rUMN YRRV N
SO DO ODODNODODLDD
TOTUG=pep sp—opsepspspep—,
= OOWITUT LW

2322

O14444

14446
014454
014456
0l4462

sl

104401
gle2zC
05367

000240
000167

Q32767
001G30
032767
001021
032767
001006
00Seb?
026757
001007
05067

000762

032767
001402
016716
cooogz

31-MAR-7¢

154634

00z2eCo
G40C00
004000

001186k
00ilee

001152
001:3C
001122
001124

001110

001000
001102

163246

163214

163204.

163174

031156

163114

EQOP:

LOGICAL:

RESTRT:

SCOPER:
i3%:

33:
48:

SCOP!R:

18:

GO5

16:08 PRAGE 59

:END OF PARSS

:TYPE _NARME OF TEST
:UPDATE PASS COUNT

+CHECK FOR EXIT TO RCT-11
{RESTART TEST

TYPE : TYPE NAME OF TEST
MEPASS
CLR LAST :CLEAR LAST ERRCR PC
CLR ERRFLG :CLEAR ERROR FLAG
INC PASCNT +UPDATE PASS COUNT
MOV PASCNT, LIGHTS 'DISPLAY PASS COUNT
MOV x42, Rl s CHECK FOR ACT-11 CR DDF
BEQ RESTRT :IF NOT, CONTINUE TESTING
RESET
JSR PC.tR1)
NOP
NOP
NOP
JNP BEGIN

+CHECK FOR LOOP ON CURRENT TEST
:CHECK FOR ITERATION SUPPRESSISN

BIT  #SWI0,SKR
BNE 43

BIT  #5W1Y4,SR

BNE 3§

BIT  ¥SWIl,SWR

BNE 2§

INO  LPCNT

CMP  LPCNT, ICOUNT
BNE 3% |
CLR  LPCNT

CLR  ERRFLG

MOV (SP,RETURN
RTI

MWV RETURN, (SP)
RTI

TST  ERRFLG

BEQG 1%

BR 28

;CHECK FOR FREEZE ON CURRENT DATA
BIT  #SW09.SWR

BEQ 1§ )

MOV FREEZL, (SP)
RTI




O-CHE  MACYLl
DSDHES.PFC

2956

2357

2358

€359 QIN4eY
2360 Jiwure
2961 Cl4v:
2962 Q14500
£963 014502
2364 0l14506
2965 Jl4si2
2366 014514
2367 QluS1s
2358 Q14522
2969  (Ql4s2y
2370 014526
£S71 014530
2372 QI4334
2373 Q14540
2974 014544
2375 Q14550
2976 014554
2977 014556

3002 Ol4bsd

gri73d)

032767
001051
£21567
001404
011667
005067
10440

162705

31-MRR-78

020000 163075 ERRORS:

001116

001110
001840

0000C2

177001
016330
000034
£30042
000776

000e30

0pooct

000004

162746
0030cz
000714
002000
000704

a0z

000754

162720

HOS

16:08 PAGE &0

:ERROR HANDLER
BIT #SW13, SHR

BNE HAL TS
CMP (SP),LAST
8£Q 13
MOV (SP),LAST
R ERRFLG
18: SAVOSP
MOV (SP),RS
SUB #2,RS
MOV (RS),RY
ASL RY
ASL RY
BIC %177001,RY
ADD $ERRTAB . RY
MOV {R4)+, ERRMSG
MOV (R4, 0ATABP
157 ERRFLG
BEQ TYPMSG
15T DATABP
BNE TYPDAT
TYPMSG: OCTRSC
ERTABO
MOV %1 . ERRFLG
TYPE
ERRMSG: O
TYPDAT: TST DATABP
BEQ RESREG
0CTASC
DATABP: 0
RESREG: RESOS
HALTS: TST SWR
BPL EXITER
PUSHRO
MOV 2(SP),R0
HALT .
POPRO
EXITER: INC ERRCNT
BIT #SW10, SHR
BEQ 13
MOV ESCRPE, (SP)
1§: RTI
ERTABO: !
BYTE &.2
SAVPC




105

JanHE  MRCYLL 2Tu732)  31-MRR-7S 16:08 PARGE 61
DDHEB.PFC

3003 : [RAP DISPATCH SERVICE
33 : ARGUMENT OF TRAP 15 EXTRACTED
3905 *AND USED RS OFFSET TO ORTAIN POINTER
%885 :T0 SELECTED SUBROUTINE
3008 0I46EE Cl1646 TRPSRV: MOV (SP), ~(SP) :GET PC OF RETURN
3009 014670 182716 000002 SUB 22, (&F) :=PC OF TRAP
3010 014674 017616 000000 MOV a(ép) (SP) ‘5ET TRP
30i! 014700 006316 TRPOK: ASL :%JLTIPLY TRAP ARG BY 2
3012 014702 042716 177001 BIC 117?001 (SP) : CLERR UNWANTED BITS
3013 014706 062716 016250 ADD $TRPTRB (SP) :POINTER TO SUBROUTINE ACCRESS
2014 014712 21Tele 000000 MOV 3(SP) . (8P) + SUBROUTINE ACORESS
ggig 014715 000136 IMP asprd :G0 TO SUBROUTINE
ggig :SAVE PC OF TEST THAT FAILED AND RO-RS
ggég 014720 016667 000004 000662 SVOSP: MOV 4(SP), SAVPC
gggé ;SAVE RO-RS
c
3023 014728 010567 000BS2 SVOS: MOV RS, SAVRS
3024 01473 Ol10467 00064 MOV R4, SAVRY
3025 014736 010367 000636 MOV R3) SAVR3
3026 Q14742 Q102e7 0006390 MOV R2. SAVR?
2027 0l4746 010167 000622 MOV R1,S5AVRI
3328 2DI4752 010067 000614 MOV RO, SAVRO
3029 0l47Se 000002 RTI
gggg :RESTORE RO-RS
3022 014760 016700 000606 RSOS: MOV SAVRC, RO

0l

016701 00CBC4 MOV SAVRI .R1

016702 000602 MCV SRVRe,Re
3035 014774 016703 003600 MOV SAVR3.R3

016704 000576 MOV SAVRY, R4

016705 0£00S7H MOV SAVRS, RS

gCcacce RTI
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3033

OOO0OO000OO0O0O0O

OOoOOCOO0OOO0O0OOOOO00O000000L00

15012 0176CS
15016 02716
i80e2 1077
2058 1832
15032 001001
15034  0G00g2
18036 112507
18042 300767

15344 017687
15052 0&2rl

15056 10440l
15060 0000C3
15062 012704
SCee 012703
07z 105777
07 100375
100 117714
104 142714
110 122427
114 001413
116 117777
124 105777
130 100375
132 005303
134 001356
136 10440!
180 0l6l24
142 000745
144 000002

31-MRk-7E

000020
00002
000466

000454

000003
000002

gleaze
000007
0oo412

00096
000z2co
0000!S

600370
000364

000Cas

000372

Ja5

16:08 PRGE &2

+TELETYPE OUTPUT RCUTINE
TYPER: MOV Jd(SP), RS

ADD %2, (SP)
18: TSTE  JTPCSR
e 1B
STB  (RS)
BNE 2%
RTI
2%: MOYB  (RS)+.aTPDBR
BR 1§

;ASCII STRING INPUT ROUTINE

INSTRG: MOV J.SP), MSG
ADD %2, (SP)
INSTR1: TYPE

MS3: 0
MOV #INBUF , R4
MOV %7 ,R3

18: TSTB  JTKCSR
BPL 18

MOVB  2JTKDBR, (R4)
BICB %200, (R4)
CMPB  (R4)+, 415

BEQ INSTR2
_ MOVB  3TKDBR,2TPDER
z3: TSTB  JTPCSR

BPL 2%

DEC R3

BNE 18
INSTRE: TYPE

MQM

BR INSTR1
INSTR2: RTI
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DIDHES.

S
Si7

Lank 180 0 It I
O0OL00 L

12
216

212704
1227 1M
001420
121427
002415
121427
203012
142714
152405
122714
001406
006305
006305
005305
0007860
104404
00e7se

020567
101373
020567
103770
136705
001365

016704
010524
052705
105367
001372
600002
00D0A0
000000
000000
000000
015331

31-MRK-75

0COl4B
000144
000142
000140
000135

0leg72
000018
0C3Ce0
000067
00COs0
000015

00004c
000032
003032

0000z2

000002
000313
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KOS

; CONVERT RSCII STRING TO OCTAL

PRRAMS: MOV (SP),RS
MOV (RS)+,LOLIM
MOV (RG)+, HILIM
MOV (RE)+’ DEVADR
MOVB  (RS5)+.LOBITS
MOVB  (R5)+ ADRCNT
MOV RS, (SP)
PARAM1: CLR RS
MOV $INBUF, RY
CMPB  #15, (RY)
BEQ PARERR
18: CMPB (R4, #60
BLY PAREAR
CMPB  (RY), %67
BGT PAREARR
BICB  #60, (RY)
BISB (R4J+ RS
CMPE %15, (RY)
BEQ Limtts
ASL RS
ASL RS
ASL RS
BR 1§
PARERR: INSTER
BR PARAM1
+ TEST TO SEE IF NUMBER IS WITHIN LIMITS
LIMITS: CMP RS, HILIM
BHI PARERR
CMP RS, LOLIM
BLO PARERR
BITB  LOBITS,RS
BNE PARERR
:STORE NUMBER AT SPECIFIED ADDRESS
MOV DEVADR, RY4
18: MOV RS, (R4} +
ADD 2 RS
DECB  ADRCNT
BNE 18
RTI
LOLIM: O
HILIM: O
DEVADR: O
LOBITS: O

ADRCNT=LOBITS+!




<DHE  MACYLL
~DHEB.PFC
3126

3127

3128

3129 015332
3130 015234
3i3l 015326
3132 01834
3133 015346
3134 015352
3135 015835&
3136 0158362
2137 015356
3138 018372
3139 015376
3140 015402
3141 015404
dl42 01S410
3143 015414
3144 015416
3145 015420
3146 015422
3147 015424
3148 015426
3149 015430
3150 015434
3181 315436
21582 018442
31583 015444
3154 015450
3155 (015452
3156 (15456
3157 015462
3158 015464
3159 (015466
310 0158470
3161 015472
3162 015476
2163 (015500
3164 (01550¢
3165 (015504
31sE

3167 G185806

2™ .-

2o1732)

JJ0000

LOS
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177770
000260

018315
000042
GCO035

000240
00CGe23

003004

; CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
OCTRSN: TYPE

MCRLF
MOV J(SP),R1
ADD 82, (SF)
MOV (R1)+, WRDCNT
18: MOVB  (R1)+,CHRCNT
MOVB  (R1)+,SPRCNT
MOV J(R1)+, BINWRD
2%: MOV BINWRD, R4

MOVB  CHRCNT.RS
MOV gaenp,ho

3%: MOV R3
BIC 8177770,R3
ADD $260,R3
MOVB  R3, (RD)+
ASR RY
ASR RY4
ASR RY4
DEC RS
BNE 3
MOV #MDATA, R3
4§ MOVB  -(RO),[R3)+
DECB  CHRCNt
BNE 4§
TSTB  SPACNT
BEQ 6%
5%: MOVE  #240, (R3)+
DEC SPACKT
BNE c§
B%: CLRB  (R3)
TYPE
MDATA
DEC WRDCNT
BNE 18
RTI
WRDCNT: O
CHRCNT: 0
SPACNT=CHRCNT+1
BINWRD: O
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DoDHE
DZDHEB. PFC
3158
3169
0 015510
71 015812
72 QI5E!Y
73 CI88]6
4 018520
75 018522
7b 015524
-7 015526
78 015530
"9 [0IE532
015534
01553¢
01554C
015542
015544
015846
015550

n
un
(V)
£

OOOO0O000000000000g000 0
HP‘HF‘HHHHF‘G’—‘HH.—'HHHHF—‘H
(T3]
~
a

000000

000080
000000
0003C0
000000
0000a0
000000
000300
000000
000000
000000
000000
000900
000000
000C0o0
000300
002000
000000
000000
200000
000002
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TKCSR:
TKDBR:
TPCSR:
TPDBR:
DHSCR:
DHNRC:
DCHLPR:
DHBA:

DHBC:

DHBRR:
DHBCR:
DHSSR:
DHSLR:

DHRVEC:
DHRLVL:
DHTVEC:
DHTLVL:

ERRFLG:
PASCNT:
ERRCNT:
RETURN:
ESCAPE:
FREEZ!:
ICOUNT:

LPCNT:
SAVRO:
SAVR]:
SAVRZ:
SAVR3:
SAVRY:
SAVRS:
SAVSP:
SAVPC:

iNIFLG:

STFLG:
LAST:
TOATA:

MOS

+ INDIRECT POINTERS

177560
177562
177564
177566

00000 0OoO000L

OO00000O0O00000000000OO0 - D00

: PRIGRAM VQRIQBLES

:ERROR FLRG

PQSS uOUNT

:ERROR C

SCOPE RETURN ADDRESS FOR TEST LOOPING
RDDRESS FOR ERROR ESCAPE

DQTQ LOOPING RETURN ADDRESS
ITERQTION COUNT FOR TEST IN PROGRESS
NUNBER OF ITERATIONS THIS TEST

RO SAVE AREA

Rl SAVE AREA

RE SAVE AREA

R3 SAVE ARE

RH CAVE AREA

RS SAVE AREAR

STRCK POINTER SAVE ARER

CRLLING ROUTINE SAVE AREA

:PROGRAM INITIALIZATION FLAG

PRO”RQM START FLAG

:LAST ERROR PC
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3209

3210

321l

3§1% 815&22
3cl2 0O1Sked
3214 (15626
3215 015630
3216 015632
32.7 01S63H
3218 J1563¢
3219 015642
3220 015846
3c21 01565+
3c22 015656
3c23

3224

3225

3226 015660
3227 ClsebY
3z29 015666
3229 (01567
3230 01587z
3231 015674
3232 UJl1S676
3c¢33 015700
3234 015706
3235 0IS7IM4
3236 015720
3237 015724
3238 015730
3239 015732
3c40 015734
3241 015736
3c42 015740
3243 015742
3244 015746
3245 (015752
2246 015756
3247 015760
3248 015764

MASY1l 27732

o~ anNLw
[ I ooN =9 o o
~Noo oo

o
~3

OONNOCCOOO OO0
~O-Jd

~N0D

~JO~

O0O0OUO0OOO0O0OO00
O+t pab— s bt ps pa b

000006
000207
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177722

015622
000340
C16620
000360
000354

177604
177644
177602

0C0002
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162158

PFAIL:

RESTAR:

PFTRB:

NOS

;ENTER HERE ON POWER FARILURE

MOV
MOV
MOV
MOV
MOV
MV
MOV
MOV
MOV
HALT
BR

SP’ SAVSP

$RESTART, 24

; SAYE RO-RS ON PROCESSOR STACK

;SAVE STAM ° POINTER
:SET UP F -, POWER UP TRAP
:HALT ON POWER COWN NORMAL

; PROCESSCR WILL TRAP HERE WHEN PCWER IS RESTORED

MOV
MoV
MOV
MOV
MOV
MOV
MOV

2
RETURN

SAVSP, SP
tSP)+ RS
(SP)+ RY
(SP)+, R3
(SP)+ Re
\SP)+ Rl
(SP)+.R0

WPFAIL, 24

#340, PS

#STALK, 5P

TEMP
TENP

JRETURN

;RESTORE STACK POINTER
:RESTORE RO-RS

;SET UP FOR POWER FRILURE




cee=E MRV TN

CoOMES.FFC
2243 C157Bs 2CSCIS
3550 CisTM 323?81
3254 218802 Cuis0l
3388 048010 (QwaSiM
3553 Di6216 QNON80
3854 Cisley IS.8C!
3585 Ji823e 252101
356 CiboH] Jsgled
3857 Slbdds So801S
3558 S16084 OSili)
3253 J1e062 S4aSee
S22 2i6270 2C8CiS
3281 Cledre 24rSaz
3262 CIBI0Y ONNSO7
3263 216112 SHON4Q
3254 Jie.2C 051823
zeS Slbl3- 020049
sest Si1b.3C CCSQLS
32T C1sidd 40
3223 316180 051108
3283 LlEli4e 282514
S2°C Jlelty 250120
320, C.5lbe 220115
327 21e.°C 281101
3273 2i8.T6 28z04C
327+ Zikgly ovtlll
3275 oibgle Celi07
3-8 215220 20SCIS
327 Ci8226 000108
378 Ci8s30 Q00S.
3279 Cis234 CLS2IS
2280 CDle+e

(1139
- n
O )
fucd
L
(9 1]

3z8:

3283

3263

3z64

326 216257 Q143+
3266 D1g€5 figtie
3gr [igade CiS3ak
3260 3igedp Ci5T4d
3ees CiZsic P18l
326c Ziczes JiSise
325 Ciggbe Dieral
323; Cicgep DIW7ED
3853 T.Es7t Ei4446
3204

33c

3% _

3297 C1e272 262000
388 216304
3299 C1eand  003CO0
3223 31¢316
2327 o1e3ie 205200
323 CIE33C
3303

3353

BO6
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Qu2Jie 230510 MTITLE: .WSTIZ «1S>12°¢12>/DM1l CHARACTER LENGTH AND BASIC DATA TEST //1S><12>
44183 85&105
g+2sa4 Q2012

2526 052103 MVECTO: .RSCIZ «15>«¢12>/VECTOR RCORESS-/

04503 252116 MREGAD: .ASCIZ <15)¢12>/CONTROL REGISTER ADDRESS--
020114 Q48532
052123 051105
D43104 042522
000085
020077 MoM:  .ASCIZ - %/
000 MCRLF: (ASCIE (15> 1@ ]
250040 053517 MPFAIL: .ASCIS ~ POMER FAILURE, PROGRAM RESTART AT TEST I8 PROSRESS/

Q42632 (020054
Qu35I7 (Q4GS22

(42832 053123

825ig4 052101

DE1505 030124

C50040 047832

CEI50S (00123 .

ES100 O44104 MEPASS: LASCIZ (15 <12).DICHE
D001 22 R:  LASCI2 <1512 R

f45634 282183 MTETPC: LASCIZ (15 (13> /TEST BC-
Ceggss ~ o0

LEVEN
; TABLE OF PCINTERS FOR TRRAP DEICCING
TRPYAB: SCOPER

TrPER
QCTRSN
INSTRG
INGTRE
. PRRAMS

SVvOSP
RSOS
SCOP!R
+BUFFERS FOR INPUT-QUTPUT

INBUF: O

.=2.4]

TEMP: O

.2.+10

MCHTR: O

.=.+10

: TRBLE OF PCINTERS 7O ERRCR MESSAGES mND DATA
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DITHEB. PFC CROSS REFERENCE TRBLE -- JSER SYMBOLS

SDRCNT= 015331 3083¢ 3118+ 31258

BESIN 001302 38 897 9538 2926

BINURD 015806 3k* 3137 3k _

BITX = 0££300 922w 983 384 1015 104ew 1077 1109 1339 11708 1251 1232 1263 12348
13257 1356 138 1418 1§ 1980 18]I  1S42s 1573 1604 1635 lSEE® 1897
1788 1789 I%90s @31  igs2 1883 i3l iMS 1376 2007 2038w 20E3  B1f0
2131  2lbas 2193 2234 2255  22%ks 2317 2248 2373 24i0w 2941  F472  £503
2534s 25eS  28S¢ 3537  2E53s  ZERS  2yaC 205l 2782w 2813 2844 3975 357k

BIT0J = DICOO! 554y

BITCI = 000022 £53y

1152 = JJ000Y S5z

51753 = 23001 551

8t734 = Dogd3 5508

81725 = 000040 5498

2I106 = D00I00 S4ds

22107 = 00OAB0 S47s

EI708 = 00040G S4pa

E3709 = 201000 Suty

81719 = DEEC00 Syas

BI*11 = 334000 S43s 932 9%3 93+ 1025 1066 08 i1l 1149 1180 1211 1242 1273
1304 1338 136 1397  I4e8  I¥83 1490  is3l 1S53 1583 1814 1645 I67E
I0r 1738 17¢9  1BOC 1831  18k2 1893 1324 1365 13k 2017 248 2o73
2110 2181 2172 2333 2334 265 22% 237 23/E 2383 g9g0 345y 4.3

] 2513 2844 2875 QEDE 263"  26eR 2639  gr3a  grel 2792 3823 2984 PeaE

BITi2 = 010000 H

BIT13 = 30000 Suly

BIT14 = 0ND000 Sy

BITIE = 120000 5398

CHRCNT Q15504 3139+ 3138 3I51% 31658 3166

C.ENGT= D001} 3228

$3DEX = Q20777 32y

CATABP 01462 2479+ 2977 2984 29878

CATAR = 107777 d2zs 9538 984s  ICISs 1Oves 1077®  1108s 11398 1170 IZCls 12328 :3538  12%4s
13258 135bs 1387s 1418 1443s 1480 IS[1s 1593w 1573 16048 1b35®  iGoew  1E9TS
17688 1759s 17908 1821s 18528 1983¢ 1314w 1345s 137Es  30C7e  E033s 3053s 310s
21318 2162 2:93s 2224w 2255w 2296w z3irs  2343s  23T3s 29108 344ls  Z-rZw 35138
25348 2565s  259bs  J5o7s  JESGs  26B9s  2-30s  2751s 3792s 23138 2944s  237Se

CEVACR 015326 3081+ 3115 3l23e

oty R S 12 93b+ dp7¢ 398+ 1029*  10eC#  10SI* 1322 1153+ 1194 121G+ 1Z46% 1277 13T3k
1339 1370» 1401 1932% 1963+ 1439+ 1G25e  15SE»  I587»  j61Se  [E43r 1630k  LFlis
1702« 1773s 1904+ 1835+ 195h* 1997+ 1328+ 1353+ 1390% 2Cls  2053% 3233 3114
2145 2176 2207+ 2238+ 2259+ 232C+ z3alr 2363%  2333r  2934r 3983k 2933k 35[T»
2548+ 3579¢  26I0% 2EHIs Obr2r or03*  Z7d4e 2755+ E.9b  2g57r  oghd% 2333 3loTe

CHBRR  0iS532 939« g-Q% [DQI* 1032+ 1063  I094*  [13G*  [1SEe 1187 [3[9%  ;Z43%  1290x 13114
1342s 137 1904s 43S  [4ebe 1497 1628+  (559»  {530%  B3l»  1353¥  iE83r  [Tidw
1748¢  |77e# 1907+ 1838+  1969¢  19C0* 1331 1362+ 1393r 2024 2055+ 3085 31irTw
2148+ 2179% 2210% g4l 22rex 2303+ 233 236Se 2390 J4aTx  J953% 3953k 350

_ 2551« 0582% bl 44 QE7S*  oTQb  o-3t#  S:6B% 2099 3930 29bl» 3933+ 31°3s
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REFERENCE TABLE -- USER SYMBOLS

1371*
S

SO0~ )
S0 L ~— LD
WK o i W oy

MUY« b b= FUFUTU MU +— s

oCwoN)L

ETE
2323

3.82s

e s b—= PNV TU L) 0 00— pe p—
0 4L O~ I WIIVODWUN L
~JON 0 D+ OO DCIDC)
VOoW—NOrUUOrY

WO W ok i g N

V) AV

N URIITVD £ — ) Lo
I o
L S

UMV TV OV s p—e pop—
WO LM - O IO

U

EOB

UMY = +— — MUV TV U — ——

e >

o

oO~IL£0- L8 00 Isﬂ#
e N

TUNOTUNUr— e popepn pop-s
=N L= OO N0 L LI
L L -tNMUWruuIun

~Jun
S Lond
L

I
~3

2854e

2964+

108k
1469*
1892+
2295»
2698»

e o
4.0
L
uum

> »

FUTUE—=» =TV IV MUV IV =+
(DWW OU— O Lo £
(DO LODNPDOo I JUEUNeE
NNWOWO WO W NI £~ Ir~- L
W o ok o M A W

fUs = r=TLHUVTUVINV NV +— +—+—
(MW I U g
furvMVW DA oooe

S L -0 E e L WOr—N

ol R MR o R e

NUT OO0 O DWW

nMoes - L O+ N U

L 35 B W W W N W Y

= LN MUTV NV~ >-p =

LU NI+ 0 3L
Q00 NI )= 0+- )
oworvnonunuw e

E 2 W A W N W WY
WIVNYr—r— P UVITVE—~ -
ol V4 lendnt [PCINENTT s [PV BN 1]
(N TR VI S V)
NONMMOGLIU

LR O WU W

SN
UNWICINLE

O

~NEMNUNIL—

U I HIW VOO LI -~ L LWDv—
b

e
JOUWNV O
L W
Va0 ~ UV D

>k

LIur—(CD
UHuumoUTn
NN -8 L0y—r— N
L 3 3 o

L

W
CII WD )

WOk ok kW
o Ak
L S -
» o
L
e DS PR G

oy
NI T O D~ JUTE L~ ()

UMW NIWC I~
Wi e-DL e (DD

b 2

WP L WO DM U T U )
o

(NWOuUMTuOUINU O
TUTUTUTOTUNU = = p—ap 24 1= b

e - L LD e—=r—(NVOOWD NN

™
MmO

+

progees
W =~ MU £ (MO O WU UL U~ O
»

('Il

TOTUIVIUTUIUIV <8 ~tetep—s o pa
(0O~ ) L WLITVOOD DU WU
AW O DD UV IW

(D)= 300 L

N 0O WO OWW IO L
UTWU Mo I e OO WO o

AR ARIAVIAT] gUY SN] £V Ry Sy S Sy e
(L= 34§ (IO LT

TOTVIV IV IVITU =+ e b pa p—
LOUT = QO = OUTICI ~ UL

(0 ~ 3N L (Dr— OO NI UMD
TONNUVIUNI TN pe b p o g ps

UMM TN FUNG = pe e ps p—s p—a p—s
UMD o Uy

(atututuuraun)
= JIPUNJIIL

R L ALV TRT 4 o

4 DD LIo

o

L I N
(06 2
=

futufUr«»—-
DU - N0
W= 0 )0)
OO

L BV ]

1Ls
uifu
» ¥

[ RN )




CouHE
DoDHEB.PFC
INBUF 01627
INIFLG O0l56l2
¥N§TER= 1344 Y
NSTR = 108803
INSTRE Q15138
INSTRG  D1504d
iNSTR1 015056
INSTR2 015194
LRST__ 0156ib
<ENGTC= (000011

LIGHTS= 17787
LIMITS £15356
CINEX = 902020
LOBITS 015330
LOGICA 0134332
LOLIN 015322
LPCNT  D1S57C
CRLF 016130
MDATA 016316
MEPASS 016220
MPFAIL 016133
MM D16124
MR 016230
MREGAD (G1£070
MSG_ 015060
MTITLE Q1S76E
MTSTPC 016234
MVECTO 016CHE

= 000001

OCTASN 0158332
FARAM = 108405
PARAMS 015146
| PARAM] 016176
FARERR 0152S2
PHECNT (015554
PC . =%003007
PFaIL  DlSkee
FFYAB D1S7Sh
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CROSS REFERENCE TRBLE -- USER SYMBOLS

grgs:
§§43*
31958
2088
863

364
354

1?§?*
e

3086
836

1798%
R

32978
898+

886

2986
888
3092
2918
3z2i2

1829%

S,

3205#
807

3239
3C9
3101#
3130%

3233

3107

FOBb

1891%
sEh

3109

192e%

s

U 6= b b= U ) 00— p=
= IO U ~JD O UT—
U e b= M) 0= 0= = )
O3 L£—000N LD
L E X 2 X & & B B X |

UMY r—r——
DO —
MNireper—-)
ON:HCD

3Ll

1953

SE%

1984»

5750

2046
S“H #
BE24

2077+

38

12638
16658
2069
c4res
28758
1263%
16564
20694
24724
28754%

1263
16568
2069
2472
2875

21C8#

sl




DEDHE  MACYLL 2T(73)
CROSS REFERENCE TRBLE -- USER SYMBOLS

DZOHEB. PFC

FOPRD = 012600
P3PiSP= Q0ST26
POP23P= 022626
8 = 1rrere

PUSHRO= 210046
PUSH1S= DOSTYE
PUSH2S= D2U4EHE
RDATA = 107¢7
RESREG DI461Y
RESTAR DIS660
RESTRT 014342
RESOS = 10udgr
RETURN 15860
RSOS 013760

RC =%009300
R1 =%00C00:
xe =*%00C002
]R3 =".JCC0a3
R+ =0000C4
RS =%000005
SAVPC
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J1-MAR-TH
8338 299
S31is
S35 .
" ®
1333* 18?0*
1642%  1673#
c04Sx 2076
2448  2479%
2851% 2882%
C3cs 2991
830
S34s
922
€985 29884
3220 3c2bs
2320 29261
833% 29588
9l6x 92!
303¢s 3292
Sl2s 299c%
513 B869*
3136 3213
Slys  870%
S15s 871%
3150  3155#
SlEs Q4%
1128% 1134
1320 13H§i
1531% 1537
1723 1748+
1934% 1940
2les 2l5l*
2337 2343
2529 2554
2740% 746
2969 297C+#
3087 30E3
3216 3c28+*
Si74 4SS+
1131 1134
1323 1348*
1S34% 1537
1723 1751 *
1937% 1940
cleb 2154%
2340x 2343
2529 2557#
2743% 2746
2957« 2968
2084 3085#
3217 3227#%
3002 3019%
3028# 3032
2027+ 3032
3026% 3034
3025+  303¢
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DICHE  MASYIL 27,732 -MRR-TS 16:08 PAGE 74

ooLHEB.PFO LRQSS RFF RENCE TRBLE -=- USER SYMBOLS

SAVRY 015502 3024% 3036 3e01s 3321

SAVRS Q15604 3023 3037 32028 3319

SRVSP 015606 32038 3219 3226

SAVOSP= 104406 9388 2965

SCIOPE = 104%C0 832% 952 S83 1014 1048 1076 1107 1138 1169 1200 1231
134 1355 1386 1417 1448 1479 1510 1541 1872 1eN03 1634
ire? 1758 1789 1820 1851 1882 1913 1944 1975 2006 2037
2130 216l 2192 2223 2254 2285 2316 2347 2378 2409 2440
2533 2564 2595 2eet 2657 2688 2719 2750 2781 c8le 2843

SCOPER J1434E 2931ls 3285

ScCFEl= 104410 840

SCCPIR Q14446 29528 3293

SP =%0000%% 518s g5S» 04% 2942 2944®  2954# aasi 2963 2966 2992 2998%
3010% 3011% 30lex 3013% 3014x  301S 3019 3042 3043*  30SM4 3065#
3131 3132 3elex 3213% 3214 3215¢  3216% 3217  32l8x 3219 3225+
3229 3220 3231 3232 3235%

SPRCNT= 015805 2135% 3153 3156% 3166#

STRCK = 016620 Y=Y | 855 04 3235

START 001000 824 854#

STFLG 0IS6l14 857% Q17 919  32706#

Sv0S 014726 3023

SVOSP 014720 30198 3291

SWR = 177570 £23% 867 sQ0sS 2331 2933 2335 2952 2959 989 2396

SWBQ = 09C00I SOb# 857

SOl = 002002 S0S# 905

SW02 = 3000004 SO4s

SW03 = C000I0 S03%

SWO4 = 000020 S0es

SWOS = 002040 S01#

SWo6 = 000100 S00s

8 = 000400 499%

SWO9 = 00:000 4988 2952

SW10 = 002000 4978 2931 2995

SWil = 004000 4968 2935

SWlz = 010000 495y

SWi3 = 020000 494s 2959

SWi4 = 040000 4938 2933

SW1S = 100000 4924

TDATA  015&20 933% 936 o4 * 967 995 939 1026 1029 1057# 1060 1088%
1iee 1160% 1163 1181% 1184 12l2® 1215 1243% 1246 1274% 1277
1330% 1339 1367 1370 1398 1401l 1429%  [432 1460% 1463 1491 #
1825 1553% 1556 1584# 1587 161C* 1618 1646%  1EMS 1677% 1580
1739+ 1742 1770% 1773 1801 * 1804 1832 1835 1863% 1866 1894%
1928 ]956* 1959 1987 1990 2018% 202! 2043% 2052 2080* 2083
cidgxr 2148 2173% 2176 2204* 2207 2c35x 2238 c2pb* 2259 2297
2331 2359% 2362 2330% 2392 24cle 2424 2452% 2455 2483% 2485
2545% 2548 2576% 2579 eb07¢ 2610 EBSQ* 264] 2663x  2B67Z 2700%
2734 2762* 2765 2793% 2796 £824> 2827 28552 2888 2886% 2883

TEMP 018304 3129 323E*  3237% 3299«

TKCSR 015510 2060 31708

TKCBR  0lES512 3062 3066 3171

TPCSF Q15814 3044 3067 31728

TPLBR (015516 3049* 30tk 3173w

TRPOK 014700 3011

TRPSRY (014666 g2l 3008%

TRPTAE 018250 3013 3285
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DIDHEB.PFC CRISS REFERENCE TABLE -- USER SYMBOLS
TYPDAT 014602 2978 29848
TYPE = 10440] 8338 862 920 2913 2982 3056 3071 3129 3153 324l
TYPER 015012 30428 3286
TYPHSS 014564 2376 2979
11 031274 91 923
T3 DO2444 11468

TIDD  OI4IW4 28828

Tl 00257 117708

T12  0gared 1208%

T13 003054 1239

Ti4 00320 1270

TIE D033 1301%

Tif 00395 13324

TI?  Q03BIY 13638

w2 001424 3608

120 00374 1394

120 00407 1425y

T2 OQue [4She

123 QOM3t. 1487%

T34 OOM450M 15188

125 00463 15498

136 OG47Eh 15808

17 00S1iM 16118

13 001554 93] s

T30 005294 16428

131 90837 16738

T3 QOS5 17048

133 GI5RSM 17358

134 QDBOGM 17668

135 00BI3M 17371

136  0062kM 18284

137 Q0B4IM 18598

T4 001704 1022w

T40  CCBSHY 18908

T4l 008674 1921»

42 007024 19524

T3  007ISH 19838

T48  00730M 20148

45 007434 20458

T46  0075EY 20768

47 0077IM 21078

15 002034 1053w

10 0100% 21388

151  DI017Y 21698

182 01032y 22608

183 DIO4SY 22318

15§ 010604 22bos

TSE 010734 22938

156 0110BM 23248

187 Dil2id 23558

16 002164 10344

160 D113 23868

el O1147Y 24179

T2 Olle2d 24488

163 011784 24798

B4 012104 25108




MRCY1L 2T 732)

CoUME
DoDHEB.PFC
165 012234
T66 012364
167 012514
Nt 002314
T 012844
T71 012774
17 013la4
172 013254
T - 013404
TS 013534
78 013664
177 01401%
ol 001060
VECZ 001070
HRDCNT 015502
= 000000
XBIT = 000000
XSODE = 000777
XLENGT= 000004
X.INE = 000020
XN = 00901901
Y = 0C0C!!
. = 0le422

31=-MAR-76

25414
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C20HE  MACYIL 27,732 31-MAR-TE 16:08 PRGE 78
DZDHEB.PFC CROSS REFERENCE TRBLE -- MACRO NAMES

CHARTL 3238 953 384 101 1346 1077 1108 1139 1170 1201 123§ 1263 1294 1325
1387 144 1449 148 1511 1542 1573 1604 1635 1666 169 1728 1759 1790
1852 1883 1914 1945 1976 2007 2J38 2083 2100 2131 elée 2133 22eY 2255
2317 2348 2379 2410 2441 g4’z 2503 2534 25€5 259 2ée7 cesSg 2683 2720

2782 2813 2844 2875

cQOEM1 84Ss 894

HLT S36# 350 981 1012 1043 1074 1105 1136 1167 1198 12e9 1260 1esl 1322
1384 1415 1446 1477 1508 1539 1570 1601 1632 1663 1694 1725 1756 1787
1849 1880 1911 1842 1973 2004 2035 2066 2097 2128 2159 2130 geal 2252
2314 2345 2376 2407 2438 2469 2500 2531 2562 2533 2bz4 2655 cbet 2717
2779 2810 2841 2872 2903

TRPOEF s 832 833 834 835 836 837 838 839 840

ik 329 360 991 1022 1053 1084 1115 1146 1177 1208 1239 1270 1301
1363 1334 1425 1456 1487 1518 1549 1580 1611 1642 1673 1704 1735 1756
1828 1859 1890 1921 1952 1983 ety 2045 90?& 2107 2138 2169 2200 2edl
2233 23c4 2355 2385 2417 2443 c47 2513 254! 2572 2603 2634 cbes 2636

2758 2789 2820 285! 2B8ez

BJFFE 1 3294
SATCH s 5ot
ENDCO 1% 3322
1 2306

ERROR s £95¢
ERRTA ¥ 3303
HEADE 18 470
INSTR 18 305]
MSG 1y 3243
0CTAS 1 3126
PARAM 18 3075
PFAIL 1 3209
POINT 1% 3168
RESRE 18 3030
SAVRE 1s 3016
SCOPE 18 2927
SCoP] 1 2949
STVE s 813
START 18 845
SYMBS s 4g3
TRFDE 18 827
TRPSR s 3003
TRPTA is 3282
TYPER s 3039




OZCHE

OZDHEB.PFC

RDD
RASL
RER
BES

INC

JSR
MOV

874

MACYLL 2T 732)

16:08 PAGE 80

CROSS REFERENCE TABLE -- PERMANENT SYMBCLS

87s
290
3145
906
1383
1848

31-MAR-76
2372 3013
3011 3097
3146
949 980
1414 1445
1879 1910
2344 2375
2809 2840
314
1000 1031
1465 1496
1930 1SEl
2395 2426
2860 2891
233! 2933
897 918
3162 3238
1002 1034
1468 1499
1833 1964
2398 2429
2863 2894
2948 3050
859 8&0
979 1010
1444 1475
13809 1840
2374 2405
2839 2870
3089 3091
3161
3156
562 SeH
S92 594
622 624
652 654
682 k84
712 714
742 744
772 774
802 804
2937 2995
2926 3015
8Bk Be9

1062
1827
1992
2457

2935

2332

1065
1530
1395
2460
2930
3073

86l

1041
1506
1971
2436
2901
3095

3055
3099

1042
1507
1972
2437
2902

2834

1096
1561
2026
2431
3045
3100

873

1C72
1537
2002
o467
2338

3117

1073
1538
2003
24e8
2920

11eM
1589
c0s4
2519

2958

LOB
3132

1104
1569
2034
2499
2947

WMNNYF=— W
—NOoOuUI— oM
oo W IV

S74

2933

903

2978

1220
1685
2150
ebls

2941

1198
1561
2125
2591

2964

1227
1692
2157
2622

916

lee8
1693
2.58
2623
2985

1279
1744
2209
2674

3070

1282
1747
22le
cb??

3085
1258
1723

2188
2553

929

1259
1724
c189
2654
2997

1310
1775
2e4d
2705

311!

1313
1778
2243
2708

3236
1289
1754

2219
cESy4

330

12390
1755
2220
2685
3065

1341
1806
2e7!l
273b

3119

1344
1809
ey
2739

3243

1320
1785
2250
2rls

S84
bl4
b44
674
704
?34
?94

3!

1372
1837
2302
2757

332
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5035 REBERENCE TRBLE. -= PERMANENT SYNBOLS

935 9% 937 939
9 973 976 93i
1822 1023 1024 1025
1056 1057 1058 1059
1090 1031 1032 1099
1125 1128 1131 114
1177 1178 1179 1180
1211 1212 1213 1214
1245 124 1247 1249
1280 1283 lese 1301
1332 1333 1334  133%
1366 1387  13v8 1383
1400  1%0! 1402 IHOY
1435 1438 1441 456
1487 1488 1483 1430
1521 1522 1523  152Y
1555 1556 1857  1B&9
1530 1833 8%  1Bli
b2 1643 1644 1845
1676 1677 1678  1&73
1710 1711 171 1719
1745 1748 1751 1766
1797 1798 1733 1800
1831 1832 1833 1839
1865 1866 1867 1869
1500 1903 190  192i
1952 1953 1954 1955
1986 1987 1988 1983
2020 2021 2022 2024
2055 2058 208l 2076
2107 2108 209 2110
2191 219 2143 214
2175 2176 2177 2irs
2210 2213 22le 223l
9oh2  2oh3  22B4  22kS
2296 2297 0298 2299
2330 2331 233 23N
2355 2388 2371 238k
2417 2418 2413 2420
2451 2452 2453 o4&
2485 2486 2487 2489
P20 2523 2526 2%Hi
2872 2873 2574 @875
2606 o607 2608 2603
2690 2641  2e42 264
2675 2678  Q6BI  26%
o727 2728 2729 2730
2761 2762 2763  orbM
2795  279% 2797 2799
830 2833 283  e85i
2882 2883 28B4 2885
2944 2954 2963  29b
024 3025 3026 3027
3078 3073 3080 308!
3212 313 38 RIS
3232 3233 3™ 323
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MRCYLL 27.732)

DZDMEB. PFC

MOVB
NOF
RESET
RETURN
RTI

SuB
TRRP
157
1578

.ASCIZ
.ENABL

.ENDC

LEQUIV
.EVEN
IF

T e—tr-ar~
—X—~n
uvromm

.MACRC
NLIST

.PAGE
. REM
LREPT

3049
2923
2921
9ig
2943
23%?
832
ge3
940
1405
1870

30562
2924

3248

3135

3048

838
2984
1126
1591
2056

31-MAR-TE 16:C8 PAGE 82
CROSS REFERENCE TRBLE -- PERMANENT SYMBOLS
3066 308e 3283 3134
2925
2955 2999 3023 3038
834 835 836 837
917 2346 2975 2977
1002 1033 1084 1095
1467 1498 1529 1560
1332 1363 1994 c02s
2397 2428 2453 2430
2862 2893 3044 3046
3260 3265 3266 3267
89¢ 893 913 91y
894 836 832 363
1335 1366 1397 1428
1800 1831 1862 1893
2265 2236 2327 2358
2730 276kl 2732 2823
894 932 363 994
136€ 1397 1428 1459
1831 1862 1833 1924
2236 23c7 2358 2389
2761 2732 2823 2854
489 833 834 835
994 1015 1025 1045
1232 le4e 1263 1273
1459 1480 1490 15t1
1697 1707 1728 1738
1924 1945 1355 1376
2162 el7e 2193 2203
2383 c410 2420 c441
2be? cb3?7 2658 cbe8
Eggg c875 2885 2906
489 833 834 835
994 1015 1025 1046
1232 1ey2 1263 1273
1459 1480 1490 1511
1697 1707 1728 1738
1324 1845 1955 1376
2l62 2172 2193 2203
2389 2410 2420 g44l
2be? 2637 2658 2668
2854 2875 2885 2306
813 £45 2906 2956
1046 1i7C 1294 1418

2472
26938

3039
1665

3155

1281
1746
2ell
2576

1149
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